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Three successive discounts 229%, 17% and 11%
are equivalent to a side discount of :

22%, 17% T 11% =t 91 HAFH B2 .......... & TEE
TEH T C |

(A) approximately 45% (B) approximately 50%
(C) approximately 42% (D) approximately 25%
If each side of a rectangle is decreased by 11%
then its area will decrease by :

afE TRt aTra i g = 9 119% =1 T 2, 1l sHF

SReT H g5 HHT 1 A |
(A) 24.31% (B) 25%
(C) 21.13% (D) 20.79%

The price of diesel increased by 16%. A person
wants to increase his expenditure on diesel by
10% only. By what percentage, correct to one
decimal place, should he reduce his consump-
tion ?

Troe i FIa W 16% F 9fs B § | T A ot
Bt & o H Fee 10% Tt afs FE e € |39 o7
T F T AT (SvHeE F TF TN 9% US) A
LA T 7

(A)6.5% (B) 5.2%

(C) 4.5% (D) 3.7%

If decreasing 110 by x% gives the same result
as increasing 50 by x%, then x% of 650 is what
percentage more than (x + 20)% of 180 ? (cor-
rect to nearest integer)

Tfg 110 1 x% 8 HT W/ T IR0M, 50 H x% TG
R 9 TiOm & FEE E, T 650w x% 180 % (x +

20)% ¥ TwaA wfaa et g 2
(TreFeam o= 7% %)

(A) 80% (B) 90%
(C) 136% (D) 154%

If A's salary is 60% more than B' s salary, then
by what percentage is B's salary less than that
of A?

Ife A %79, B % 3407 § 60% a1k €, T B #19ad A
F I T wiaem =0 E 2
(A) 47.7%

(C) 37.5%

(B) 33.3%
(D) 45%

6.

[fhouse tax is paid before te due date, onegets a
reduction of 12% on the amount of the hill. By
paying the tax before the due date, a person got
areduction of¥ 2,100. The amount (in J) of house
tax was :

=t Fauifia oo © Ted TSE T (T8 F2) T T w1
W, Tt T W 12% F e e € 1 Feife s 9 e
7 T A ke, TRt =l Rt 32,100 i w2 faet | Tea
o 1 i (T ) 70 -
(A) 25,000

(C) 21,000

(B) 17,500
(D) 18,000

Rice is now being sold at ¥ 29 per kg. During the
last month , its cost was I 25 per kg. By how
much percentage should a family reduce its con-
sumption, so as to keep the expenditure the
same as hefore?

{correct to nearest integer)

STHM | Tord =Me ki €29 Wid kg i o ¥ 9= S @ E,
e wgs =9 9o 225 wid kg | fwdt afiar =i st
=IEe ki THT 1 TRa HIa9d a5 ¥ 1 G, a1 o5
I & TOM T ? (Fream w9 w6

(A) 15% (B) 12%

(C) 13% (D) 14%

A single discount equivalent to three successive
discounts of 8%, 15% and 12% is:

8%, 15% 3 129% I dIF AT G2  FHged Thal ©2 919
-

(A) 68.816%
(C) 35%

(B)31.184%
(D) 17.5%

The monthly salary of a person was ¥50,000. He
used to spend on Family expenses (E), Taxes (T),
Charity(C), and the rest were his savings. E was
60% of the income, T was 20% of E, and C was
15% of T. When his salary got raised by 40%, he
maintained the percentage level of E, but T bhe-
comes 30% of E and C hecomes 20% of T. The
difference hetween the two savings (in I) is :

Terit =t = AT S 350,000 € | T8 9 wient @
(E), 0 (T), T (C) H 4 e § 3R 9 qfer a=mn & |
E 31 & 60%, T, E 1 20% 3R C, T 1 15% ¥ |99
A A H 40% i g5 g, 391 E =1 gfavm qeed
fem &t T, B #130% oW1 C, T 1 20% =2 faam ) 3

(A) 128 (B) 220
(C) 130 (D) 250
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10.

11.

12,

13.

14.

Ifthe area of a square is decreased by 19%, then
the diagonal of the square is decreased by :

=fe ol =01 6 &TFel | 19% i ¥ g5, a1 =7 = om0 o

TS RHT T B -

(A) 15% (B) 12%
C) 10% D 3%
() (D)

The monthly salary of a person was ¥ 75,000,
He used to spend on Family Expenses (E), Taxes
(T), Charity (C]) and rest were his savings. E
was 60% of the income, T was 20% of E, and C
was 15% of T. When his salary got raised by
40%, he maintained the percentage level of E,
but T become 30% of E and C became 20% of T.
The ratio of the savings of his earlier salary to
that of his present salary is ;

T =i =1 "Itk 9dd T 75,000 o1, f58 =7 wianfis
Tt (), % (T), T (C) R === fopan =ntar o iR s afy
ol «1 | E 3179 1 60% =1, T, E &1 209% =1 sk C, T
T 15% 1| 5= 6ok a1 d 40% 1 9f5 g5, A =51 E &
e Ta¥ o1 sF1g @, WA T, E w1 30% AR C, T
20% 31 T | SEek A H i == S SHE AGHH T ®l

S T SR AT |
(A) 655 : 644 (B) 325 : 337
(C) 644 : 655 (D) 337 : 325

A man spends 75% of his income. If his income
increases by 28% and his expenditure in-
creases by 20%, then what is the increase or
decrease percentage in his savings ?

Wk ST ST AT T 75% =5 ] € | 9ie S9eht o
28% i 3G a7 SR =T H 20% i g 3 = T,
R e T ot Be )

(A) 52% increase/ gf5  (B) 13% decrease/ 3fg
(C) 13% increase/ &8 (D) 52% decrease/ Al

A single discount equilvalent to three succes-
sive discounts of 6%, 13% and 14%is :

6%, 15% \_ﬂ\ﬂ 14% =l 919 AT @?%HH{LQ‘I Uehe] 254
M 7

(A) 68.714%
(C) 31.286%

(B) 34.357%

(D) 17.5%

A person's salary has increased from ¥ 7,000 to
T 12,000. What is the percentage increase in
his salary?

U AT 1 99 € 7,000 FagH T 12,000 & =136
S o e ) 9 7 7

3 1. 1 4
71=% 61=% 69 =% 6%
(A) 712%  (B)61-%  (C) 692% (D) 76

15.

16.

17.

18,

19.

A number is first increased by 40% and then
decreased by 25% again increased by 15% and
then decreased by 20%. What is the net in-
crease/ decrease percent in the number ?

et wEm § ee 40% % 915 5 o7 iR 25% =t T
, R E 15% Frafs Ham 20% F1 A g8 | Ten # g
TG Fhp/ A Tirea F1a L

(A) 7.2% decrease/ Tt FHt

(B) 6.4% increase/ # afs

(C) 3.4% increase/ F I15

(D) 3.4% decrease /¥ FHt

A class has five sections that have 25, 30, 40,
45 and 60 students, respectively. The pass per-
centage of these sections are 20%, 30%., 35%,
40% and 100% respectively. The pass percent-
age of the entire class is :

Tt TR H 5 1 (sections) &, ™79 &wn 25, 30, 40,
45 &R 60 B € | T o i I Wrereraan A 20%,
30%, 35%, 40% TR 100% ¥ | 70 T = Sem-wfersrean
Bkl

(A) 87% (B) 63%

(C) 53% (D) 79%

If the numberator of a fraction is increased by
60% and the denominator is increased by 40%,

1
then the resultant fraction is 63" The origi-
nal fraction is :
=1 Frelt 1 30 ot H 60% =it i o et 40% =iafs
o -~ ~__ 16 - .
Zret ¥, A ot fm &3 HE RSk R e kend

5 2 4

(A) ®)

O

A' s salary is 35% more than B's salary. How
much percent is B' salary less than that of A's?
(correct to the nearest integer)

A FIEE B % S H 35% 31fth ¥ | B & 30T A % 9
¥ fopern wfera = € 7

(A) 20% (B) 35%

(C) 26% (D) 17.5%

In an entrance examination at different cen-
tres, atotal 0of 25,30,40,45,60 and 100 students
appeared. The pass percentages of the differ-
ent centres are 20%, 30%, 35%, 40%, 50% and
75% respectively. The pass percentage of the
entrance examination is:(correct to the near-
est integer)
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STETT-TE FEl T WA T ¥ Fw 25,30,40,45,60 | 22.  If each side of a square is decreased by 17%,
ST 100 BT SM6erd T | SToRT- ST Fal = Sy then by what percentage does its area
T 20%, 30%, 35%, 40%, 50% 3R 75% & 1390 decrease ?
’f‘fﬁ”’ﬁfmm SHrer-wiaere (Frerees qois a9 W&t ) T ofe et =t T T o T 17% FH W o, at
m.{ | - - -
(A) 43% (B) 53% N i & .
(C) 50% (D) 59% (A) 30.79% (B)31.11%
0, 0,
20. Ramesh spends 40% of his monthly salary on (€) 25% (D) 44.31%
food 18% on house rent 12% on entertainment | 23. The price of diesel is increased by 26%. A per-
a_nd 5% on conveyance. But due to a family func- son wants to increase his expenditure by 15%
tion, he has to borrow ¥ 16000 from a money only. By what percentage, correct to one deci-
lender to meet the expenses of ¥ 20,000. His ;
) mal place, should he decrease his consump-
monthly salary is: .
- . tion ?
THY 39T AIfaeh =19 =61 40% =@ W, 18% HhM & o 1 e § 26% 7 75 T F -
TR W, 12% HARSH W 3R 5% oIe T & &l ¢ | AR ° H QEF o
Sifs o et wETdE 3 w0138 € 20,000 % w SISl < o2 H et 15% 1 i B el € |54 3wl
1 Y A o FAu R SR d T 16000 SR oA el o 1 T wicem (SwHe™ % Th T 9% g ) A
& | S 1T A 9 il €11 7
(A) T 18,000 (B) ¥ 16,500 (A) 7.2% (B) 6.5%
(C) T 16,000 (D) T 15,000 (C) 8.7% (D) 9.5%
21. Ifdecreasing 110 by x% gives the same result 4 . o .
as increasing 50 by x%, then x% of 650 is what 24. Qi <SRy 04 ntlore.than B's salary, then
percentage (correct to the nearest integer) by what percentage is B s salary less that of
more than (x - 10)% of 780 ? A?
AL 10 F x% FH F T A IR 50 F x% TFH Tfg A %1 909 B F 907 F 30% s1fum E, ST B # T A Y
W T €, 9 650 | x%, 780 F (x - 10)% T Farr e @ T 7 (SaTHe S T I T )
rchcl:l mﬁrﬂ*m‘) (ﬁwww%) (A] 17.5%, [B] 23.1%,
(A) 17% (B) 12% o o
(C) 18% (D) 14% (C) 25% (D) 19.7%
L
Solution
1. (€] 229, 17%, 11% 3. (B) Diesel price = 16% increase
eq dicount=a+b ab 100 — 116 6
j - 05 — — o,
100 \110% % = 175 X100 =5.45%
22x17
= - 100 - 100 +
22+ 17- 50 4. (© 110 100X=50 1ooX
=39-3.74 1100 - 11x = 500 + 5x
= 35.26 16x =600
. 35.26x11 _ 150 75
eq discount = 35.26 + 11 - BT X 4 = 2
=46.26 - 3.8786 37.5 57.5
= 42.38% X650 *180
2. (D) Eachrectangle side decreased by 11% o .
Area of rectangle = length » breadth - 241‘;’ 75 10;'5
% decrease in Area 140.25
11x11
= = = o 140.25
=11+11- 100 =22-121=20.79% 07, = 1035 x 100 = 135.50%,
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5. (C) 180

7. (D)

10.(C)

11. (A)

12. (A)

A B
100%0

60

60
Salary less% = 160 x 100 =37.5%

1226 = 2100
1(] —_— &
L B 12
2100
Amount = x100=%17,500

Cost price for last month = 25
Cost price for Now =29

4
= — x = )
55 100 =16%

Price —» 100 116

Reduce consumption =

129, 15% Successive

1515+ 12x15
B 100

25.2% , 8% BSuccessive discount
25.2x8

100

=-25.29%

=-25.2-8+

=-31.184%
I E T C S
50000 30000 6000 S00 13100
70000 42000 12600 2520 12880
Saving difference = 13100 - 12880

16
—x100=13.80°
116 13.80%

=220
a2
—a—-a-+ =19
4747 100
by optiona=10%
E T C Saving,
73000 | 45000 | 9000 | 1350 | 19630
1 +40%
105000 | 63000 | 18900 | 3780 | 19320
Ratio = 19650 : 19320
=655 ; 644
Let Income =100
Income  Exp. Saving
100 75 2
. . 13
L+28% L+20% 1 —=x100%
25
128 90 28
3825 0= 22 w100 =52% 1
= 4 = — % = T 1R 1
35 0c 35 00 =52% Increase

13. ©

14. (A)

15. O)

16. ©

17. (A)

6 50 47
15% 20 17
14% 50 43

30000 34357

= 50000 - 34357 = 15643
15643

Single Disc t% =——x100
ngle Discoun 30000
=31.28%
| o _ (12000—-7000) 00
_Te =X
Nncrease 2000
5000 300 3
- 200 5 2 712y
7000
el 2 w E W 3
"Lfo—g, 2{0—1, lSm—E,
> 7
4 3
20 23
) k|
500 483

e —

17

17
%= ——x100=34% decrease
*= 30 100 4% decreasc

[=25x 22 _5, -2 _g
2 00 Y T 00
M=d0x 2 14, 1v=d3x 0 _
- 00 TR 000 T
vesox 0 e
- 100

Total No. of student =200
Pass Student =106
_ 106

% — - X’ = ._%
‘ 200 x 100 = 53

160x% 16

140v% 63

X 16
e = T x
¥y 63

140 2

160 9

18
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18. (C) A B
135 100
35 100 700 25.9 26
= —— X _— = = 2,
135 = 27 922
19. (C] Present % Pass
25 20 5
30 30 9
40 35 14
45 40 18
60 30 30
100 75 75
Total 300 151
P 7 151 100 =50
0, o= 'Y -_ <], 4
5577 300

20. (C) Totalexp={40+ 18+ 12+ 5)=75%
25% = (20000 - 16000) = 4000
100% — 160000

21.(D) 110-110x% =50 + 50x%

(y—60 _E
=4 X(>—16O == X = 2
650 75 975
- 200 4

22.(B)

23.(C)

24.(B)

75 858
and7so(7;—10J=-———

1
x% increase = ——x 100

858
a= 17% decreased
a= 100 83
a*= 10000 6880
~
-3111
3111
= % decreased = 16000 x 100=31.11%
+26% 126
Let Price = 100 < ) 11
+15%, 115
». Decrease % = 126 x 100 = 8.73%
A B
1300 100
N
- 300

D
=2 o,
130 x 100 =23.1%

=
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11 the word FHUI'UURAFH 18 spelt with b 1n
place of 'PH', then what would be the percent-
age reduction in the number of letters?

7t PHOTOGRAPH vt # 'PH' % ¥ W 'F T =,
A e e | A wiem A et 2

(A) 25% (B) 10%

(C) 20% (D) 18%

The monthly salary of a person was I 50,000. He
used to spend on three heads-personal and fam-
ily expenses (E), taxes (T), philanthropy (P), and
rest were his savings. E was 50% of the income,
T was 20% of E and P was 15% of T. When his
salary got raised by 40%, he maintained the per-
centage level of E, but T bacame 30% of E and P
became 20% of T. By what percentage is the new
savings more or less than the earlier savings ?
{correct up to one decimal place)

ek AT o AITEh < T 50,000 1 | 98 390 919 94 |
= A U ST SR WEAEh =94 (E), 72 (T), R (P)
TR 319 9ok 9= 2l #1 | E S9e 3™ 9 50% 911 T, E=
20% MR P, T 15% NI TaSTFE T H 40% F A5
T, TS0 E Fataem i F5 afiowe el fe, e T, E =+
30% BT SR P, T 9 20% T TP | ST T8 A= Tt
== i ot A T wfawd 17 =91 e § 7 (S ewEeE
ok TIH O H&l 2T =fEw)

(A) 16.4% more (B) 8.2% more

(C) 16.4% less (D) 8.2% less

[fe0% of (x —y) = 45% (x +y) and y = k% of x,
then 21% ofk is equal to :
M (x—3) FE60% = 45% (x +y) T, oy =x T k%
%, k F 21% e grm ?
(A)7
(€) 3

(B) 6
(D)1

When the price of sugar increased by 28%, a family
reduced its consumption per month such that the
expenditure on sugar was only 12% more than
the earlier one. If the family consumed 18.4 kg
sugar per month earlier, then what is its new
consumption of sugar per month ?

T =i % o H 28% i 35 g8, a7 U 9Er A gEet
Hifes W W 50T RH e e R e =i T W B o
= R i g H wad 12% 314 o1 | =g 9fEr H v
<=t AT I 18,4 kg o, 1A R 7% Wi T
it g 2

(A) 16.6 kg
(C) 15.75 kg

(B) 16.1 kg
(D) 15.8kg

9.

It A's ncome 15 4U% ol B's mncome and B's 1n-
come is 24% more than C's income, then by
what percentage is C's income more than A's
income ? (Your answer should be correct to one
decimal place.)

afs At 319 B % 315 71 40% & 3iX B =i 311 C i 314
T 24%, s1fgen 2, 91 C &1 319 A &1 31 9 T g
ik & 7 ( 319Rl ST SIHEE % U M a9 98l 2l
ew)

(A)75.6 (B)101.6 (C) 104.2 (D) 50.4
Ais 40% less than B and C is 40% of the sum of
A and B. The difference hetween A and B is what
percentage of C?

A.BE40% FAT SR C, ASRBFAMH40% T 1A
& B % o= F1 oAy C = g wiaem s 2

(A) 60.5% (B) 64%

(C)62.5% (D) 60%

A man spends 2/3rd of his income. If his in-
come increases by 14% and the expenditure
increases by 20%, then the percentage in-
crease in his savings will be

T SAR ST T T 2/ 3 9P | W § | IS SEH
sAH 14% Tis 2ol & S TEH 20% I75 8 I E,

1 St i WA H e v gts g 2
(A) 1% (B) 2%
(C) 4% (D) 6%

In a school, 60% of the number of students are
hoys and the rest are girls. If 20% of the number
of boys failed and 63% of the number of girls
passed the examination, then the percentage of
the total number of students who passed is:

wrgfma € 1 9 wdien § 20% oigk il g1 € i
65% TTErFAT S g 9 5, T S B At et i

T TEAT T FIOIR TG o |
(A) 68 (B) 72
(C) 74 (D) 78

If Ais 48% more than B and C is 60% less than
the sum of A and B. then A is what percentage
more than C? (Correct to one decimal place.)
A A, BH48% 1m € ¢t C, A SR B F A ® 60%
FHE, dl A, C 9 fwad wiaem i & 7

(4) 50.8 (B) 49.2

(C) 50.2 (D) 49.8
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10.

11.

12,

13.

14.

In an office, 70% of the total number of employ-
ees are females. 80% of the total number of em-
ployees, including 85 males, got promotion. If
there are 105 female employees, then what per-
centage of female employees got promotion?
Tk B H, HHEEIE] & el G & 70% Algend § |
85 JEAT Afed wH=IE i e T H 80% kI UG
Tt | =ife A1t 105 wigen wd=r , 1t foeam wfaem wfgen
FHE0EAT = GG fret ?

1
(A)30% (B)335% (C)40% (D) 35%

2
If 66 3 % of 75% of one-eighth of a certain num-

ber is 179, then 33% % of three-fourth of that

number is :

- . S N 2
=t Pt i S & 1 /8 F75% F66 E% AR 179

¥, TS T et - —?rerré'mrssé%ﬁm?m

(A) 537 (B)716 (C)787.6 (D) 859.2
A is 40% more than B and B is 60% less than C.
If C is 60% more than D, then which of the fol-
lowing is true?

A, BHA0Y% sy sin B, CH60% #9314 C, DA
60% <o &, 1 P # § = e wE s 2

(A) Dis 10.4% more than A. /D, A¥10.4% &1fw T
(B) A is 54% less than C./ A, C | 54% #9 T

(C) B is 36% less than D./ B, D ¥ 36% %9 &

(D) C is 60% more than B./ C, B ¥ 60% Afa®: T
Equivalent discount of three successive dis-
counts of 10%, 16% and 25% will be:

10%, 16% T 25% = T AV To 799 TH T2 F
AT ?
(A) 46.5% (B) 42%

(C) 41% (D) 43.3%

In a class, there are 54 students. 33 l% ofthe

number of students are boys and rl&‘.s;c3 are girls.
The average score in mathematics of bovs is
50% more than that of the girls. If the average
score of all the students is 70, then what is the
average score of the hoys?

uw T E 54 Freneli | frenfoi 4 33%% Ak Ealk
¥ TTEREE E | TreE ¥ W A o W, et
ST T e 50%thm | at wedt Rt &
A Wi 70 2, A A5 H e Wi Ja e
(A)81 (B) 84

(C)87 (D) 90

15.

16.

17.

18.

The ratio of expenditure and savings of a per-
son is 5 : 3. If the income increases by 20%
and the expenditure increases by 10%, then
the person's savings increase by

Torett =afs & =2 ot o= = o/ qm 5 : 3 B\ 0 SR
AAH 20% Fi g5 AR T 10% Fgle Az,

AT =AfE F A=A o R g et ?
(A) 36% (B) 23%
(C) 13% (D) 30%

A is 75% less than B and C is 75% of the differ-
ence between A and B. C is what percentage
more than A?

A, BH75% FA21C, AT B F A= F S H 75%
C, A 4 T wfaw sifer &7

(A) 125
{B) 100
(C)75

(D90

The difference hetween the 38% of a number
and 22% of that number is 3200. What is the

1
15 E% of that number ?
W G % 38%, AN TH TGl % 22% h |= okl ]

) : 1, . .
3200 T | 39 9&A H ISE%WW?

(A) 3100 (B) 3200
(C) 3000 (D) 2800

The population of town B is 300% more than
that of town A. For the next two years, the popu-
lation of A increases by x% per year and that of
B decreases by the same percentage per vear.
After 2 vears, if the population of A and B be-
come equal, then the value of xis ........ .

TEL B A S weT A W SEe 9 300% At 7
STTET S 96T H, A SHEEA § viied x% W g e g
3R B =t Seie | afaad 3o € whaea = g St |
2 Tt % WG, A% A TR B Fi SHEEA a0 B W6 € q@
X A oo Zl

1

o)
(a) 305 (B) 33

(C) 40 (D) 25
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Solution
1. (C) PHOTOGRAPH S. (B) ATQ,
No. of letters = 10 A B C
FOTOGRAF 100
No. ofletters = 8 40 100 124 x100
= % reduction in no. of letters Simplifying the ratio
10—8 62 : 155:125
= X100 = 20% . 125-62
Required Percentage = ————x100
First Situation : -101 gg
Income = E + T + P + Savings (s) TR
Let total income = 100 O 40% = 40 2
E 50 (€ 40%= 750" 5
:>E=50,T=E=?=10 = A B
15 3 5
P=10x 7= =15 4 !
= 100=50+10+1.5+8 3x P
= Saving (s) = 100-61.5=38.5 B PR _ 2 16x
Second Situation c= 100 (3% + S5x).= 5 8x= 5
Income=E+T+P+35 Difference of Aand B = 5x - 3x = 2x
140 = Income
; ATQ Oy = e 162
po B0 _ - ’ 100 5
2 here o is the required percentage
_ 30 _ 2% 5x100
T=70 100 =21 oW = T=62.5(y0
21 40 (B) Let initial income = 300
3 300 (income)
=140=70+21+42+8 24 lrd
= 5=140-95.2=44.28 3 3
Saving
38.5544.8 200 100
Required Percentage (expenditure) (saving)
_ 14.8-38.5 <100 = 16.4% more 342 [14/‘6 increament)
38.5 209 Saving
60 45
1oo X =¥ =100 *+ Y 240 102
4x-4y=3x+3y x=Ty = Saving 100 —> 102
% % 2% increament
y=— Y= ——xT7y © B G
100 100 60 40
100 lzn% lss%
=k=— '
7 100 Flz 14
21% of k= EXT = Total fail% = 26%
ATO, Price Total pass% = 74%
. B A B C
100 2% ;128 12 148 100 99.2
\_____/
48.8
129% T ATQ, c - (148 +100j40 09.2
Comsuption 128 — 112 - 100 - -
1 - . - oF 1 L) = : = a
= New Comsuption 128 x112=16.1kg. Required %o 993~ 100=49.2%
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10.(B) As, 7% = 105 (Females)
105
= 3% = % 30 = 45 (males)
70
= 150
% P
& %
105 45

80% of total employees

80
= 150 x ——

= 120
100

120
“
&P s
< %%

85 35

35

105

1
= Required Percentage = *x 100=33 500

11.(B) Let, the number be = x

ATQ,

2x 3
x—x
4

3 179 =>x=179x 16

1
8
179 x 16

3
- — % —
3 4

179 x4 =716

12.(C) 40% = 0 _ 2 L gpope 20 23
(6 40% =150 T 5 PO9% = 100 T 5

| W
%
2| W

ATQ,
A : B B : C CcC : D
7 5 2 S 8 5
Merging all these ratio’s
A B C D
7 5 5 5
2 2 5 5
8 8 8 5
1127 80 200 125
B — 80 D— 125

* 100
b4 =
= 125

= B is 369 less than D.

25 4= s6%
5 =a 0

13.(D) 100—1% ;90 1% ,75¢  1o% 75,6x%
56.5
% Discount = 100-56 .5
= 43.3%
14. (D) Given that total student = 54
Boys = 18
Girls = 36

ATQ,
Total Avg, Total
54 — 18B — 3x — 54x

70— 36B — 2x —» 72x
126x

54 x 70 = 3780
3780

30

3x30=90

So total marks
126x

X

Avg. of boys

15.(A) E 50x19% 554
S 30x—>s4lx
1 80x-2978 96x

Saving increase =
= 36%
16. (A) ATQ,
A B C
25 100 56.25

31.25

2
= 128%
17. (A) Let the number is x
xx38 =xx22
100 100

C is more than A by = x 100

= 3200 =x=20000

31, 31
o4 = ——x100 =
Now, —-% 0f20,000 = oo 3100

18. (B) ATQ, A B
100 400
ATQ,
100 + 100 x (22 i] « X~ 400400 x
100’ 100
x* 1
(2x= 700! 100

bl

4 2
100 + 2x + —— =400 - 8x + ——
100 100

3% 10x+300=0
100

Now, by shribhar Acharya’s formula

« - 1000 £ JT000000 - 360000
6

 1000-800 200

x= 6 G

%

=33

L=

Study Center : Jaipur » Gopalpura » Lalkethi » Jhotwara » Ambabari » Udaipur « Alwar



SSC CPO - 2018

The price ot sugar has decreased by 15%. By
what percentage can a person increase the con-
sumption so that there is no change in the ex-
penditure?

S o e § 15% T | e it e H e
vt %t 375 T AHE =@ | g qiEdR T8 ?

300 300
(y (]0

W 23 B 77

(© 53—O<yo (D) ?%

If A's income is 40% more than the income of
B, then what percentage of B's income is less
than income of A?

wfe A i 319, B w1 39 9 40% A4 2 11 B =i 319, A
Tt o O frew wfom = &2

(A) 27;% (B) 28%% (C]27$% (D) 28;%

The successive discounts of 20%, 10% and 15%
is equivalent to a single discount of;

20%, 10% 1 15% hiHe® 93 & T Thet FSl
g ?

{A) 43.5% (B) 42.2%

(C) 38.8% (D) 44.5%

The radius of a cylinder is increased by 150%
and its height is decreased by 20%. What is
the percentage increase in its volume?

W S i B 150% 9%l 51 ST & 31 S9! S g
20% 1 & A T THF T H e wiawe 9tE
B ?

(A) 400% (B) 600%

(C) 500% (D) 80%

In an examination, 54% of the candidates
passed in science and 42 % failed in mathemat-
ics. If 32% failed in both subjects, what per-
centage passed in both subjects?

Tk T o 54%, farmedt fomm # Sl gu i 42 Y% fenedt
IS H ST gU 1 Ae 32% fomneff <97 e 7 et
Tu a1 forert wicrra foremeft <A1 oo # sl gu 2

(A) 56% (B) 48%

(C) 32% (D) 44%

6.

10.

The income of A is 24% more than the income
of B. By what percent is the income of B less
than the income of A?

afs AT 34 B | 24% 31t & 91 B %1 a1 A 9 e
i FHE ?

150 600

% %

A7 B) 357
500, 600

% %

© 3T TR

The radius of a cylinder is increased by 120%
and its height is decreased by 40%. What is
the percentage increase in its volume?

A T A F A 120% 98 St SR 59 40%
E2 R I et b R G e et e o

(A) 180.6% (B) 212.8%

(C) 190.4% (D) 175.4%

In an examination, 48% of candidates passed
in science and 56% failed in mathematics. If
32% failed in both subjects, then what percent
passed in both subjects?

TF TR H, T H 48% TH Y, 56% TR H W g |
afs g1 fom=i | 329% fommedi et g a1 51 fow=i | =<
Toreneft =it T 7 T 2
(A) 24%

(C) 28%

(B) 32%
(D) 22%

The successive discount of 25%, 20% and 10%
is equivelant to a single

25%, 20% &R 10% =i F7= 92, 9 % 22
T F—

(A) 46% (B) 48%

(C) 54% (D) 44%

The price of sugar is decreased by 10%. By what
percent can a person increase the consump-
tion so that there is no change in the expendi-
ture?

= F AT H 10% ®FE wIE W SEE T A R

100 109
9 (3] —t%]
100
(€ =5 % (D) 10%
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11.

12.

13.

14.

15.

16.

The price sugar has increased by 18%, By what
percentage can a person decrease the con-
sumption so that, there is no change in the
expenditure? (correct to one decimal place)

= F TR H 18% Fi gf5 g8 © | atan i o0 | H
TR e = A B @R = B A qREea T 'l
? (T TYMEE ¥ 19 )
(A) 15.9%
(C) 15.5%

(B) 15.7%
(D) 15.3%

The radius of a cylinder is increased by 150%
and its height is increased by 50%. What is the
percentage increase in its volume?

T ST it B 150% @@ < Wt © o St S
50% TET Tl W | SEEF oTAaE H TR v i et ?
(A) 375% (B) 625.5%
(C)775.75% (D) 837.5%

In an examination, 53% of the candidates failed
in science and 48% failed in mathematics. If
40% failed in both subjects, what percentage
passed in both subjects?

T T, 53%, faenedf fogm 9 =7k 489% nifvr | st
W 1A% 40%, it S oot # st gu t faeam afaem

Toremet <1 feroaii o =<ivf g ?
(A) 51% (B) 39%
(C) 49% (D) 43%

The successive discounts of 20%, 10% and 8%
is equivalent to a single discount of:

20%, 10% &R 8% F FHF A2 = FATEA T q¢1 &
(A) 66.24% (B) 32.84%

(C) 38% (D) 33.76%

In an examination, 47% passed in science and
51% failed in mathematics. If 42% failed in both
subjects, what percentage passed in both sub-
jects?

U e o 47% farensit o & =il gu 3w 519 foemedt
Tfora H St gu | At 429 fernefi < faemi H st gu
(A) 38% (B) 42%

(C) 40% (D) 36%

If the income of A is 24% less than income of
B. then what percentage is B's income is more
than that of A?

i A i 311, B 1 3@ 9 24% &9 2, a1 B o1 3119 A
=119 9 T wfae s g ?

600,, _ 60
%
3 °B)

600, 600
Yo 9
29 O &

0,
¥
0(C) 1o

(4) 17

17.

18,

19,

20.

21.

22.

The price of sugar has increased by 14%. By
what percentage can a person decrease the con-
sumption so that there is an increase in the
expenditure by 8% only? {correct to one decimal
place)

= & o H 14% i g5 g3 | g == wwm H
wierore = T = R o W 89 T I T 7 (T v
F 7% Tl

(A) 5.9% (B) 5.3%

(C) 5.7% (D) 5.5%

The radius of a cylinder is increased by 60%
and radius of base is decreased by 20%. What
is percentage increase in it's volume?

ok SE i T 60% a@1 &1 ST & 311 S8R o1 541 20%
A FL G S, A TEE STHAA H PR wieE 9fe gt 2
(A) 105.2% (B) 104.8%

(C) 105.8% (D) 105.6%

The successive discounts of 30%, 25% and 15%
is equivalent to a single discount of;

30%, 25% AT 15% THIHEF AL TAGEA TR 722l —
{A) 60.275% (B) 54.625%

(C) 55.375% (D) 60.725%

A number which when increased by 16% be-
comes 1914. The number is :

foreft ==y =1 16 Wi =mmEr < ¥, @t 97 e 1914
T M €, o TR E 2

(A) 2220 (B) 1650

(C) 2010 (D) 1780

The single discount equivalent to two succes-
sive discounts of 12% and 8% is: (rounded off)
12% 3R 8% 1 % T2 o T= Thel T2 -

(A) 17% (B) 18%

(C) 19% (D) 20%

From the monthly income, A spends 24% on
household expenses, 16% on entertainment,
129% on education and saves the rest. If sav-
ings are ¥ 3,288, the monthly income of A is:
A ST TR ST/ § TR T TR 24%, TS W 16%,
Farer v 129% =9 FRa1 & SR ARl A A € | =fE a=a T
3,288 &, 1l A %! Hifee 14 et BT 2

(A)T6,323 (B)¥6.480

(C) 36,850 D)T6,654
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23.

24.

25.

27.

Nidhi scores 62 marks in Mathematics, 70 in
English, 74 in Science. What should be her score
in Social Sciences so that she gets an overall
68%7

Aty v A 62, st # 70, SUStH 70, e A 74
ST T TR | ST (e W OSSR SR S S A
ik W HA 68% I BT 7

(A)67 (B) 66
(C) 65 (D) 68
8% of 5 litres is/ 5 WX #1 8% ¥
(A) 0.4 ml (B) 400 ml
(C) 40 ml (D) 4 ml

The price of petrol was raised by 15%. By how
much percentage should a motorist reduce the
consumption of petrol so that the expenditure
on it does not increase ?

YZIE i FEA H 15% T AN 5 | TF A T A T
=t W W TR W R Ay 9 S R e |
e 7

2 3

9= o 15~ %

W B) 25157
1 7

13 % 62 %
() 13559 (D) 6

A marketing agent earns a commission of 2%
on first ¥ 2,00,000, 1.5% on next I 2,000,000 and
1% on the remaining amunt of sales made in
a month. If the sales achieved by the agent for
the month of April 2018 are ¥ 5,68,000 the com-
mission earned is :

W HIh (7] USTe Uah A | &1 T8 fashl W sd ¥ 2,00,000
W 2% T FRAEE FAM E, S T 2,00,000 T 1.5% a0
I Fershit T2 196 1 ST H FHHIIE AW © | AR THS O o7

2018 = HEM % fod g &t 75 fashi ¥ 5,68,000 ¥

S7fera FHTE B
(A) T 8,680 (B)Z 7,730
(C) T 8,240 (D)% 7,105

What is 34% of 1.2 km?
1.2 fheiiiet 1 34% #E ?
(A) 40,800 T

(B) 4,08,000 T

(C) 4,080 T

(D) 408 .

28.

29.

30.

31.

32,

33.

34.

35.

Salary of A increased by 8% in the year 2015
as compared to 2014 and decreased by 6% in
the year 2016 as compared to 2015. If his sal-
ary was ¥ 234778 in 2016, his salary (round off
to nearest whole number) in 2014 was:
AF I H T8 2014 F gEee 7% 2015 F 8% = afs
T2 3R 2015 % HFEd a8 2016 F 6% 1 HH1 g8 1 915
T4 2016 H 3R AT 2,34,778 AT 2014 H 3FH|
Ao (T ev=ad Tl S H quitead) Feaa e ?
(A)¥2,31,263 (B) T 2,38,347

(C) % 2,34,987 (D)% 2,36,402

What percentage of T 124 is ¥ 49.607

T 124 =1 foFam wfiom T 49.60 T € 2

(A) 16 (B) 40
€y 123 (D) 250
64 .
o5 converted to percentage is:
. . 64

wfawa # wiiafdd 55 &

(A) 2.56 (B) 256
(C) D.256 (D)25.6

A saves 12% of her income. If she spends
3216128, her total income is:

A ST TR =T 12% Ui o= St § 1 g em $2,16,128
o FET R, W STE T o

(A)T2,43,560 (B) ¥2,42.,063
(C)¥2,45,600 (D) T 2,48,000
2.4 converted to percentage is :
2.4 g 4 gom ¢
(A) 0.24 (B) 24
(C) 240 (D) 2.4
What percent of 2.4 mis 3.2 cm?
2.4 HieX ol foa wfaed 3.2 AT F 2
(A) 75% (B) 7.5%
1 <], 1 <],
(8] 10005 o (D) 13 5

If 20% of a = b, then b% of 20 is equal to :

7% a 1 20% = b Fl, A 20 71 b% FFEF T e ?
(A) 4% ofa f a= 4%  (B) 16% ofa [/ a=h 16%
[C)8%ofa/a®8% (D)2%ofa /faT2%
A number is first decreased by 10% and then
increased by 10%. The number so obtained is

100 less than the original number. The origi-
nal number is :
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T | Wl g 10% FE T R 10% 91 T WS [ 37, A man could not decide between discount of
T, T T T 100 FH T, T W T 9 e 2 30% or two successive discounts of 25% and
(A) 100000 (B) 100 5%, bhoth given on a shopping of 3 2,000. What
(C) 1000 (D) 10000 is the difference both the discounts?
Fresh fruit contains 68% water and dry fruit A = < 2,000 I TEL T 30% A1 TFIAR 25% 9 5% o5 H
contains 20% water. How much dry fruit can ST T LW T I T A AT T Ao 2
he obtained from 100 kg of (A) T 20
TS N W 68% T T el 7 20% WAL E, W 100 FE. (B)T 15
o el 9 R el g8 el 9T TRl o weRd § 2 (C) No difference
(A) 80 (B) 60 (D)T 25
(C) 40 (D) 20
Solution
159, 6. (D) 100-124 - 100
(B) 100 —> 85— 100 4 ooz 590
= - 9%,

~ 124 31

15 300
= = x100= "% 120 2

35 17 7. Q) R—>100—>5T H- -1

(D) 100 > 140 > 100 = 5 11
0 4 5 11
5 3
= 28—(’0
= 140 190 7" 125 363
(©) 20% > = 10% > — 15% - ~— 238 100 = 19049
5 10 20 195 = A%
S 4 8. (A) Science Failed = 52%
10 9 Maths failed = 56%
20 17 Net failed = 52 + 56 — 32
250 153 = 108-32=76%
Passed = 100-76=24%
7 1 1 1
— X = o 3] _ ) - <, -
= 250 100=33.8% 9. (A) 25% — 420/o—>5 10/1;—>10
3
<) E . <) l 5 4
(A) 150% — 7 20% — o 9
v = ir‘h 50 27
3 §><100 = 46%
2 50 °
2 5 10. (C) 100—> 90——>100
5 4
1 3 10 1
— = 11-%
) = 90 x 100 9
Required Percentage = — x 100 = 400% 9
I 11. (D) 18% = —— = —
(D) Failed in science = 46% 100 50

o _ 50 59
Failed in maths = 42% .

o _ 200 = For no change of expenditure
Failed in Both = 32% Consumption should be reduced by
Total failed percentage = 46 + 42 - 32 = 88 - 5950 )
32 =56% = ——— x 100 = 15.3%
= Pass Percentage = 44% 59
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12. (D) R=

13.

14.

15.

16.

17.

18.

150
100
= V=

50
h=10=3 T

3
:”ET; 100

M b B
el (TR

G-

67
= ry x 100 =837.5%

(B) Failed in Science = 53%
Failed in Maths = 48%
Failed in Both = 40%

Failed % = 53 + 48 — 40
101-40
61%
100-61% =

Pass%c 399%

1 . 1 . 2
—>§ 10% — E 8/6—>%
5 4
10 9
25 23
625 414

D 20%

E 100 =33.76%
695 > (5]

(A] Failed in Science = 100 — 47 = 53%
Failed in maths = 51%
Failed in both = 42%
= Failed total in Maths and Science

= Discount® =

= 53+51-42
= 104-42=62%
Passin both = 100-62% = 38%
(D) 100 - 76 — 100
100-76 . _24 . _600
- 76 19
(B) 100114108
11481089 . o= % 100
114 114
L 100=22 _ 530
~ 19 19 U
3 1
(B) R—60% — ET h= ¢ 1
V = nr*h
= v ot r’h
= 5 8
5 8
5 4
125 256
= Percentage Increament

 256-125

= Q
195 x 100=104.8%

19. (C)

20. (B)

21. (C)

22, (C)

23. (B)
24. (B)

25. (C)

-"i 1 i)
0, - — (3] _
30% = 10 25/0:) 4 15% = 20
= 10 7
4 3
20 17
800 357
= Discount Percentage is
800 - 357 100
= —
800
443 100 =55.375%
= o =
800 | °
let the number is = x
¢ X E =1614
= X" 1oo
1914 x100
= x= ——— = 1650

116
As we know
Effective Rate formula
AB
1000
B =-8%

= A+B+

So here A = - 12%,

12x8
100
= - 12+ 0.96
= — 19 %
= Effecive discount is 19%

Total expenditure =24 + 16 + 12 = 52%

= -12- 8+

Total saving = 100 - 52% =48%
3288
Income of A = x 100
= 36850

8% of 5 1t.
= 8% of 5000 ml

= 5000 = 100 =400 ml
100 —2% 5115 — 100
M 100 = 15 == %100
15 115
L P
23 23
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26. (A} Total Sales = 5,68,000
Commission According to information
on first 2,00,000 = 2%
on next 2,000,000 = 1.5%
on next 1,68,000 = 1%

Total Commission = 2,00,000 x -
: 1,68,000 !
X —— + x ——
100 U 100
= 7000 + 1680 =7 8680
27. (A) As we known
1 Km = 100000 cm.
= 1.2 Km = 120000 an.
120000 = 40800 .
= " 100 o
28. (A) 2014 2015 201@4
100 108 108 = ———
100
= 2014 Salay = ﬂ » 100
(108 x o4
_ 100
234778 x 100 x 100 231263
B 108 x 94 |
29. (B) Let X%
124 x —— = 49.60
® — =
100 ’
= x = 40%

64
30. (B) 55 100% = 256%

31. (C) Savingof A= 12%
= Expenditune of A= 100- 12 =88%

216128
—_ X

= Income of A= 100
=3 245600 .

32.(C) = 2.4 x 100%

= 240
33, 24 — =2

7100 100

_32_8_ 4
=X %4 " %

2
0 + 2,00,000

34, (A)

35. O)

36. Q)

37. O)

According to question

20

“100°P

i

= |

a
[
=lfa=3b=1

x
K — = » — = —
=20 700 =20 100" 5

4 5x4 1
=4 9007 100 " 5

= b% of20=4% o[ A

Original
No.
100

First Second
\L]ncrem ent T]ncrem ent
5 90 : ‘ZT

100-99=1

- 100
Original No. is = e 100= 10000

Minerals will remain same in bolh cases

_ 100% 10_0—68):“ 100-20
100 100

pp oy SO 300
TOEEX 00 TXT Ty T
One discount is = 30%
Anotheris — 25% + 3%
—25+5- 222 L an_105=128.75%
= 5- o0 =30-125=28.73%

Difference between both discounts
=30-28.7>=1.2>%

1.25
= 2000 T00 - T25
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If 40% of a number is 290, then what is the
number which is 20% more than the initial
number?

Tfe W HEE R 40% 290 ¥, T o HeA FiA € S uRfaeR
T H 20% SR T ?

(A) 870 (B) 725

(C) 825 (D) 680

The price of table depreciates every vear by
20%. If the value of the table after 2 years will
be Rs 32000, then what is the present price (in
Rsj of the table?

T A9 % Hod § Ui oY 20% o1 31E a7 ¥ 14 2 od =g
T AT 32000 . T AT S = 50T oA (F.H ) T
%72

{A) 48000 (B) 44000

{C) 50000 (D) 51000

A is 16.669% less than B. If value of A is 500,
then what is the value of B?

A, BH 16.66% %9 ¥ | 9% A FI9H 500 €, 97 B AR F

77
(A) 583.33 (B) 566.66
(C) 600 (D) 620

If the side of a cube is increased by 20%, then
what will be the percentage increase in the
volume of cube?

TfE, T T R ol | 20% i Al G E, ¥ T & SAET

3 foperl whver =1 i G 7
(A) 60 (B) 66.6
(C) 72.8 (D) 68.5

P is 20% more than Q and 40% less than R. If
value of Q is Rs 150, then what is the value of R
(in Rs)?

P, Q ¥ 20% A & 991 R ¥ 40% ¥ ¥ 1 4% Q = | 150
% MRHMEA(F §) #g ?

{A) 300 (B)320

(C) 220 (D) 250

The price of motorcycle depreciates every year
by 8%. If the value of the motorcycle after 2
vears will be Rs 84640, then what is the present
value (in Rs) of the motorcycle?

T W1 AIgTeRet % Hod § Jeoieh A 8% 1 g1 211 € | 4fg
2 A 91 HIR AIEHet 7l Jo 84640 % BT, A1 Hi=t Tigiher
T A g (FH ) FE 7
(A) 90000

(C) 110000

(B) 102000
(D) 100000

7.

10.

11.

12,

X is 30% more than Y and 25% less than Z. If
value of Y is Rs 300, then what is the value {in
Rs)of 27

X, y T 30% STUF & A 2 ¥ 25% FA T | AR y FAE 300
F R Az AR (F.H) FEM?

(A) 390 (B) 400

(Cy470 (D) 520

The price of motor cycle depreciates every year
by 10%. If the value of the motor cycle after 3
yvears will be Rs 36450, then what is the present
value (in Rs) of the motor cycle?

T I TR 2 e H WErm T 0% e e | A
3 o1 918 Hi W5 1 9o 36450 %, BT 9 A2 9i5fha
1 FTHE o (F. H ) T ?

(A) 45000 (B) 50000

(C) 48000 (D) 51000

If the price of apple increases from Rs 80/kg to
Rs 100/kg, then by what percentage a person
should decrease the consumption of apple so
that his expenditure remains same?

Tfe Ta 1 o 80 F. Wfd 3. | 100 w. fa . g1 smn
ET, TF SH=H T=t T @ 2

(A) 25 (B) 22

(C) 20 (D) 18

If 25% of a numberis 6, then what is the num-
ber which is 50% more than the initial num-
ber?

AR T T 25%, 6 &, T € T 4 & W TR T

H 50% ATERT ?
(A) 36 (B) 24
(C) 30 (D) 18

If the length of a rectangle is decreased by 20%
and breadth is decreased by 40%, then what
will be the percentage decrease in the area of
the rectangle?

fE U T T TS H 20% 1 HAET I ST a9 HISe
T 40% =1 =HHT ki ST 8, a1 31194 20 Grel H Taha- g

Gl KTy
(A) 48 (B) 52
(C) 60 (D) 40

Ifthe radius of sphere is decreased by 10%, then
by what percent volume of sphere will de-
crease?

T T it e & 10% =i ) 9t 2, 9 et 3 LA

T TR e At A B 7
(A) 30 (B) 27.1
(C) 29.3 (D) 28.5
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13.

14.

15.

16.

17.

18.

If the radius of a circle is decreased by 10%,
then what will be the percentage decrease in
the area of circle?

afE ok 99 ki A § 10% I wH I ST E, 97 99k

R e N G Al T IR U
(A) 19 (B) 20
(C) 21 (D) 23

If A is 50% more than B. B is how much per-
cent less than A?

ofg A, B § 50% tfam g, a1 B,A A fora=n wioem =9 7
(A) 50 (B) 100

(C) 66.66 (D) 33.33

Iflength of arectangle is increased by 10% and
breadth is increased by 15%, then what will be
the percentage increase in the area of rect-
angle?

AT T ST 1 e H 10% il I3 a2 HIeR | 15% FI
g &1 A 7, 9 A9 % deRet J Fead wfawa + gis

BT ?
(A) 25.5 (B) 25
(C) 28.4 (D) 26.5

If the base of triangle is increased by 10% and
height is decreased by 20%, then what will he
the percentage change in the area of a triangle?
fE W et 3 SER H 10% =t Ji5 it Sl & a0 = 5
20% =t FHT F TG E, T HF T ama § e arae

1 Iiad= g 2
(A) 30 (B) 20
(C) 22 (D) 12

If the radius of a circle is increased by 50%,
then what will be the percentage increase in
the area of circle?

= Tk T i B ® 509 iy w W ®, @ gm
% geRer § free v =t gfe B ?

(A) 225 (B) 125

(C) 150 (D) 175

If the height of cylinder is increased by 35%
and radius is increased by10%, then what will
he the percentage increase in curved surface
area of cylinder?

7 Tk ST W e U 35 % i Ihg I WG § Tl
591 5 10% 1 gfig =i ST &, o 5o % o5k g8

drer 3 PR Wi = 5T B 7
(A) 46.5 (B) 45
(C) 48.5 (D) 49.7

19.

20.

21.

22,

23.

24,

If the price of milk increases from Rs 60/kg to
Rs 70/kg, then by what percentage a person
should decrease the consumption of milk so
that expenditure remains same?

AL 79 FHEH 60 F. A . T a5 70 F. Wi fEm
W E, 0 U A A g F W R wiv § A
e, e T TEE R 7

(A)16.66 (B)14.28

(C)12.33 (D)17.33

[flength of a rectangle is increased by 20% and
breadth is increased by 30%, then what will be
the percentage increase in the area of rect-
angle?

T T ST I TS H 205 F I Fr AN HER H 30%
T =i Wt ®, o TE % et § TRs wiaem = 9he
Bt ?

(A)50 (B)46

(C)56 (D62

Salary of A is 20% more than B and salary of B
is 18% more than C. The salary of C is (ap-
proximately) how much percent less than A?

A I 3T B ¥ 20% 51 E 00 B 1 319 C ¥ 18% w1 F |
C &1 3 (9} A § foha-t wfawa 9 € ?

(A) 29.3% (B) 32.5%

(C) 26.7% (D) 28.1%

Price of sugar increases by 30%. If expenditure
increases by only 10%, then by how much per-
cent consumption should decrease?
=1 3 e H 30% i gis Sl € | 9% =9 A 10% ¥ 9gd
2, dt @va | Fpadt wfaea =1 81 g 2

(A) 14.29 (B) 15.38

(C) 13.68 (D) 16.54

Population of a town increases by 12% every
year. If the population of town will be 188160
after 2 yvears, then what is its present popula-
tion?

T TE ) SEE Wia a9 12% W w5t £ 197 2 "9
W% WEL FH SHEEA 188160 B, A SUH FAHH

ST 7
(A) 150000 (B) 160000
(C) 155000 (D) 165000

A 120 litres mixture of milk and water contains
40% milk. How much milk {in litres) must be
added so that millt becomes 50%7?

TY T T R 120 TR Trgm o 40% 39 ¥ | R gy
(elex §) &l fgetmar s aife g9 50% € @ ?

(A) 28 (B) 30

(C) 24 (D) 32
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25. Amixture contains 18% copper by weight. How
much mixture (in kg) is required to obtain 81
kg of copper?
wh THg § R % STEN 18% dien ¥ | 81 feRuT. <isn W
= o Tora fanet Tagor (feman. &) =1 strererhar € ?

27. Ais 20% more than B and B is 30% less than
C.IfAis 210, then what is the value of C?

A BH20%aumEam B, CH30%FHE19E A, 210 %,
I CHHAAFE ?

(A) 350 (B) 300 (A) 242 (B) 250
(C) 450 (D) 250 (C) 220 (D) 235
26. APELSEE spenszO%‘ofhis iélg%n}e 011:1 food,20% | 28, If length and breadth of a rectangle are in-
on ¢ ren's education an Yo of remaining o o .
on house rent. What percent of income is left creased- by 15% and 20% r?SPECtNe_ly » then
with him? what will be the percentage increase in area?
T ST ST AT 1 30 VISR wTH W, 20 wiem St ek A o1 o1 q91 =15 w1 SEHE: 15% a1 20% 9
I TgTs R SR 99 gU H 60 Wfawd W R | @ AGEN T, AT el | o i =t gig gri 2
AT E | SHE A T Tk fae S5 I &= § ? (A) 37 (B) 40
(A) 20 (B) 30 (C) 35 (D) 38
{C) 35 (D) 25
Solution

1. (A) 40% ol a number is 290
) 290
100% of anumber = 20 X100 =725
20% more Lhan the initial number

725 =29 870
= /. o =
100

2.  (C) The price of lable depreciales every year =20%

80

50 ice of lable = X =3
Presenl price of Lable = x x 100 100 2000
x = 30000

3. (© A B

16.66% 5 6
_1 x100 x100

6

300 600

4. (O)Sideofcube=a
Volume of cube =a?
% increase inside of cube = 20%
20%, 20%, 20%
1% 20
100

44 %20
100

% Increase =20+ 20 + =44%

% Increase =44 + 20 +

=64+ 88=728%
5. (A) Value of Q=130

val fP= 150 x120="180
alue of P =700 =

100
Value of R =180 x

=3
s =300

6. (D) Present value of the motorcycle =x
Depreciales every year =8%
Time =2 year

22,92 = 84600
*~ 100 100
x = 100000
x_18.z_4
705 10 3
y X 7
10 13 13
3 3 E|
30 39 : 52
Y — 30 — 300
7 — 52 — 320
8. (B)P x 90 (90 99 = 36450
- (B) 100 100 100 °
P = T 50000
9. (C) Decre: 9‘—£x100—20
. {C) Decrease % = 100 =
100
10. (A) Inilial number = 6 x o5 =24
30% more then the initial number
=24 x 150 =3
B 100
11. (B) 20 + 40 - 12220 _ o,
-(B) 2 - 100
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12. (B -10-10 + 210 _ 14
- (B)-10- 100

19x10
13000

Volume decrease % = 27.1
13. (A) Arca of cirdle = mr?

-19-10+

% decrease in Area=10+10-

A B
150 100

14. (D) |
0

Bless Lhan A is =

30
150
10x15
100
Area of rectangle = 26.5

16. (D)10- 20— 19%20 _ 12
+ (D10 -20- =55~ =

15.(D) 10+ 15 +

AB
17. (B) Incrcasc Arca of circle=A+B + 100

so+s504 20x50 4
—ouT- 100

18.(C CRA =A+ +£
« (O Increase C.S.A. = B 100

S350+ 2220 s
= 00 o7

19. (B) The consumplion of milk decrease

10
= - x 100 =14.28

70
20.(Ca+b+ 22
.( )d 100
_o0+30+ 22030 _ o
N 100
21. (A)
A B
]4] 6 +20% 118 +18%
141.6-100
o, = —x100
% Less 1416
=2937%

22, (B) Let Price of Sugar= 100

10x10
100

{ 1
x100 = 33— w
3 3 "°

C
100

=1 9%

Let expenditure of Sugar = 100

130-110
v docrease= ———— <100
130
=1538%
23. (A p(&)
- (A) 100+ R
= 188160 [@]
112
= 188160 x @ X @
112 112
= 150000
24. (C) Total mixture =120 litre
Milk = 120 x 100 =48 lilre
25. (C) Lel mixlure required be = x
xx18 81
100
_ 81x100
*T s
x =450

26. (A) Lel income be =100
Spends income on [ood on children educalion =
30 +20 =30
Remaining income = 100 - 50 = 30
Spends on house renl = 60%

Saving Inc _ 50x40 209,
aving Income = — o = 0%
27. (B) C : B : A
120
Lel 100 70 70 x 100
84 unil = 210
84 unil = 210

210
Then 100 unit = 2 »x100 =250

15 x 20
=138

. UTCASC | =15+
28. (D) Increase in Area =15 + 20 x 100
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Raju spends 10 percent and 20 percent of his
income on transport and food respectively. He
spends 30 percent of the remaining income on
clothing. He saves rest of his income. If his
savings is ¥ 26460, then what will be total ex-
penditure on food and clothing together?

TS ATATEG T S T A ST ST 3 10 Threra qen
20 wfTed T H | A7 9 ST A 30 e mue W
TS I S| SO UV A AT a9 ol ¢ | At !
T T 26460 B, A O a9 wUS W AR FA w9
T &M 2
(A)T 22140
(C)T 23440

(B) T 26420
(D) T 24480

Salary of Mohit is 60% more than vijay. Salary
at vijay is how much percent less than mohit ?

wHifga =1 A forsra 3 301 ¥ 60 whrwm st 7 | e w1
A FET 2 S o R W w1 2

(A) 42.5 percent/ AT

(B) 47.5 percent/ Afaem

(C) 37.5 percent/ wfavm@

(D) 45 percent/ whem

Salaries of B, C, D and E are in the ratio of 2: 3
: 4 : S respectively. Their salaries are increased
by 20%, 30%, 40% and 50% respectively. If the
increased salary of D) is 560, then what is the
sum of the original salaries of B, C, D and E?
B.C,DeREFTAFM2:3:4: 5FeTma# &
T A0 H FEW: 20 WiawE, 30 wEeE, 40 wirem ofT 50
TR = Ifs T & 1 Afe D = ag gen Aae T560 7, @
B, C, D 3 E % 9ot o1 o1 907 foham & 2

(A)T 1820 (B)¥ 1560

(C) T 1260 (D) T 1400

Three years ago, Raman's salary was ¥45000.
His salary is inceased by 10%, A percent and
20% in first, second and third year respectively.
Raman's present salary is ¥83160. What is the
value of A?

T T TEE T A T45000 o | SHF T H 7o,
TR A AR = H A 10 WHE A WiavR a9 20 v
F e T T | T A TEAE A I83 160 T I AT AR

FNE?
(A) 40 (B) 30
(C) 50 (D) 54

(A)

=

il

U

Let the Income of Raju = 100
Travel = 10, Food = 20
Remaining = 70

Clothing =70 x 30% = 21
Saving=70-21=49

49 — 26460

1 — 540

Food + Cloting = (20 + 21) x 540
41 x 540=% 22140

Mohit Vijay
160 : 100
8§:5

3
% Less of Vijay = e 100 =37.5%

B C D E

2 : 3 4 : 5

After increasing
2x120:3%x130:4%x140:5 %150
24:39:56:75

56 —=560—-1—10

After increasing B = 240, C= 390, D = 560,

E=750

240
Before, B = x 5 =200

C= SQOX 10 =300
13

D=9 10-400

14
=2 10-=500

15
Sum = 200 + 300 + 400 + 500 =% 1400
ATQ,

110 (100+A) (120

45000 = 755 ™| T100 100
45 x 11 % (10D + A) x 12 = 831600
100 + A = 140
A=40%

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689 +91-7073909991 | www.motherseducationhub.org

J= 83160



Mother's Previous Year Questions Booklet = Percentage

SSC MAINS — 2020

When the price of an item was reduced by 20%,
its sale increased by x%. [f there is an increase
of 25% in receipt of the revenue, then the value
of x is:

9 TRt =g ok o § 20% 1 R TS, A S0 et |
x% 1 g g% | s Tore Wit § 25% &1 gfeg 2 &, 9 x
1 HIF F1q iy ?

(A) 55.35 (B) 57.75

(C) 54.35 (D) 56.25

If the sum of 40% of a number and 30% of the
same number is 70, then the number is:

it Fordt wem % 40% 2R 34T T ¥ 30% F AN 70 7, o
qE A HIA-H 7 7

(A) 200 (B)100

(C) 150 (D) 125

A saves 35% of his income. If his income in-
creases by 20.1% and his expenditure in-
creases by 20%, then by what percentage do
his savings increase or decrease? (correct to
one decimal place)

A AT HF H 35% K d=d KW F | ARG IEHT A H
20.1% i 95 2t & 3R 5w =a § 20% #i gfg Sl T, @
S9! F=a | ToRa- ufawa =t gl =+t grft 2( s3He™
Tk 01 T H21)

(A) 18.5% of decrease/ &f H!

(B) 21.9% of increase / i 3f§

(C) 20.3% of increase / & g

(D) 19.75% of decrease / i ®HI

The income of A is 80% of B's income and the
expenditure of A is 60% of B's expenditure. If
the income of A is equal to 90% of B's expendi-
ture, then by what percentage are the savings
of A more than B's savings?

A I 3774 B %1 319 %1 80% & AN A & =99 B % = H
60% ¥ 195 A &I 3114, B % =51 % 90% % sqe &, 11 A
&1 ==, B w1 g 4 o wfaem sl 2 2

(A) 125% (B) 140%

(C) 100% (D) 150%

2
The monthly expenses of a person are 66— %

]
more than her monthly savings. [f her monthly
income increases by 44% and her monthly ex-
penses increase by 60%, then there is an in-
crease of ¥ 1,040 in her monthly savings. What
is the initial expenditure (in I3)?

ek ST =1 |1 ek &= S8k A1l e ==r 4 66%% afferh
% | =l SEeh! W o1 & 44% &1 gig 2l & oI s9%
w1fems | F 0% i gl gl ¥, @1 Sahi AT 9=a | T
1,040 =i gt gt § 1 sTRfv o5 (T H) fF € 2

(A) 10,000 (B)12,000
(C) 13,000 (D) 9,000

1
A person saves 33 —-% of his income. If the

saving increases by 22% and the expenditure
increases by 10%, the the percentage increase
in his income is :

" 1 3 .
W i ST 1 w1 33 - Yo d=d Al g | Jfg 9= H

fu )

20% =t g B W0 AR T F 10% =i 9fE 2 =, a@
=91 3T H e dfae =i gie g5 7

(A) 18% (B) 14%
(C) 16% (D) 22%

In an examination, B obtained 20% more marks
than those obtained by A, and A obtained 10%
less marks than those obtained by C. D obtained
20% more marks than those obtained by C. By
what percentage are the marks obtained by D
more than those obtained by A?

TF e H, B YA T WA d 20% o7 ofF we i
A C % Hraiehl ¥ 10% 9 3k rd fRu D5 C
TRl § 20% AT 3% 9T TR D & 9T A
iR ¥ T wtawe stieR & 2

1 1 1 1
33 =% 13 =% 43 =% 23 =%
(A) 33 % (B) 13 2% (C) 43 % (D) 23

1 1 1
The value of 17 5 70 of 3 2 70 of 33 2% of 7200 is:
3

1
7200 = 33%%%&? 3%% = 175%1 =1 AW a1
)
zm?
() 7.65 (B) 11.68
(C) 13.65 (D) 9.65

If91% of Ais 39% of B, and B is x% of A, then
the value of x is:

I AR 1%, B 39% ¥ AN B, AH X% 2, 9l x 6
HH g ?

200 700 400 500
(B) (©)

3 3

(A)

3 3
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10. The monthly salary of a person was 31,60,000. T SH e 1 AT 9= € 1,60,000 98 T9 98] — =t
He used to spend on three heads — Personal iR it == (P), ¥ (1) & far = (B) ™ =
and family expenses (P), Taxes (T) and Educa- 5 =

; ; : : FIATE | U 67 SHF 990 & | P e A 50% A AaqE, P
tion loan (E). The rest were his savings. P was U .
50% of the income, E was 20% of P, and T was T 20% MART, B F 15% 911 & 5% 501§ 30%
15% of E. When his salary got raised by 30%, I 5 5% A S99 P W WRYE W Tee o gt T,
he maintained the percentage level of P, but E A E, P# 30% B TSR T, E 1 20% BT S
became 30% of P and T became 20% of E. The T F I (T H ) B E 2
sum of the two savings (in 3 is: (A) 2,11,680 (B) 1,28,160

(C) 1,18,620 (D) 1,62,810
Solution
—1—-20
1. O old New Initail expenditure — 500
Price 100 80 = 500 x 20
Sales 100  100+x = 10000
. 6. (B) Let Income = 300
revenue 10000 80(100 + x) Income = Expenditure + Savings
ATQ, 25% Increse in revenue. 300 = 200 + 100
(IOOOO)xg:80(100+x) v y
100 42 20 + 22
50000 = 32000 + 320x o h .
6 increment in income
18000 . 4
X= 330 CO6:25% = ~og < 100=14%
2. |[B) Letno.=x R - c D
L 40 xx30 . ®
100 100 90 108 100 120
70 v
XX ﬁ =70 30
x= 100
30 100 1
3. (C) LetIncome of A= 1000 % = —x100 = —=33_%
Income 1000 — 1201 20 3 3
Savings 350 — 1201 - 780 =421 am 1 1 1
Expenditure 650 — 780 8. (C) 72000f 33%0f 3 %0f 172 %
o i i 421-350 100 1.1 7
o Increase in savings = ———— 3
R 350 7200 x =X —— X —— = 13.65
71 3 400 40
= —x10 =20.28%
35 9. (B Al"gsl:Bfgg’g = 7A=3B
4. (B I E S
A 36 24 12 A_3 7 oo =790
B 7 3 3
B 45405 10. (B) Income = 160000 Rs.
12-5 7 P = 80000 Rs., E = 16000 Rs.,
5 - 100 = 3 x 100 =140% T = 2400 Rs.
Saving = 61600 Rs,
5.(A) I E ) New Income = 160000=1.3 = 208000 Rs.
New P = 104000 Rs.
800 500 300
New E=31200 Rs.
b +44% | +60% New T = 6240 Rs.

1152 800 - 352 New Saving = 66560 Rs.

352 — 300 = 52 — 1040 Sum =61600 + 66560 = 128160 Rs.
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1. A sum of T1,50,000 s distributed among three per-
sons— A, Band C-so lhal they receive 20%, 30% and
50% respeclively. A receives Lhe same amounl from
another sum of money which is distributed among
them so that they receive 50%, 30% and 20%, respec-
Lively. Find the Llolal amounl received [rom bolh sums
of money by B.

Z1,50,000 =i gufa=st A, B 31 C = 9% 59 4g fHursa
T T € o 3 R 20%, 30% SR 50% WA R
A I ZAA S W gE, fade 6 e siR weuth %
Fear H faclt 4t fors = i % = wm: 50%, 30% 3R
20% = Wher # faeter feen T o1 | 7w R B =

T B gear | e fora! eie U g5 |
{(A)YZ 35,000 (BT 60,000
(C)T 63,000 (D) T 58,000
L ©
A : B : C

20% 30% 0%

M — 30000 45000

Case-T1

A — 30000 =50%
100% = 60000

30
Share of B = 60000 x —— = 18000

100
Tolal Money o[ B
= 45000 + 18000 = T 63000

2, If A's income is 60% less than B's income, then B's
income is what percentage more than that of A's in-
come ?

AfE A Ft & B ® T W 60% FHE W B w1, A F

A 4 T wfawa stfeer g 7

(A)40% (B)80%
(O)120% (DY150%
2 Oy A B
40 100
_ 0 x 100 = 150%
- 40 - A
3. In an examinalion, 92% of the sludenls passed and

480 students failed. If so, how many sludenls ap-
peated in the examination ?
T T H 92% BT SHI0 5 31K 480 B S0 g 34

TRiEN § R T e g o 2
(A)5000 (B) 6200
(C) 6000 (D) 5800

100
3 © |
Pass Fail
Y2 el
480
Tolal sludenl = e x 100
= 60 x 100 = 6000
4, Whal is Lo be added Lo 15% ol 180 so Lthal the sum is
equal Lo 20% of 360°
1807 15% o Tonaer <irgr sy, 5 Fmhet 360 % 20%
R Gl i 1
(A)40 (B) 60
(C)50 (Dy45
L © 15 %180 . 360 %20
- O e T T
27+x=72
x=72-27
x =43
16-11-2020
5. Il A is 40% less than B and C is 40% of Lhe sum of A
and B, then by whal percenlage is B grealer Lhan C?
Ifg A, B® 40% &9 & 3R C, A 31K B % =R 1 40% %,
1 B, C ¥ fopa= wfawma sifores g ?
1
(A)60 (B) 40§
1
(© 56 (D)36
5. (C) LetB=100
A=60
40
= —x(160
¢ 100 (169)
C=64
64 — 100
EX 1002% - 56100
64 4 4
6.  The ralio of the monthly incomes of X and Yis 5 : 4

and thal of their monthly expendilure is 9: 7. If the
income of Y is equal to the expenditure of X, then

Study Center : Jaipur » Gopalpura » Lalkethi » Jhotwara » Ambabari » Udaipur « Alwar
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X ST Y I AITE® 379 * 390 5 ;4 T SR STk Aifa®
T SO 90 7 ¥ 1R Y W ST X R o e, 1
X SR Y I = 1 ST I e |

(A)6:7 (B)§:9

(Q)7:6 {(D)9:8§

(D) Income

Exp.
x 5
— |Income =—

[yj 4

[LJEX[).Z2
¥ 7

Y income = exp. of X
4a=9b

x:v=5:4
1y=9:7

=

T w
B0

x (50-9b) 45-36 9

Saving of =471 36-28 8

The monthly salaries of A and B are the same. A, B
and C donate 10%, 8% and 9% respectively of their
monthly salaries to a charitable trust. The difference
between the donations of A and B is T 400, The total
donalion by A and B is T 900 more Lhan Lhal of C.
Whal is the monthly salary of C?

A 31t B = Hf9 509 T € 1 A, B 3R C 3104 91
AT I 10%, 8% ST 9% Tt atel T A T oA
F1 A 3 B % T % o9 1 Sfax T 400 ¥ 1 A SR B3N
T /e 3 ' C %t gern o 3 900 o1ferw &1 C = i
ELEE IR S
(A)T 25,000
(C© T 30,000

(B) T 36,000
(D) T 27,000

(€) A B C
Donate 10% &% 9%

Diff. 2% =400

1% =200
(A + B) donation = 18% = 3600
C donation = 3600 - 900 = 2700

C xi:2700
100

C =30,000

8.

10.

(A)

Renu saves 20% of her income. I her expendilure in-
creases by 20% and income increases by 29%, then
her savings increase by

T, ST ST =1 20% TR § | 9 5 = H 20%
JrE e ¢ ST ST H 29% 5 Tt T, W TR = o

e 71 *ifST |
(A)60% (B)65%
(C)55% (D)54%

{B] Income = 100

Income Expenditure Saving

100 80 20
3 +29%, 3 +20% 1
129 o6 33

_ 13
Savings Increase = 7o X 100 = 65%

15-11-2020
If (x + 20)%6 of 250 is 25% more than x% of 220,
then 10% of (x + 50) is what percent less than
15% ofx ?
A 250 F (X + 20)%, 220 F X% ¥ 25% 14w &,
(x + 50) =1 10%, x F 15% ¥ fHaq vfrom =0 grm ?

2 1
(4) 163 (B) 33

1

(€) 13 (D) 8~

3
125
100

xt20  550=-% v 200x
100 100

x =200
ATQ,

10
——x250=25
100

200 5 2
1522 230 = —— x100= 16 =%
100 30 3"

If the radius of the base of a right circular cyl-
inder is increased by 20% and the height is
decreased by 30%, then what is the percent-
age increase/decrease in the volume?

afe fordt da o= 90 & STUR &1 e H 20% i gis
BiAT % i IS § 30% i = gl 2 a1 e | ge
TrawTa gis /A [ Ao |

(A) Increase 2%/ 2% If5

(B) Decrease 2% / 2% ®H!

(C) Increase 0.8%/ 0.8% i

(D) Decrease 0.8%/ 0.8% =t
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1 ]
= % - i =30% T
10, @ r=20%T 5, Height=30 A 0
T, >:6
h 07
r’h r’h
v 230 252
7. VIR = £ W
Value increase 550 x 100 =0.8%

11.  Rishusaves x% ol her income. If her income increases
by 26% and the expenditure increases by 20%, then
her savings increase by 30%. What is the value of x ?
gy, 31O 31 1 x % ==t § | =fE SHET E F 26% i
JiE AT & SR =AH 20% H I(G e 8, T SHH q=a o
50% i Jhg Tt T | x 1 HA AT IS
(A)30 {B)20
(10 (D)25

11. (B) Income Expenditure Savings

100 80 20
. . 10 )
326% $20% - % x100= 50%
126 o6 30
Value of x=20
4 w
12. A is 80% more than B and C is 487;0 less than the
sum of A and B, By what percent is C less than A ?
= = - -, -.I'_ .
A, B¥80% AR T 3IRC, A 3IRB FATRA Y 48;%-‘%{
T1C, A H forae i 9 8 2
{A)20 (B)25
()30 (D) 15
180 9 A O
=p-Zgp-2_Z2
2. A 100 & B 5
26 1
=(A+B)—=—
¢ ( ) 34 35
C=(9x+5 18
=(9%+5x) 35
=Tdx x 18
T
.36
=g X
A B C
9 5 36
- - —X
Ox X 5
45x 25x 36x

9
% 0l Cless Llhan A = 5 x 100 =20%

2
13. Anuja owns 665% ola properly. 1L 30% of the properly

thal she owns is worlh T 1,235,000, then 45% of
the value (in ) of the property is :

o L Y 2 ;o ~ -
317" % I fret T = 665%@?11’33?%5%141\—:];

Hufg & 30% =i %4 T 1,25,000 8, o |uf9 & 45% i
Fma (T H) F1a Ao |
(A) 2,70,000 (B) 2,62,500
(C)2,81,250 (D) 2,25,000
13. (O Total owns will be x
2x

2
Owns—xx663— 3

ln]

30% of = 22 x 22
e O = 3 100
x = 62500

= 125000

45 N
45% of = 62500 X 400 281250

14. A cerlain number of studenls from school X appeared
inan examinalion and 30% students failed 150% more
studenls than those from school X, appeared in the
samoe examinalion from school Y. I[80% of Lthe Lolal
number of studenls who appeared [rom X and Y
passed, Lhen whal is Lhe percenlage of sludenls who
[ailed [rom Y?

foret wdten o Foramera X o @ o wied gu iR 30% =9
ST g0 I ST Wien J fernera X = v i g 3 150%
itk w1, fomme Y § i gu A X o Y ® it
TUSTA T el T 5 §0% SO gu ¥, 91 Y ¥ erqeii g
ST 1 Aawd F1q i |

(A)18 (B)20

Q16 (D24

14. (C) Schoolx

P F T
70 30 100

210 40 250

T.P.=250x

89 =280
100

100 =16
x 100 = 16%
250 1

Fail % =
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If Ais 28% motre than B and Cis 25% less than the
sum of A and B, then by whal percenl will C be more
than A {correct to one decimal place) ?

A A, B 28% S £ a9 C, A sIRBFAME 25%
TWMC, A% T wftom orfirs & 2 (T Tewer T O
=)
(A)32.2% (B)28%

(Q43%  (D)33.6%

If the radios of a right circular cylinder is decreased
by 20% while ils heighlis increased by 40%, then Lhe
percentage change inits volume will be :

Tfe Tt Aaredia sor i = =t 20% =+ T =1 7,
TATE TR TS 40% T AL AL, T THH T
witrera wftad= fapamn g ?

(A) 1.04% increase/ I7&

(B)10.4% decrease/ fim=

(C) No increase or decrease /3 (5, 751 finme

(D) 10.4% increase/ Ifs

Raghav spends 80% of his income. If his income in-
creases by 12% and the savings decrease by 10% then
whal will be Lhe percenlage increase in his expendi-
ture?

T ST ST 80% T FIE | A% T A H 12%
=t Ifg Tt o = 10% F0 Bt €, 1 59 o |

foper wferere g 2T 2
(A)205 ®)16  (Q17.5 (D)2

A numberis [irsl increased by 16% and then increased
by 14%. The number, so obtained, is now decreased
by 30%. What is the net increase or decrease percent
in Lthe original number (nearesl Lo an inleger) ?

sl e =l 9ol 16% AR R 9 14% sga a2 159
TR W HEAT B 30% S 9 E | S T H g ans
=1 T =1 7] wfoem == § 7 (T goisk % fohaam)
(A) 6% increase/6% =t Ia

(B) 7% docrease /7% =t e

(C) No increase or decrease/ 7 %l5 gfs, 7 e fiee
(D) 9% decrease/9% = e

In a constiteuency, 53% ofthe total number of voters
arce males and the resl are females. I040% of Uwe males
areilliterate and 40% of the females are literate, then
by what percent is the number of literate males more
Lhan Lhal of illilerale females ?

frsdt frar=m & &, Fa Faemisi = 9& & 55% 7o
T 9 wigen € | At 40% o A7 ot 40% Afyend
fafera &, ot aifinfira wigensii =1 gorm o fofia goui =i
e T wftrem e ® 2

2 2 2

58 . o _
M2 BY ©R; D)8

If60% of a number is 120 more Lhan 20% of the nuum-

1
bet, then 28% of the number is less than 33 E% of the
number by : ‘
e foret < =01 60%, foret S 20% 9 120 sifaw
.. . .- 1.
T HEA =01 28 % SH S+ 33;% H fohar =1 g ?
(A)14 ®12
(16 (DY15
Ais 25% more Lthan B and Bis 40% less than C.If Cis
30% more Lhan D, Lhen by whal percent is A less than
D?
A, B#25% atfersr & i B, CH 40% %9 2 1913 C, D =
30% < g, @t A, D | FFa afom A R 2
(A)1.3 (B)2.5
Q)4 (D)5
Ifthe diameter of the base of aright circular cylinder
1
is reduced by 33; % and ils heighl is doubled, then
the volume of the cylinder will ;
= - 1
A% TF |H =R 9T F SR 3 S5 = 330 =
T ST BT
) i VR
(A)increase by 16% / 16% g S|
(B) remain unchangoed /%% I5em@ F81 571

1. 1.
(C) increase by 1'16%/ '11§%a—sgx—wrrqm

1, 1o = N
(D) decrease by '116% / '116% EARUNECAIRS il

1
Ina class, 83 3 7% of the number of students are girls

and Lhe resl are bovs. If 60% of the number of boys
and 80% ofthe mumber of girls are present, then what
percentage of the total number of students in the class
is absent ?

T el H, Het et = e | | astaEl % e

1 - =~ £ -
83 % & it 3 e ¥ R T A 60% e o

Si%mmﬁ,?ﬁ?ﬁﬁaﬁrmﬁ” o H O fEes

')62 222 2’%1 ']')1
(A) 267 By 227 (255 (D) 123
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10.

11.

12,

13.

Asgpends 63% ol his income. His income is increased
by 20.1% and his expendilure is increased by 25%.
His savings :

A STTT 3119 1 63% 9 1S | 39T ST H 20.1% Fi
G G2 & TOTE SHE AW 25% H Il5 g © | SE g
(A)Increase by 11% / 11% #rafs

(B) Increase by 5% /5% ®I9fg

(C)Decrease by 5% /5% =t 1

(D) Decrease by 11% /11 % i s

If the price of petrol increases by 19% and Sunitha
inlends Lo spend only an addilional 12% on pelrol,
by whal percenl should she reduce the guanlily of
pelrol purchased (nearesl Lo an inleger) ?

Iqfe Yrel &t HET 19% w5 ST S G gl 7
sTffiae = & Hae 12% T B wedt € 9 98 T 9
A UZrA I A A TR wfawd e e 7 (e

TeFeas o )
(A)7 (B)6
Q5 (D)8

The radius of the base of a right circular cylinder is
increased by 20% . By whal per cenl should ils heighl
be reduced so thal ils volume remains Lhe same as
belore?

Tk ole I Se % STER = ear 20% =gl < >l € |

A 9o o g7 5 @ 7
(A)25 (B) 30% © 302 (D)28

Momnika spends 72% of her income. If her income in-
crease by 20% and savings increase by 15%, then her
expendilure increase by (Correcllo 1 decimal place)
HifTer STaT 317 21 72% & L a1 7 | Afs 9] ST H
20% = 5 Tt € o s = H 15% = 9t € et
%, 01 59 @= § T wiawa &1 gis gft 7 (uek soeem
T T T

(A)20.8%

(BY20.2%

(O 21.9%

(D)19.8%

14.

15.

16.

17.

18.

The price of pilis increased by 20%. Howevert, its con-
1

sumplion decreased by 8 E% . Whal is the percenlage

increase or decrease in the expenditure on it ?

- . 5 - m J. :

A & qod 20% T I35 1 & Tohg T @I 8;%?@

9 B o &1 39 W = H e whm afy s w

757

(A) increase by 10% / 7% 35

(B) Increase by 5%/ T gfg

(C) Decrease by 10% / @ T

(D) Decrease by 5% / % sH1

Basir's working hours per day were increased by 15%
and his wages per hour were increased by 20% . By
how much per cenl did his daily carnings increase ?
T T FEH - qACH 15% qF T SR ST g6
oid =& 20% T 9% T | SHRI & -Tek 31 ke wiae @k
g T 7

(A)40 (B)38

Q33 (D)36

A, Band Cspend 80%, 85% and 75% of Lheir incomes,
respectively. If their savings are in the ratio 8:9: 20
and the difference between the incomes and A and C
is T 18,000 then the income of B1is ;

A, B 3R C 3791 a1 w1 9 80%, 83% 31X 75% &9
T ¥ | A SR o e E §: 9 20 1 A A 3w C
=l &A™ 1 T 18,000 1 AqL 2, 1 B I S 41 g0 2
(A) T 24000 (B) ¥ 27000

(C) T 30000 (D) T 36000

If25% of half of x is equal to 2.5 times the value of 30%
of one-fourth of y, then x is what per cent more or less
thany ?

afe v % TE-HAE % 30% 2.5 0 AW, x F o R
25% % e, @ x, y © e wfoem &0 svomn sifemn €2

1 .
(A) 33 E% more/ STHE
(B)50% more/ &7

1
(Y33 E% less /=H

(D) 50% less/ |
Inan examinalion, A oblained 10% more marks Lhan
B, B oblained 20% more marks Lhan C and C oblained
32% less marks than D. I[ A oblained 272 more marks
than C, then the marks obtained by Bis :

W e |, AF B ¥ 10% fumw, B3 C 9 20% sifew
o W fFn fRg C A D 32% =0 o e fFm At A
= C ¥ 272 31 s1fess it g9, 91 B &1 3d B ofF
YT g ?
(A) 850
(C)1020

(B) 816
(D) 952
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Solution
. (D) A B c 7. B) A:B=4:5B:C=3:5C:D=13:10
128 100 (100+ 128)x%: 117 merging all these ratios
%Required = 171-128 100 = 5 100 ? ]i ;-: I4)
ehequired= o8 T 128
=33.6% 3 3 5 5
13 13 13 10
. (B Initial Final 195 156 260 200
(Radius)® (57" (4)
Height 5 7 Req. Perc. = 500 > 100 =2.5%
Volume 125 112 1 5
8. (C) 835%= 6
3 W
% decrease = 1= *x 100 = 10.4% decrease = Total students =6
o 6 (Total)
. (C) Income Expenditure Savings Wirls
Initial 100 80 20 1 S
Final 112 Q4 18 Absent lAbsent
14 2 1
% Increase in expenditure = a0 > 100 S
= 0, 2 7
17.5% Total ahsent = 1+ - = —
2 oo
4
. (B) %lncrease = 16+ 14 + oo - 32.24% 9% of absent= Z % 100 = 23%%
S%hchange = 32.24 — 30 — S0 o224 9. (A) Let income of A = 100
100 after 20.1% increament, income of A= 120.1
;72'(;/24—9.67 =-7.43 Q/M& ,.1&120.1
(0] \ . @‘{‘- Sav. < Sav.
So, Total change = 7% decrease 55 35 . (1 38 85
(C) Let total population = 100 4
=81.25
) _ 55 60 _
literate males = 100 x 100 ® 100 - 33 saving initially = 35
saving increament = 3.85
illiterate femal 100 x 15 X 60 27 3.85
= — — = 3.
erate females 100 ~ 100 =~ x100=11%
) 6 2
%Required= - x 100=22—-% 10.(D) v = nr*h
27 9 1
r— = h—2
¢ S xx=120+ 2 3 7 3
(€ 5 xx=120+ 3 3 2
2 4
2x
5 =120 = x =300 9 8
'*\-.._,_‘____,_._.--"‘":?
300 300x28 1 1
— = _ = — X ]_OO = 11_(}/(.'!
3 100 100 -84 =16 9 9
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11.(B) 100 > 119 >112
\._,_____,_..-f':’

= = 3}
119 x 100 = 5.88%

= 6H%
12. () v=mr’h
100 2" 120 _ws” 144 100

144 — 100 (vol. Lo remain conslanl)

- B 00 = 30°%%
144 9

20 %T

13, (@ (Income) 100 ———>120
72 28 878 322
158 15%1
DB 100 =21.9%
2
1 1, 1
% = —% = —
U (W) 0% Ly 1

Using mulliplying concepl of percenlage

5 6
12 11
10 11

So, inilial expendilure is 10
[inal expendilure is 11
50 percenlage increament is

1
— X’ = %
'IOX 100 =10¢

100 155 T 115 205 T 138
384T

16. (B) Given, Expendilure of A =80%

Saving ol A=20%

= Income of A=100%

= Saving of A =8 (by ratio)

15. (B)

8
= lnocme of A = 20 x 100

Similatly

17. (B)

18. ©

9
Inc v of B= — > 100
ncome o 15 0c

el 20
wome ol C = 55 % 100

Income Ralio
8.9 20
20715725
=2.:3%:4

18000
B:

x 3 = 27000

1 ,
Required Percentage = 2 100 =30%

A B C
100

1 —x 100

110 100 120 X

330 300 250

33 30 25

272
= ?XSO =1020
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0.02% of 150% of 600 is :

600 F 150% F1 0.02% % :

(A)0.18 (B) 1.8

(C) 18 (D)0.018

When a number is increased by 40, it becomes
125% of itself. What is the number ?

=g 1S Al 404 =g € Wil € b1 o9 WE & 125% &
ST & | o W N E 7

(A) 200 (B) 60

(C) 160 (D) 100

In an exam of 300 makes a student gets 75
marks. If she had scored 6 more makes she
would have attained passing percentage. What
is the passing percentage ?

300 311 I Uh TE § Uk O I 75 31k el 1 3R
T 6 AN 37 WU g1 T e S T4 9 Wierd W
| BT B A v e e 2

(A) 25 (B) 30

{C) 35 (D) 27

A man's annual income has increased by ¥ 2
lakhs but the tax on income that he has to pay
has reduced from 20% to 16%. He now pays the
same amount of tax as before. Whatis the in-
creased income (in ¥ lakhs)?

T i = o o1 T 2 O Vgt 8, o 59 8T W
o, Toramhl S8 T &= € 9% 20% 9 16% 7% %H B
T F | 9% AT TG TG BT L A Y FAF | SHH
gl g2 14 (X oig H) F= F ?

(A) 8 (B) 10

({C) 12 (D)6

40% are the passing marks. A student gets 250

marks vet fails by 38 marks. What is the maxi-
mum marks?

ST EH B STk 3Tk 40% 2 | foedt 313 =1 250 sik
Tt € aeeg fir ofi o2 38 37ohi & i €1 T 2 | Afashan
SFEFNE?

{A) 720 (B) 750

(C) 800 (D) 840

Raviis 12 years younger than Surya. Ravi's age
is 40% of the sum of his and Surya's age. What
will be Surva's age 9 years hence?

A, = F 12 e e | g TEe $R g w8
R A 40% € | 9T T 9 T oG A F 6T FE 2
(A) 36 (B) 24

{C) 33 (D) 45

7.

10.

11.

12.

5% of a = b, then b% of 20 is the same as

a® 5% = b a1 20 ® b% F TEL BT |

a

a
o —
(A) 20% of 20

5 (B) 50% of

a a
(C) 0% of (D) 20% of -~

A man's annual income has increased by Rs 5
lakhs but the tax on income that he has to pay
has reduced from 12% to 10%. He now pays Rs
10,000 more income tax. What is his increased
income (in Rs lakhs)?

ok AR i AR 3T 5 O | 9g Sl € W 39 o
T SARTHL 12% ¥ 10% B 9161 7 | 31| 35 10,000 %
At SATEw S TSl 8 | SHE! 9E1 53 S (T 5. H)
ET Rk

(A) 20 (B) 25

()15 (D) 10

0.09% of 25% of 1200 is equal Lo .
1200 = 25% =1 (.09% % FE BT 2
(A)0.27 (B)27

(O27 (D) 270

When a number is increased by 20, il becomes 116%
ofitself. What is the number?

et Topelt T & 20 <iret ST & a1 =% W w1 116% 1 <
BT et ?

(A)100 (B) 230

(O)125 (D) 400

Two numbers arc 50% and 75% lesser than a Lhird
number. By how much percent is the second number
Lo be enhanced Lo make il equal Lo the [irsl number?
< e P et e ® 50% i 75% % € 1 ged
A i foe=T wieera = S 56 o weell Sl & s

%l Wy ?
(A)50 (B)25
()75 (D) 100

Price of pelrol increased from Rs 60/liler Lo Rs 75/
liter. How much should the consumption of petrol be
reduced (in %) s0 as Lo increase expendilure by only
10%?

F2rer = wme 60 ./ T § oIFH 75 T/ A g I e
Y2 i T4 H a1 4 (% H) A ST AIfh 9§ g3n
T e 10% © ?
(A)12

()15

(B) 20
(D)18
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13.

14.

15.

16.

17.

18.

If 35% are the passing marks. A student gets
200 marks vet fails by 24 marks. What is the
maximum marks?

fs 917 € % F7T 35% 3T Y SR g 81
Tomneft =1 200 &7 e W= 3% 24 TRl W HET B A
SATerae ek 8 ?

(A) 820 (B) 550

(C)e40 (D)680

A student gets 22 marks more in French than
what she got in German. Her German marks
are 28% of the sum of her French and German
marks. What are her French marks?

Toret feram=iT =1 e # ST | 22 31k 31fe fael | 399k sa
Hfeer ata T ST S | T sial B AR 28% B 139

= H TR o e ?

(A) 14 (B) 36

(C) 18 (D) 42

2% of a = b, then h%% of 10 is the same as:
A= 2%="b, 1@ 10 b% .......... % e T

(A) 200% of a/a =1 200%

a9
— 20%

a
o -
(B) 20% of 00

100

a a
[C) 20% of B /E H 20%

a a

(D) 200% of 10 BEH 200%

A man's annual income has increased by Rs
1.2 lakhs but the tax on income that he has to
pay has reduced from 12% to 10%. He now pays
the same amount of tax as before. What is his
increased income (in Rs lakhs)?

ek =TT ki @it S H 1.2 T %, i giG Tl & W
ST TR T S AR 125 § 10% BT 91 € | o7+dt oft =% S
B = S § T Uee! SO o | SUE 9g1 g% o7 (T %

H) forai & 7
(A) 8.4 (B) 7.2
(C)9.6 (D)6

0.06% of 250% of 1600 is .

1600 % 250% 1 0.06% ...... T AT T |

(A) 24 (B) 0.24

(C) 0.024 (D)2.4

Two numbers are 90% and 75% lesser than a
third number. By what % should the first num-
her he increased so that it becomes equal to
the second number?

19.

20.

21.

22,

23.

24,

T T T A W 9 90% R 75% FH § | et
e H R % ¥ gl F A ATe T TR A gER HeE

R Gl i 1
(A) 250 (B) 200
(C) 150 (D) 100

When anumber is increased by 216, it becomes
140% of itself. What is the number?

v Tt TEm A 216 | aEeE W €, @ 9% T A
140% B9 € | o T E ?

{A) 5340 (B) 756

(C) 450 (D) 675

A man donates 30% of his wealth to charity.
30% and 25% of the remaining wealth to his
wife and son respectively. The rest he divides
equally between his three daughters. One of
his daughter gets Rs 42 lakh as her share. What
was the man's wealth (in Rs lakhs)?

Woh =Tk 29T F9T =Rl 309% 91T Tsh YHER HE01 =Rl &
AT E | 99 TR A 30% 7K 25% R ST 9ot
ST A TR | AR A T ST A At A A
TAM T T q9Te X § | SEE 9 § 9w w42
w4 UG fAerd € | 29 SIeH! i ol "uld (e %, 9 )
o ?

(A) 280 (By400 (C) 500 (D) 350
0.08% of 120% of 50,000 isequal to
50,000 =1 120% =1 0.08% ....ccevn..es A E |
(A) 480 (B)48 (C) 4800 (D)4.8

When a number is increased by 24, it becomes
115% of itself. What is the number?

T TEFE T R 24 T AT @1 E T 98 98 H 115% B
ST R |9 W Ay 2

{A) 160 (By250 (C) 100 (D) 200

Two numbers are 40% and 80% lesser than a
third number. By how much percent is the sec-
ond number to be enhanced to make it equal
to the first number?

T we R e S 40% SR 80% FA E | TR T
1 ToF Wierem o ST = R 5w geet T ¥ aet B
=g ?

{A) 100 (B)33.3 (C)66.6 (D)200

Price of diesel increased from T 45/litre to ¥
50/litre. How much should the consumption
of diesel be reduced (in %) so as to increase
expenditure by only 5%?

EIoTe i MG 45 T WA SR T gL 50 T G T
TSI € | Sietet o1 @dd 1 e (% o) o o o
(A) 5.5 (B)5

(C) 4 (D) 4.5
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Solution
150 0.02 25  0.09 27
. —X—— =0, X 1200 x X = =0.27
1. (4 600x 100 100 0.18 S W 100 100 100
5 10. (C) Lellhe numberis=x
2. (C) 125%-= 2 (as given) 16% = 20
20
40 sol%=—
Number = 1 4 =160 16
3. (D) Total pass marks=75+6 =81 100% = @ x 100 = 125
) 16
81
i . = ——x 100 = 279
Passing percentage 300 27% 11. © I 1I I
4. (B) Before After A B C
Income xlakh x +2 lakh 25 50 100
20 S
Tax xx 150 =X+ 2% 150 X=8 - 75%
Increased income = 8§ + 2 = 10 lakh 1;_ SE
3
5. (A) 40% =250+ 38 We have to increased 25 units on 25
100%, =7 25
= —x100 =100% 1
088 . o5 100% (Increased)
= 0 X 100=720 12. (A) Rateofpetrol =60 = Now I 75/ liter
6. (D) Ravi Surya Expendilure will increases = })0 a
x-12 X Expendilure become 60 % 100 ~ Tob
x-12 2 Now, expendilure reduce
2x-12 5 =75-66=9
5x-60=4x-24 . 9 e
<= 36 %l = 2x100 =129
Surya age after 9 years = 36 + 9 = 45 13. (C) Passing marks = 35%
7. (D) S%ofa=b Student gets 200 marks and failed by 24
axs L ?(;2;12 required to pass the exam = 200 + 24
100~ 7 20 T s
20xb_ b Total k 224 x 100 = 640
X otal marks = - =
14. (B) Marks in French =F
a 20 Marks in German = G
= — X — — =
20 %To0 - (2) = F-G=22 (1)
Equation (1) = (2) - o
a = G=(FFG 155
So b% of 20 = 20% Of% — 100G =28F + 28
12| 1500000 % 2 e e
8 ® |00 |” 100 _ F_18
G 7
= 12X 1000 =19% , 50000 F=18x G=rx
100 100 Putin eq. (1)
0% 18x-7x=22
= == - x=2
100 50000

x = 2500000 = 25 lakh

So marks in french = 18x =18 x 2 = 36
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15. (B)

16. (B)

19. (A)

20. (B)

ax2%="h
2% Too
S b% % 10 = a X ——X——x 10
¢ &% 100 " 100
—X—
& 700 *100 < 1P
a 20
= —x——
100 100
-2 x20%
100
b% of 10 = 20% of ——
100
¥ — =
GIx 100 = Te%
10
+ =
(GI+1.2) x 7o = Tax,
Tax, = Tax,
GI 12 Gl+1.2 10
b = b
T ATy
NI=6
Income after increment =6+ 1.2 =7.2
1600% 250 o 0.06
100 100
0.06
=16x250x— =24
100
Third No. = 100
.. First No. = 10
Second No. =25
25-10 1>
% Increment =[ 10 JlS:EXIOO =150

140 140(Final Value)
100 100(Final Value)

140 —216

140% = +

100
— 216 x— =
100 10 540

Let total income = X

['XX7_O]XE 1
**700 )" 100 |73 = 42lakh

x = 400 lakh

21. (B)

22. (A)

23. (D)

24, (A)

50.000 x 120 y 0.08
’ 100 100

=48

115
100

X+24=xx

x=160

1 11 I1I

60% 20% 100% (Let)
Let x% of second No. so first will equal

X%

100
x=300%
S0 increase 200
Rs/Lt45 — 50 Rs/Lt

45ﬂ
l

20 x =60%

47.25
50 J

50 -47.25
— X

Exp. = 100

o x100
0

5.5%
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SSC CHSL - 2021

If the numerator of a fraction be increased by
50% and its denominator be diminished by 28%,

25
the value of the fraction is 36 Find the origi-

nal fraction.
s Tt 1 % 7@ H 50% =t 9ig Fit o ofRsmer ge o

nor 25 - )
28% =t T = 9, T T4 AW 36 O MR
W2

fir g w4
1 2
(A) 5 (B) 3
2 1
© 3 (D) 3

70% of students in a class are girls and 70% of
the girls have chosen soccer as their favourite
sport. [f 98 girls have chosen soccer as their
favourite sport, what is the total number of stu-
dents in the class?

U FTH 70% Tamne! wsfea § 3R 70% wsfwal 3
AT 71 ST THeIe G 91 § | 9f 98 wisfwal 3 |
T ST TG S T 8, 1 e | fernfeiE it et T

FNE?
(A) 180 (B) 225
(C) 175 (D) 200

In a test, the average score of 50 students is
66. Out of the total students, 40% are girls and
the rest are boys. The average score of the boys
is 20% less than that of the girls. What is the
average score of the girls?

TH R, 50 TaEnfear =i siied wrais 66 F | 9ot el
H T 40% orefhl & 3 9 T5% & | TTehl o e Wik
aAgfwar =1 gaT A 20% HH & | orefwel s fied umiw

FNE?
(A) 70 (B) 80
(C) 75 (D) 65

In an election, the winning candidate received
15744 votes, which are 48% of the electorate.
The only other candidate received 22% of the
electorate. What is the number of members who
did NOT vote?

W FE H, Tt SHIEAR W1 15744 79 UM Y, S HA
Tl % 48% T | UHHA 3 SHIGAR hl 22% Ha {4l |
HAGH 7 i alel HAgIst i HEA1 T TSy |

{(A) 9860 (B)9870

(C) 9840 (D) 9830

5.

A family spends I240 per month to buy sugar.
A rise of 25% in the price of sugar compels the
family to reduce the monthly consumption of
sugar by 1.5 kg as it decides to spend the same
amount of money on purchase of the commod-
ity. What is the increased price per kg of sugar?
T TRER ¥fd AE 240 =i Tlies R @+ =l § | T
%"T_HF:I_ET 25% Elffgfl?;@’:lq?, Sﬂ%ﬂ@éaﬂwﬁrﬁ
ol sTafiEfda W o fau wiam i =i = w1 so |
1.5 kg ! kA1 k&A1 el & | =T 51 9gT 31 Wi kg 94
FNE?

(A) 32 (B) %35

(C)T40 (D)T38

The population of a city increases at the rate
of 10% per annum. If the population of the city
was 2 crore in 2018, then the population of the
city in the year 2021 was:

T WEL I SHEE 10% i S o ¥ «@gdi § 1 9fg
2018 H 78T Al SIS 2 A o, 1 7 2021 H 7T H
ST foRaet off 7

(A) 2.3 crore/ FS (B) 2.6 crore/ Fg

(C) 2.662 crore/ FU€ (D) 2.42 crore/ ¥g

If 49 litres of a milk solution has 63% milk in
it, then how much milk should be added to
make the concentration of milk 70% in the so-
Iution?

AqfE 49 T g4 % U HA H 63% 9 &, 0 g8 HI Higd
70% % 3 Toru =he # e 5w off faarn s =tew ?

]_ﬁ " 7 )
() 11£1itres/ st (B) 14 litres/ Wi

11 - 1 "
12— 1 RIERY 13— IR
(9] 20 litres/ (D) 30 litres/

In an election between two candidates, 10% of
the voters did not cast their vote and 5% of the
votes polled were found invalid. The successful
candidate got 55% of the valid votes and won by
amajority of 1710 votes. How many voters were
enrolled?

T THAR F AR I TE T H 10% Tagmeti 7 o1
T Tl Srem &R S/t 0 Ha 3 5% Tq T34 0 170 | T
TR = Fe T 55% 7 WE gu it ag 1710 wat
A ST T T L T e T Haerr Amifea 9 7
(A) 20000 (B) 21000
(C) 19000 (D) 20500
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10.

11.

12,

13.

14.

If the price of rice is raised by 20%, then by
what percentage should a person reduce his
consumption of rice so that his expenditure re-
mains the same? (correct to one decimal place)
AT =TEe = w T H 20% IS T T, T TH oA
e F wua H TR wiaee # w owE Ay s
IHF T Toel Fom1 21 @ 7 (S3AEd o6 9% U T 9%

5)
(A) 14.7% (B) 18.7%
(C) 16.7% (D) 12.7%

X’s salary is increased by 20% and then de-
creased by 20%. What is the change in salary?

X % A H 20% i 315 T SR & iR e 209% 1 FH 1
TS E | ST H A A genE 7

(A) 4% decrease/ = FHt

(B) 4% increase/ %t 75

(C) 2% decrease/ i HHI

(D) 2% increase/ # FH!

The population of a town is 80,000. It decreases
by 8% in the first year and increases by 5% in

the second yvear. What will he the population of
the town at the end of 2 yvears?

ek Al hi STTEEAT 80,000 ¥ | T8t 19 | SHH 8% =l HH]
Bt € o ge o # 5% i afis Bt & | g o & o H
T A SAEEA R g 2

(A) 76150 (B) 86140

(C) 77280 (D) 82540

Find the sum of money which when increased
by 15% becomesI19,320.

TE LT @ Fte 5 15% wEE W TL9,320 7 Mt

#1
(A) T16,800 (B) T16,000
(C) 17,000 (D) ¥17,800

In a class, the ratio of the number of boys to
that of the girls is 11: 9. 30% of the hoys and
20% of the girls passed an exam. Find the per-
centage of students who passed the exam.

T el H TToF SR eTeial =i Sem = amqaa 11: 9% |
30% TEHI TR 20% oTSiRaT 1 Tek Tl S0 =1 | 7Le
FEO R AT TAEnteE @ wioea T i)

(A) 3.92% (B) 20%

(C) 24.5% (D) 25.5%

One candidate received 60% of the total valid
votes in an election between two candidates. A
total of 20% of the votes were invalid. What is
the number of valid votes the other candidate
received if the total votes were 162507

15.

16.

17.

T SEEERI % 919 gU U g H U SHIGAR &l 3d 9
% 60% A 9T g4 | 20% Fd 31 & | afs 7l Fot
HEAT 16250 i, T TH SHICIR ®l U FY T4l okl HEen

T Hifag |
(A) 2990 (B) 4760
(C) 5200 (D) 5800

Admissions into a commerce course of a uni-
versity increase by 5% every year. If the num-
ber of admissions presently is 2400 into that
course, after three years, the number of ad-
missions is Nearest to an integer :

Tt Frgatasnera % Aea MR | YO9 o 9t Bl
i HWEA H Ui 99 5% A g TR E | I qweE | 39
AT T WA T A B R WA 2400 €, & 9 ot
% AT, TN T I B F WA TRt st 2 (e

o A )
(A) 2778 (B) 2770
(C) 2775 (D) 2780

A number is increased by 10% and then the
increased number is decreased by 20%. The
net increase or decrease is:

T T 10% i ais #1 At & of firagt g8 ven
20% = F o ¥ 1 g et Rt g € 0
(A) 18% decrease/ = T

(B) 2% decrease/ =t w01

(C) 12% decrease/ = I

(D) 12% increase / =t HA1

In an election, there were three candidates: A,
B and C. 10% of the eligible voters did not vote.
Out of those who voted, 45% voted for A, 35%
voted for B and the remaining 20% voted for C.
30% of the votes polled for A and 20% of the
votes polled for B were later deemed invalid,
while all the votes polled for C were deemed
valid. If A got 882 more valid votes than B did,
how many valid votes did C receive?

TF A | T 3FRaR A, B 31 C €1 10% I Aasmet
o TAGH e A AeeE 3 o | 9, 45% F A
35% = B i 37 39 20% = C =1 7aeH P11 A R =t
T AT H F 30% X B 1 S/t T AT H & 20% Hl
o1E H Y HET T, STeh C W S T HY 5ai 9y
A T At A ® B € 882 s1famn 99 Ha wra g, 1 C
S L G Al okl A HE 7 =S A B ¥ 882 Afyw
e 7 W g4, o C 1 oA Y A ura gu ?

(A) 5020 (B) 5040

(C) 5050 (D) 5060
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18.

19.

20.

21.

22,

In an engineering institution, a student’s
grade is assessed hased on Internal tests (30%),
assignments (30%) and external exams (40%).
If a student scored 90% in internal tests, 95%
in assignments and 75% in the external ex-
ams, then the overall grade of the student is:
T THATGT W% H, T Tornedt o 7S = e ST
TR (30%), IEFTHE (30%) 3R 91 T (40%)
STOR T T o & | = fopett fermnedt = efafiar e #
0%, STRETHE H 95% ST el Tram # 75% 1% ara
foru &, <t foremeit =1 5w S Fa & 9 e 2w 2

(A) 86.25% (B)85.25%

(C) 86% (D) 85.50%

The population of a country has been growing
at a rate of 4% every decade. If the projected
population of the country in 2030 is given as
1,58,18,400, what was the population of the
country in 20007

T I K SHEAT 4% I TwE w1 W H 9g W) Ak
2030 % S oA e 1,58,18,400 %, 91 2000
& 2 1 S P o 2

(A) 1,40,62,000 (B) 1,40,65,200

(C) 1,40,56,200 (D) 1,40,62,500

When the price of a watch was reduced by 20%,
the number of watches sold is increased by 40%.
What was the effect on the sales in percent-
age?

T S 3 HeA H 20 WRIE F FA S A & SR A
wieAl = T | 40 WM F 375 B It € @ EH et
ot & Toramt wfawrd wom 9gm 7

(A) 12% increase (B) 30% decrease

{C) 12% decrease (D) 30% increase

In a decade, a town's population grew from
1,75,000 to 2,62,500. What is the average an-
nual percentage increase in population?

T &9 H, Tk R Al sHEen 1,75,000 9 9@
2,62,500 BT | S H Sfwa it nfae afs e € 2
(A) 8% (B) 3%

(C) 5% (D) 10%

A shoe manufacturing company offers 3 types
of discount schemes to its customers: (i) 20%
and 12% (ii) 25% and 5% (iii) 30% and 3% at
different stages of sales. Find the best scheme
for the customer.

T S AT A fR 3 T R | ST e
3 UBR ol 2 A e Sl 8t (i) 20% 3T 12% (ii)
25% N 5% (iii) 30% 3R 3% | e * fau g=4
ST AT T A |

23.

24.

25.

26.

27.

(A) Only Scheme (iii) / 5@ F=MT (iii)

(B) Only Scheme (i)/ e == (i)

(C) Only Scheme (ii) / T 3 (ii)

(D) Both Schemes (i) and (ii) / T <. (i) 1 (ii)
At an election there were two candidates. A
candidate got 38% of votes and lost by 7200
votes. The total number of valid votes is

T 1@ H T IHIGER 9 | T STHEan = 38% 7 ther

3R &% 7200 AT & TR =0 | I8 7ell ki Fed T 7
(A) 27360 (B) 30000
(C) 273600 (D) 3600

The salaries of P and Q together amount to
<1,20,000. P spends 95% of his salary and Q 85%
of his. If their savings are the same, then what
is P’s salary?

P 31t Q <1 iRt et 4 T 1,20,000 ¥ | P 3774 S
1 95% AR Q 17 =a 1 85% H= A1 € | A 3okt
o FHAE, G P o oo T 7

(A) T80,000 (B) T72,000

(C) 390,000 (D) 60,000

The monthly income of Manisha was 31,20,000
and her monthly expenditure was ¥55,000.
Next year, her income increased by 22% and
her expenditure increase by 10%. Find the per-
centage increase in her savings (correct to 2
decimal places).

T = R 6T T1,20,000 ot ST T e ww
T55,000 o1 | 37T 8, SEHT ST | 22%, i 95 52 31
IR I H 10% 1 915 T8 | 39! 9=d 9 wiawa gig 7

Ty (2 TS €A T goTifeRd )
(A) 28.16% (B) 26.25%
(C) 32.15% (D) 30.08%

The population of a city increases 5% annually
in compounded manner (vearly compounding).
The present population of this city is 93051.
The population of this city 2 years ago was:
Tk L I SHEEN 5%, A wshgls <X (anfis = H
TS EER) WAL T/ | TEUA T WEEA 93051
F1 2 o Y8 TF Ve I e Rt ot ?

(A) 84400 (B) 84000

(C) 88000 (D) 88400

Soham’s initial expenditure and savings were
in the ratio 5: 1. His income increases hy 25%,
while his savings increase by 20%. If Soham’s
current expenditure is ¥4,347, what was his
initial income?
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28.

29,

30.

31.

32.

AR H HigH ® = SR god B AT 5 1 Aar| 3HE
T H 25% Tt I BT &, AR TR qa=9q 1 209 F
75 gt ¥ 1 afe | %1 wdaH =@ 34,347 3, 9 sq®
TR S 7 «an ?

(A) 34,130 (B)T4,140

(C) ¥4,150 (D) %4,160

Two vears ago,the population of a village was
1,000, The population increased by 10% is the
first year and decreased by 10% in the second
year. Find the present population.

T A Feol U T ol SHEE 1,000 ot | T8et 9 H seeE
H 10% #9555 AR g o | 10% 1 F#1 g8 | A

T e
(A) 985 (B)980
(C) 990 (D) 995

Two numbers, A and B, are such that the sum

3
of 10% of A and 8% of B is gth of the sum of

129 of A and 169 of B. The ratio A : B is:
A & B 2 Tt wemd € 7 A % 10% &R B ¥ 8% =

T, A+ 12% I B % 16% & I % = F T T |

s A B, gl
A)2:3 B)4:7
(C)2:7 (D)4:3

The population of a country has been declining
at 1% every decade. If the projected population
of the country in 2030 is given as 1940598,
what was the population of the country in 20007
el 231 =1 I THEA T T0H A 1% F AT F |
A 2030 H =6 S At SITANT SHEEAT 1940598 T 7T B,
T 2000 | 71 ! STEET TRt of ?

(A) 2000000 (B) 1999990

(C) 2000450 (D) 2000616

The monthly income of a person was Rs12,000
and his monthly expenditure was Rs10,000. In
the next yvear, his income increased by 12%
and his expenditure by 5%. Find the percent-
age increase in his savings.

T =R AT o7 T12,000 off $fX Swe 7T =3
T10,000 =7\ 37T =4, S 3§ 12% ST 355 == |
5% Tt TG gF | SERT w=a | gE Tiev g e =l |
(A) 48% (B) 45%

(C)47% (D) 46%

A family spends 8% of its monthly income on
charity. In a particular month, the family spent
31,200 on charity. What is the income in that
month?

33.

34.

35.

36.

Wk IIER 3191 H1TEa 319 6 8% §F W @S AT ¢ | Tk

forg 92 H, oA A 59 W T1,200 = By | sa ugib |

i =i a1t 2 7
(A) T15,000 (B) 16,000
(C) T12,000 (D) T18,000

Bhanu spends 20% of his monthly salary on
rent, 10% on stationery, 14% on transport, 18%
on electricity, and the balance of ¥1,520 on re-
maining items. What is the monthly salary of
Bhanu?

T ST W 997 F1 20% FFu w, 10% =9 =,
14% amamm =, 18% foeett W ot o g1 $1,520 o7
TR T T FETE | T R I Ao R e ?

(A) 10,000 (B) 6,000

(C) 4,000 (D) T2,000

The population of a city increases by 10% an-
nually. If its present population is 21,000, what
will he the population in 3 years?

T YIEY & S | it B9 d 10% i gfg gl &1
TTE, T FAAR IS 21,000 €, 91 3 96 # e

Tt 51 = 2
(A) 27951 (B) 27981
(C) 27971 (D) 27961

A man spends 15% of his income on house rent,
60% of the rest on household expenses and
saves the rest. [f he saves 352,500, what is his
total income (in ¥, rounded off to the nearest
tens)?

o ST ST 3 15%, =L o TR o ST S fer
60% TRE T R = @ € | Al 9% T52,500 = T
T &, A SEE F S F O AL (T H, Frweam R

TF IO )
(A) 154410 (B) 145400
(C) 154540 (D) 154420

During his entire school life, John's average
marks in science was 80% and his average
marks in mathematics was 90%. If his com-
bined average marks in science and math-
ematics was 84%, while the total marks ob-
tained by him in science was 54,000, what was
John’s total marks obtained in mathematics?

ST T Tt frn # it % R A oftea ot 80% aen
it # sirE i 00% | Tomm o it # <%0k w9
o T 84% € | AIfE T | 79 % F1 &% 54,000 %,

B Wit 3 T e i P R 2
(A) 90000 (B) 81000
(C) 36000 (D) 60000
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37.

38.

39.

40.

41.

In an election between Ram and Shyamal, one
got 30% of the total votes and thus lost by 900
votes. [f90% of the voters voted and no invalid
or illegal votes were cast, then what was the
numbers of voters in the voting list?

T ST T 5 (= Wb <19 H, Tk 1 et 71 61 30%
T T S 59 TR 9% 900 Fdl | R 747 | 9t 90%
Faes = Fae R #iR A s @ w9y A1 AEf
T T, T HASH A A Aaae! it S R off 2
(A) 2800 (B) 2500

({C) 2700 (D) 2300

1
A man spends 10 E% of his salary on items of

daily use and 30% of the remainder on house
rent; after that, he is left with Rs. 12,000. How
much is his salary (Consider the round-up
value)?

W ST 39 A w0 10%% ek eI =t e e W

31 39 HT 30% Wk THUE 9 =@ Rl E, 39 9,
=% Y T12,000 99 a=d1 § | 51 S T 2 Fapad

T H ) ?
(A)¥18,050 (B)T19,154
(C) 210,054 (D) ¥19,000

The value of a residential flat constructed at a
cost of £10,00,000 is depreciating at a rate of
10% per annum. What will be its value 3 years
after the construction

¥10,00,000 =i @ra & THfH w® stemEE w2 = 9o
10% did =d =01 X & Jooltaa T @1 ¢ | 6 3 = =g

T T T EN 2
(A) ¥2,78,000 (B) T7,29,000
(C) ¥7,92,000 (D) ¥6,29,000

Two numbers X and Y are such that the sum of
18% of X and 8% of Y is one-third of the sum of
229% of X and 36% of Y. Find the ratio of X and Y.

< HEEE X AR Y sH R & R X 5 18% Y & 8% o
T X % 22% Y % 36% 5 911 6 TH-Tes g 1 X 3K

Y =1 A A HT
(A)2:5 (B)3:11
(C)3:8 (D)8:3

In an election between two candidates, one of
the candidates secured 35% of the votes cast
and was defeated by the other candidate by 1296
votes. If there were no invalid votes, then the
total number of votes polled was:

42,

43.

&l SHIEAR % o= T g9 J, SHEIR | 9 TR 35%
T TIfae TRy 3R g seiiear ¥ 1296 Hdl & g’ 7|
It Tk fi Sz ey e o, 1 S U T4 e e 9

HifSTL |
(A) 4546 (B) 4230
(C) 4456 (D) 4320

A number is first increased by 25% and then
decreased by 10%. If the resulting number is
72, what is the original number?

T G H Teel 25% & i i < & S R 109% 1
ot ST % | i R e 72 ¥, 6 g gen T

T
() 75 (B) 84
(C) 64 (D) 56

The price of an article is reduced by 30% but
the daily sale of the article increased by 35%.
The net percentage effect on the daily sale re-
ceipts is:

U 5] I HEG 30% FH T Al § A A% & afw
faski # 35% i gig 2t & 1 &k famnt witasi W g6 i
T & 7

1 1
(A) 65% increase (B) 55% increase

1 1
(C) 55% decrease (D) 65% decrease

In an election between two candidates, a can-
didate who gets 72% of votes is elected by a ma-
jority of 572 votes. Find the total number of the
votes polled. (assuming all votes are valid)

B SEHEAnT % W= g0 UE A H 7 2% T W A e
SHIER 572 9di % agAd ¥ faitaa giar & 1 @ w4l %1
A4 A T, SIS T 7T 1 HeT T T hier |

(A) 1100 (B) @00

(C) 1500 (D) 1300

When the price of an article was reduced by

25%, its sale was increased by 75%. Calculate
the net effect on revenue.

S U A Tl KA H 25% i FHH 1 TS, T 39w a5kt
H 75% i gl 82 | T W 5[5 WA i 70T SIS |
(A) 31.25% decrease/ &l FH!

) 31.25% increase/ i g

) 39.75% increase/ =i g4

D) 39.75% decrease/ i HH1

(B
(C
(
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47.

48.

19,

50.

A number is first increased by 25% and then
decreased by 10%. If the resulting number is
72, what is the original number?
@Wﬁqﬁ 25% aﬂq&;‘ﬁﬁlﬂﬁ“%’ 3 R 10% i
FHT A W € | A AR wen 72 €, 69 e wen 1 m
w |

(A)75 (B) 84

(C)64 (D) 56

In an election that was contested by 2 candi-
dates, one candidate got 20% of the total votes
and yvet lost by 600 votes. What is the total num-
her of votes cast in the election, assuming all
votes are valid?

2 SIEET 5T &% T A H, T SRIeaR e -
20% a4 g, TR off 717 600 7 | sR = | g9 § 92
et Hal ! WA foRal ¥ 7 (T A gu R et A du ¥
(A) 900 (B) 700

(C) 800 (D) 1000

If the tax on a commoeodity is diminished by 20%
and its consumption increased by 15%, the rev-
enue decreases hy:

7 Rt a5g WA H 20% Ft FH T G E ST IEET
au H 15% ki ghs 0 S €, o Teea o fhaet st

Bt ?
[A) 80 (3] (B) 120 (3]
(C) 10% (D) 6%

In an election between two candidates, one got
40% of the total valid votes, and 30% of the votes
were invalid. If the total number of votes was
7500, the number of valid votes that the other
candidate got was:

T THGAN % | g0 TF 999 H, TF IHCaR i Fa
T T B 40% T WD B AR 30% 7a s & | 7 7t
T FE T 7500 off, I TR IEIGAR A R q9wa e

g7
(A) 1540 (B) 3250
(C) 2350 (D) 3150

In an election four candidates were there in
the fray, out of which three were nominated
from the three national parties and they got
votes in a ratio of 2:3:4.The total votes polled
were 1,89,000 and the fourth candidate got
18,000 votes. The votes obtained by the three
candidates of the national parties are respec-
tively: (assuming all votes valid)

T% 9 H IR IR Hem | 4, fa i € o= = di=
TES Toll B0 TG R T W eI T 2:3: 4 F
#TIE ¥ 3 e 1 FA TR 1,89,000 9 TR =i suiigan
F1 18,000 91 & 9| T TE F A SEr w
- fram @it faet 7 (|t =iel =l 3w mfag)

S51.

52.

S53.

(A) 38,000, 57,000 and/ 3l 76,000

(B) 34,000, 51,000 and/ 368,000

(C) 36,000, 54,000 and/ 3R 72,000

(D) 40,000, 60,000 and/ 3~ 80,000

[n an assembly election of two candidates, the
winner got 56% of the total valid votes. 5% of
the total votes were declared invalid. If the to-
tal number of voters is 3,20,000 then what is
the number of valid votes polled for the win-
ning candidate?

T SRl # W g0 T e g, e
T 59 T F 56% T A g | F& AT 7 5% AG o789
=i fory Tw ) afg weemare w e dem 3,20,000 ¥, @
ST Sl SHHIEER o e S Tet 70 5% Hl =i S S |
{A) 174020 (B) 175240

(C) 170420 (D) 170240

In an examination it is required to get a mini-
mum of 340 marks in aggregate to pass. A stu-
dent gets 244 marks and is declared failed by
12% of the total marks. What are the maximum
aggregate marks a student can get?

U Ter § I g % o7 et STl § 9 340 3k
AT ATATIF & | Uk B 1 244 3% W4 g0 3R 30 5
ST 12% T ST S B T | T3 BT = ST a=an

(A) 1000 (B) 800
(C) 960 (D) 720

In an examination, Gopal secured 15% more
marks than Asha, and Asha secured 10% more
marks than Sachin. How much per cent more
marks did Gopal secure than Sachin?
ok W ), T 5 S 15%, 31féeR 31 e fey @i
s A G " 10% ek 319 v foeg | e = gt 9
feker Wfaera st a1 W foeg 7

{A) 25.5% (B) 26.5%

(C) 25% (D) 24.5%

The population of a city increased by 5%, 2%
and 6% in the first, second and third year, re-
spectively. At the end of the third year, the popu-
lation became 56,763. Find the initial popula-
tion of the city.

U TR o SEEAT H TR, TR ST e A W w: 5%,
2% S 6% T I gE | Ao 3 o H, T e 56,763
T 7 | IET A URTHE S [0 o |

(A) 53000 (B) 51000

{C) 52000 (D) 50000

The population of a city is 225000. If the an-
nual hirth rate and death rates are 4.5% and
2.5%, respectively, calculate the increase in

Study Center : Jaipur » Gopalpura » Lalkethi » Jhotwara » Ambabari » Udaipur « Alwar

the population of the city after 2 years.



Mother's Previous Year Questions Booklet - Percentage

S57.

S58.

59.

61.

T TR & SEEAT 225000 § | 1S w1t < oY SR gy
TUHHL: 4.5% 31 2.5% T, 11 2 =4 o1g e ki SHEE

# 5t T o
(A) 9099 (B) 9090
(C) 9909 (D) 9009

The price ofa book is first increased by 8% and
later decreased by 8%. What is the percentage
change in the price of the bool?

T &0 % o § Ugel 8% i Jig i widi € AR aw o
8% I I ki ST € | T&d% % God § fokat wfcera wfieds
TAE?

(A) No change/ %% uftam 7&f

(B) decrease by/ & &Hl 0.64%

(C) increase by/ &1 g5 0.064%

(D) increase by / %1 35 0.64%

The price of a pen is first increased by 15%
and later on the price was decreased by 20%
due to reduction in sales. Find the net percent-
age change in the final price of a pen.

T UF A AT H Ted 15% i gfg i Sl ¥ R H
fosnl H et ST o RO AT H 20% i FHHT FBL AT S
1 % sifan goa H g5 wiwa afted= 3w

{A) 25% (B) 8%

({C)-8% (D)-16%

After spending 20% of his salary on grocery and
30% of the remainder on monthly house rent,
a man is left with ¥8,400. What is his monthly
salary?

ST 9 W 20% FRm W &K 9w T 30% W H
TR B R T AR, T AR T 8,400
T § | SR W S e E 2

(A) 42,000 (B) 328,000
(C)%16,800 (D) 15,000

Two numbers are less than a third number by

30% and 37% respectively. By howmuch is the
second number lesser than the first?

T HEATT U qIe e ¥ Hm: 30% SR 37% FHE)

T Hem vEet W Rt v A E 2
(A) 3% (B) 7%
(C) 4% (D) 10%

Number B is 17.5% less than number A, while
number C is 22.5% more than number B. If the
value of C is given as 8085, what is the value
of A?

A B, ¥ A9 17.5% &9 7, Sk GE C, G B H
22.5% #1frm 3 1 3fs C 1AM 8085 fam mar &, dt A

HM T IS |
(A) 7800 (B) 7750
(C) 8000 (D) 8100

62.

63.

64.

Kumar’s salary is ¥ 30.000 per month. He
spends 25% of this on food and rent and 20% of
the remaining on education. But he pays 5% of
his total salary on paying the income tax and
saves T 8,000 after all these three deductions.
What is the amount (in I) available with him
after his savings?

HAT 1 S T 30,000 UTd A1E & | AT 59T 25% wdisH 3R
T W TR ¥ 20% e W o w2 A 9
ST e S T 5% STRTRT T ST 0 T e € o
1 il o =g T 8,000 =11 ¥ | SHHI = o 98

T I FRe T (T H) ST 2
(A) 8500 (B) 7500
(C) 7250 (D) 8550

A woman spends 25% of her income. [fher ex-
penditure is ¥1,250, then find her income.

Tk g 391 34 ®l 25% @@= Fdl ¢ | Jfs S8 =4
71,250 ¥, o Sert o1 T Fifw

(A) 32,500 (B) 5,000

(C)%1,250 (D)y¥1,000

The tax on a commeodity diminishes by 14% and
its consumption increases by 10%. Find the
effect on revenue.

TF 5 R F 14% 77 ST 9 § o7 5 ' 10% 9%
T E | ToTEE TR WS ST Y I A |

(A) Decreases by/ &1 %1 9.5%

(B) Decreases by/ ® #H116.5%

(C) Decreases by / & &Hl 5.4%

(D) Decreases by/ =t #71 7.4%

40% of Ranita’s income is equal to 56% of
Bhaskar’s income. If Ranita’s income was ¥800
more than what it is and Bhaskar’s income was
32,000 more than what it is, then the ratio of
the incomes of Ranita and Bhaskar would have
been 4 : 3 What is the actual combined income
of Ranita and Bhaskar?

T ot AT 1 0%, T 51 AT F 56% o ae % |
AT T it 2T, SHE T AE o | TR0 Tm Bt of
WERL w1 ST SR AGAM 319 9 2,000 A4 T,
T ST 9T T ' ST 4 ;3 B e o
TR 71 S S 3T 3= 8 7

(A) 67,200 (B) ¥68,200

(C) T66,800 (D) 67,800

The difference between a discount of 35% and
two successive discounts of 20%6 and 20% ona
certain hill, was I22. Find the amount of the
bill.
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T fAfoem foet ™ 35% =t T w2 iR 20% TE 20% FETH = A0 7 T18,00,000 ¥ 77 322,00,000
F N I TE T AT T22 o | forer = i e | T TR R | WO gfs T AT | (SIS ¥ 9 o S
(A) 2,800 (B) ¥2,200 qF gl )
(€) 33,200 (D) 2,000 (A) 33.33% (B) 18.18%

67. There is a continuous growth in the popula- (C)81.81% (D) 22.22%
’l[ion of avillage at ﬂlle rate of 5% per annum. If| 731, A man spends 20% of his monthly salary on
its present populat‘lon is 18522, what was the food and one-fourth of the remaining salary on
population of the village 3 years ago? charity. If he saves 9,600 per month, which is
TF 9 Tt e H 5% WiE 98 it o o Teq Gi5 5 W equal to half of the balance after spending on
T 1 4afe o5 7| ! oEE SHEE 18522 %, 91 3 91 vee food and charity, then his monthly salary is:
Tt 5 S e o ? W KT STH HIFR S = 20% ST W SR 99 Fa
(A) 17500 (B) 16400 1 Teh-=141E T TR @ Ll § | Al 7 i /g 39,600
(C) 16000 (D) 17200 I F9q BT €, Sl 9 SR T W E@H G F 9% 9

68. The expenditure of a company increases by 25%, ?ﬁﬁ ufen 3 sNF % S ¥, 1 395 AHE AqT H A
then increases by 30%, then further decreases oy
by 20%.The overall percentage change in ex- (A) T28,000 (B) ¥32,000
penditure is: (C) 326,000 (D) T30,000
ek HHT B =G 25% 9% Sl €, TR 30% g S|, | 72. Ina panchayat election Candidate A secured
TR 20% FA S FATE | =9 | Fel PR wieem aftads 30% of the total votes and did NOT qualify by &6
Tt ? votes. Candidate B secured 40% of the total

N votes and got & votes more than the bare mini-

(A) 10 (B) 30 mum to qualify. The total number of votes were
(C) 34 (D) 22 ’

69. The ratio of income and expenditure of a per- i’jﬁw__ﬁf‘ﬁﬁ TF THEAR A F 30% TE T ofiK
son is 8 : 5. If l'lier m?ome increases by 25% T 6 T T STEA TR T =R T | TF 7 IR B A
and her expenditure increases by 28%, then ; .

. ) N 40% 7@y fFn ofT oW o = F o o
what is the percentage increase in her sav- - -
ings? AR A W 6 WA oTTH W T | stfirmam %1

4 ; s B (A) 140 (B) 1e0
Tk S T 19 SR 5949 o 199 8 < 5 % | 3fs 9! a9
‘ 48\ ¥ : N (C) 100 (D) 120
H 25% w0 Jlg gl & 31 =5h =HH 28% i AfE gl 3, .
N - P T afres &2 73. A person could save 20% of his income. A year
ars Y | T %1 E‘:&b B later. his income increased by 25% but he could
(A) 18% (B) 20% save the same amount only as before. By what
2 1 percentage has his expenditure increased?
(<) 165% (D) 225 W SR AT A 20% == Gl € | U 91 9,
THHI I H 25% Tl Jg 53 Al 9% T80 i @ &1 3a41
70. The annual salary of Suhas has increased from S Tﬁi . - El?ﬂ?ﬁaﬂ ;gﬂ %2
Z18,00,000 to T22,00,000. What is the percent- S | et sicrerd bl gl T2 @ -
age increase? (Correct to two decimal places) (A) 27.5% (B) 32.5%
(C) 31.25% (D) 29.75%
Solution
< 49 98
1. (D) Let fraction = _ 12
Y Total students = 100 x 2 =200
x %X 150% _ 25 . x_2_1 3. (C) Total students = 50
yx72% 36 y 6 3 60%,N\40%
- Boys Girls
2. (D) Lf:‘t tofal Studengs - 100 No. —> 30 20
Girls = 100 x 70% =70 Ave —> 4x 5x
Girls who chose score = 70% of 70 = 49 &
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10. (A)

Avg. = No. ¥ Sum

S 30 x4x+ 20 x bx =50 x 66

220x=50x66 =>x=15

.. Average score of the girls = 5x

=5%x15= 75

(C) Let the total voters be 100%

here, 48% — 15744

1% — 328

number of members who didn't vote

={100-48 - 22) x 328

= 328 x 30 =9840

250-:1 =

Price 4

Consumption 5 :
1—-15
4 - 6 kg

increased price per kg of sugar

240
6 T40
(C) The population of the city in the year

11 11 11
10 10 10

(€)

!—‘-PU"l_pl._.

2021 = 2 crore x = 2.662 crore

ln]

7
= (49 + x) x

49
(B) 49> 7159

100

49 +x) = 60> S 112 L
{ X) 30 = X 30 Liters

(A) 100x
votes polled 90x 10x

valid votes = 95% of 90x
winner - 55% of 95% of 90x
loser - 45%6 0f95% of 90x
= 10% 0f95% of90x= 1710
x =200
100x = 20000
100 - 120

LS

(€)

120 x 100 =16.7%

120 — 96
4% .
105

92
11. (C) 80000 x 100 bt 100 77280

115
12.(A) x = 100 19320 = x= 16800

13.(D) Let B: G
110 : 90

302 20
33 + 18

51 )

200 x 100 = 255%

14.(C)

15. (A)

16. (C)

17.(B)

18. (D)

19.(D)

20, (A)

Given, Total vote = 16250

80
Total valid vote = 16250 x Too - 13,000
- Required value = 13000 x 100 ~ 5200
R ired val — 2400 105 105 105
cauired vaiue = < 100 100 100
=2778

ATQ,

10 11 — +10%

5 ' 4 — -20%

50 44

I

6
= % decrease = 50 X 100 = 12%
Total vote = 1000
90
Total volid vote = 1000 x ——

100
Vote of A =900 x - =405
ote o %0
B =900 35 315
— W — =
100
C =180
ATQ,
0 80
= 405 % 100 -315x 100 = 882
= 283.5-252= 882
= 31.5 unit = 882
180 unit = 882 180
= unit = ———
= 5040
Required % =
30 x 20 + 30 x 95 +40x
100 100 100 x 100
100
100 e

Let the population of a countny in 2000 =x
ATQ,

® 104 ® 104 * 104 =1.,58.18.400
** 100 " 100 100 U
x=1,40,62,500
Price — 5 4
No. — 5 7
Sales 25 28

3
Increase%%o = 55 x100=12%
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21.(C)

22. (A)

23. (B)

24.(C)

25. (C)

27.(B)

Avg. Annual increase
(2,62,500-1,75,000)

1,75,000 x 10 * 100
_ ﬂ 100 = 5%
~ 175000%10 S

Scheme (i) 20% and 12%
equilant discount

Xy 240 o
100 32 100 29.6%
Scheme (ii) 25% & 5%
Equilant Discount %

25x5
> 25+5- 100 28.75%
Schemeiii) 30% & 3%

100

Scheme (iii) is the bhest schem for the cus-
tomer.

Let total =

Equilant=30+3 - = 33-09=32.1%

62
Difference = 24
24 7200
1-300
Total = 300 x 100 = 30,000
Let salary of P =x
Salaryof Q= 120k -x
XX 5% =(120k-x) 15%

38

x=3600k-3x

x=90k

x=90,000

Income \ Saving

120000 55000 65000
24 11 13

+5.28 +1.1 + 4.18

8
[ncrease in saving = x 100 =32.15%

Let population of this city 2 years ago =x
Now,

21 2l 63051
Ko X — =

*% 20 " 20
x=211 %400 = 84,400
Income  Exp. Saving

6 5 : 1
+25% +20%
1 1
6x> 1x2

4 5

7.5 6.3 1.2

7
Intial income = x6=%4,140

28, (C)

29, (B)

30. (A)

31.(C)

32. (A)
33.(C)

34.(A)

35. (A)

1000 x 119 90 =990
100~ 100
i-ﬁ- Bi = 3 Ai+Bi
10 25 5 25 25

[5A+4BJ 3 [3A+4B]

50 T 5 25
25A + 20B = 18A + 24B
7A=4B A_2

=B 7

A:B=4:.7
100 99
100 99
100 99
2000 2030
1000000 970299
lXQ le.
2000000 1940598
1=12000Rs
Ex = 10000 Rs
I E S
120 100 20
leO%T ls%?
134.4 105 129.4
S 20 29.4

1200
Month Income = e x 100 = 15000 Rs.

Total experditure
20% + 10% + 149% + 18% = 62%
Saving = 38%

15& x 100 =4000 R:
38 S.
109% i
o — 10
10 11
10 11
10 11
1000 1331
After 3yr population
_ 21000 x 1331 =27951
~ 1000 B
Let Income = 100%
15% Rent
Rest=100-15=85%
52500 %100
Income= ——— x 100 =154410 Rs

85x40
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36. (C)

37.(D)

38.(B)

39.(B)

40. (C)

41.(D)

42.(C)

Scl Math
89 90%
84%
6 4
£3 2
54000 36000
60% -30% =900
30% =900 > 1%=30= 100% = 3000
101‘}/ 309
2 4] <
200 179
10 _7
2000 1253
Total sal 12000 _ 5
otal salary = 1953 x 2000 =19154
10% L
°7 10
10 9
10 9
10 ]
1000 729

lXIO J{XIO

T 10000 T 7290

18 18 _{X
*% 700" Y 100"

1
18x + 8y = [22x + 36y] x 3

22
——+
100

9x + 4y =[llx + 18y] =
27x+ 12y =11x+ 184
X 6

16 = 6 — = =
Ia]. IInd

35% 65%

W)=

0w

~—
30% — 1296

Lo, _, 1296
0= 30

6
100% = x 100 = 4320

ATQ,
100

)

1'2.5% 1 01%,

125 112.5

lXO.64

72
.. The original number = 100 x 0.64 = 64

43.(C) ATQ,
135
-30% +35% x =
100 70 70 100 94.5
- Required? = 5.5% decrease
44.(D) ATQ,
T2 —28% =44% =572
1% =13
100% = 1300
45. (B) ATQ,
100 % TS T, TS 175
100
1000 — 13125
R ired val cV—3125><100
. Required value (%] 10000
% Increase = 31.25%
416. (C) ATQ,
100 -2 125 _ 1%, 112.5
lXO.64
72
~.The original number = 100 x 0.64 = 64
47. (D) /100\
&80 20
S
60 — 600
1-10
Total = 100 — 100 x 10 = 1000
48. (A) Tax 5 4
Consumation 20 23
Revenue = 100 92

- Qo
100 x 100 = 8% Decreased

7500 70 60
o X —
100 100

1 Iv
18000

49. (D) = 3150

50.A) 1 II
2:3: 4
N’
9 - 18900 - 18000
59— 1,71,000
1 — 19000
1=38,000
II= 57,000
11 = 76,000

95
320,000 x —

51. (D) 00

“ 100 - 170240
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52. (B)

54. (B)

55. (D)

57. (B)

58. (C)

59. (D)

60. (D)

61.(C)

62. (A)

Let total marks = x

340 = 244 + x

100

%0 100 = 800
= — X =
=12

Gopal : Asha= 23 : 20 (15%)

Asha: Sachin =11 : 10

Gopal 0; Sachin =23 x11:20x 10

=253 :200

Gopal : Sachin = 126.5: 100

Gopal Sacure 26.5% more markg then Sachin.
let the population is x

105 102 106

X X X x
100 100 100

56763 x100x100 <100 _
x= 105 x 102 x106 -

Population after two years
Birth rate 4.5%
death rate 2.5%
Effactive rate 2%
Population of tere two year
102 102

= 225000 x 100 % 100 = 234090

Increase in population
= 234090 - 225000 = 9090
Effective change in price of book

8x8

= 56763

&-8- 100 = 0.64% decrease
Eftective change
_15-20 - 2x20 5-3=8%d
100 = o decrease
RO b —70 = 8400
*" 100 " 100 T
120
X= 30 x 100 x 100 = T15000
Let number are a, b & ¢
a b e
70 63 100
7
204 No, lesser than 1t = 70 x 100 = 10%
A:B 40: 33
B:C 40 : 49
A:B:C 1600:40x33:49x33
8085 1600 = 8000
~ 49x33
Spends on food & Rent = 30000 x 25% = 7500

Spends on education = 30000x=7 5% x20%
= 4500

On tax = 30,000 x 5% = 1500

Saving = 8000

Remaining = (30000 - 21500) =¥ 8500

63. (B)

64. (C)

67. (C)

68. (B)

69. (B)

73.(C)

25% — 1250

1% — 50

100% — 50 x 100 =35,000
Tax =50 43
Consumption =10 11
Revence = 500 473

27
Decrease = 0 x 100 = 5.4%

Bhashar
5x

Ranita
Income 7x

7x+ 800 4

5x+2000 3
21x+ 2400 =20x + 8000
x= 5600
Ranita's & Bhaskar's Income
= 5600 % 12=67,200
35% & equivalent discount 20 & 20%
35% & 36%
e
1% — 22
100% — 22,00
Let population 3 years ago =k

21 21 21 18500
. S S s
%20 " 20 " 20
x = 16,000
4 5
10 13
5 4
10 : 13
3
Increaseto = E x 100 = 30%

Income exp: saving

8 5 3
25‘%1 l
+2 +1.4 +0.6

0.6
% Incrase in saving = 3 X 100 = 20%

4,00,000

18,00,00 100

% Increase =

=22.22%

9600 100 = 32000
= =
30

10% = 12
100% =120

1 E S
100 -80-20
125-105-20
25 125

T x 5= T =31.25%
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SSC CHSL - 2020

In a constituency, 55% of the total number of
voters are males and the rest are females. If
40% of the males are illiterate and 40% of the
female are literate, then by what percentage
is the number of illiterate females more than
that of the illiterate males [correct to one deci-
mal place)?

TF A &3 ¥, Tagmel ® Fe 5 W 55% T E
3R 9 Hfgemd ¥ | =z 40% o FRer € 2R 40% Higemd
R ¥, 0 Feew gedl =t gom § Frer afeensd =t wen
forer e eAfeh & (Uoh SHed T a9 981) 7

(A) 21.5% (B) 20.8%

(C) 16.4% (D) 22.7%

Ais 150% of B and Bis 40% of C. IfA+B+C =
20, then the value of 2B + 3C — 4A is equal to:
A B 150%% stB, CFM40% T I TCA+B+C =
20, @ 2B + 3C — 4A % HF 9 §:

(A) 16 (B) 15

{C) 20 (D) 14

The population of a town increased by 15% in
2018 and 10% in 2019. Due to a pandemic, it
decreased by10% in 2020. What was the per-
centage increase in the population of the town
in 3 yvears?

TF e & owE | 2018 7 15% R 2019 % 10%
i Fig g2 | T HgMN & FR, 2020 H 7856 10% =i
et oé | 3 = TR S PR AT

75?7
(A) 12.5% (B) 13.85%
(C) 17.5% (D) 15%

A number P is 20% more than a number Q but
10% less than a number R. What percentage is
number Q of number R?

T W P, T 9 Q ¥ 20% 2174F & afF TR e R
A 10% %9 ¢ | 9 R o1 5w Q fopaen wiawa 2 2

(A) 85 (BY75

{C) 90 {D) 80

The price of a commodity increases by 28%,
However, the expenditure on it increases by
12%. What is the percentage increase or de-
crease in its consumption?

Uk a5 %I BT H 28% & g Al & | TTlE, 79 R
\HEH 12% % Iz Biat & | 39 TIa | PR wirem %
Frp M 2

(A) 12.5% Increase
(C) 16% Increase

The income of A is 40% less than of B. [f A gets
25% rise in his income and B gets 40% rise in
his income, then the percentage increase (cor-
rect to two decimal places) in the combined
incomes of A and B will be:

AT & B F e H 40% T ¥ 136 A =i oyt e H
25% =i I vTE gt § o B w1 o1t s H 40% wi
s WA BT S, T A 1R B =i T o1 ¥ whew 91 (8
Gy BRIl 99 =) g

(A)31.67 (B) 37.86

(C) 34.38 (D) 35.19

The present population of a village (males and
females) is 7640. If the number of males in-
creases by 25% and the number of females in-
creases by 15%, then the population will be-
come 9214, The difference between the present
population of males and females in the village
is:

T T4 (T8 A Afgenl) & ad= sHeEn 7640 ¥ =g
THT 25% i Jfg gl & AR Afeensil ® 9o F 15% =i
Jig R &, T STHEN 9214 71 9wy | el 37R Afgensii
T TEA AAEE F W S A § 2

(A) 940 (B) 960

(C)820 (D)920

A reduction of 20% in the rate of sugar enables
Sudhir to get 6 kg more sugar for T 960. What
is the reduced rate of sugar per kg?

=i 1 & H 20% Hi wE E gHR ® T 960 H 6
At =T W e | weg e 7 | ufa feeed =i =6 =t

(B) 16% Decrease
(D) 12.5% Decrease

TWFMT?
(A) T 32 (B)Z 36
(C) T 35 (D) T 40

Two numbers are less than a third number by
37% and 30% respectively. By what percent-
age is the second number more than the first?
o He U AT e E e 37% AR 30% FH |
TE HeEA Tee! | Tk wiewra sifeer & 2

100 100 10
(4) 10 (B) 5= (©) D)

9 5 D3

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689 +91-7073909991 | www.motherseducationhub.org



Mother's Previous Year Questions Booklet = Percentage

10.

11.

12.

13.

14.

The average pass percentage of girls in class X
examination in a school is 85% and that of bovs
is 83%. The average pass percentage of all boys
and girls in class X of that school is 83.7%. Find
the percentage of the number of girlsin class x
of that school.

T THe W aHAl e A wen H erstEa i s
TIT9IT 85% & S ATl BT 83% & | 36 Tt % THAT Hefl
T et T o TEfFAr 1 ofvem Sei e 83.7% B
TH TR H el X H ARGl il HE w1 GieE {61

Fifory 7
(A) 45% (B) 40%
(C) 30% (D) 35%

When the price of an item was reduced by 20%,
its sales increased by x%. [f there is an increase
of 25% in the receipt of the revenue, then the
value of x is:

1 fort T S e 20% ), s
H x% i A5 T2 | ATC Torea Wid A 25% =+ 975 et g, 1

XFHAZ?
(4) 56.25% (B) 53.84%
(C) 61.5% (D) 55.75%

A person saves 25% of his income. If his in-
come increases by 20% and his saving remains
the same, then what will be the increased per-
centage of his expenditure?

Uk =T AT 34 1 25% F=a1 & | JfS SqHh1 o F A
20% i Fig Bl & 3R TH! 9= 7E 1 @l §, 1 35 =4
T AT G W9 A B 2

(A) 30 (B) 20 (C) 26 (D) 26%
Mohan’s income is 40% more than Shyam’s in-
come. Shvam’s income is what percentage less
than Mohan’s income?

Higd =kl A= T i1 ™ 40% e T | 799 i 74

e o1 W PR vt w2
A 28E B 28§ C 28i D 28g

A, B and C are three positive numbers such
that A is 70% of B, and B is 40% of C. If the sum
of all three numbers is 336, then 15% of the
sum of B and C is:

A, B 3t C 4 ¥R o0 59 TR § {6 A, B I
70% &SRB, C ® 40% T & 71 Tt =1 3m 336
E, B RC FATH 15% % ?

(A) 48
(Cy42

15.

16.

17.

18,

19.

Raghav spends 80% of his income. If his in-
come increases by 129% and his expenditure
increases by 17.5%, then what is the percent-
age decrease in his savings?

T ST 4T 1 80% T+ F40 & | a% SHET o7 |
12% 1 gfg gt € SR smr == # 17.5% Higfg a1 &,

A SR I W PR wieem R g 2
(A) 12% (B) 10%
(C) 8% (D) 15%

Geeta scored 30% and failed by 30 marks, while
Sandeep who scored 45% marks, got 25 marks
more than the minimum marks required to
pass the examination. How many marks did
Vimal get if he scored 64% marks?

T 7 30% ST W T &R 50 o 9 =i g1 T,
STt HETq o 45% ik wTa o, S8 alien S
% U STEvEE AR SR W 25 S SR I gl
ot =1 64 witem@ i 94 F R st 9 gu 7
(A) 320 (B) 436
(C) 256 (D) 500

What is the value of X, if 25% of 480 + 30% of
500 + X% of 90 = 35% of 9007

X = T HE E 7 915 25% of 480 + 30% of 500 + X%
of 90 = 35% of 900
(A) 45

{C) 55

(B) 50

(D) 40

What is the value of 9%6 of 5500 + 2.4% of 1100
- 40% of 16007

5500 F 9% + 1100 % 2.4% — 1600 7 40%, =1 91

FNE?
(A)-118.6 (B) 181.6
(C)-181.6 (D) 118.6

24% of Reena’s salary is equal to 38% of Sunita’s
salary. Veena's salary is two-third of the total
salary of Reena and Sunita. If Veena's salary
is ¥ 62,000, then Sunita’s salary is:

T 3 AT 1 24% G % Ha7 o 38% % qWEE |
=1 Je 1 TR HH A e e = - TaE € 1At o
=1 A7 62,000 F, @ G w1 340 § ?

(A) T 32,000 (B) T 38,000

(C) ¥ 35,000 (D)3 36,000
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20.

21.

22,

23.

24.

Renu spends 68% of her income. When her in-
come increases by 40%, she increases her ex-
penditure by 30%. Her savings are increased
by

0] ST &7 T 68% T FLA & | T SR A H 40%
= FTg Bl §, T 98 o oA H 30% F qME T B

TR T H GG ge T ?
(A) 37.98% (B) 62.5%
(C) 51.6% (D) 61.25%

A’s salary is 15% less than B’s salary. B’s sal-
ary is 30% less than C’s salary. By how much
percent approximately, is C’s salary more than
A’s salary?

AF I B FITTHAL5% FA T I BHF I C F a1 4
30% HH T 1 C 1 9a9 A F 909 ¥ T Thad wiem

siferm g ?
(A) 45 (B) 75
(C) 40 (D) 68

In an examination of 180 marks of a subject,
75% marks are allocated for theory and the rest
for project work. Veena scored 60% in theory.
What percentage of marks must she score in
the project to achieve an overall 62% marks in
the subject?

T oo 3 180 t= =it alien #, 75% ¥ = & forn
iR 9w wiEe = % A st fey o € 1 o
i H 60% 7% Trae (5 | T | Fa1 62% % e
(A) 64 (B) 66

{C) 65 (D) 68

Rita spends 25% of her monthly income on
house rent and 30% of the remaining income
on food. If she saves ¥ 5,250, what is her
monthly income?

a1 ST |k 311 w1 25% = 8 foRy W 31T 9y e
=1 30% HieH W& i § 1 95 98 T 5,250 s=r[ 8,

SHHT HITH 39 T 7
(A) T 12,000 (B) T 16,000
(C) T 10,000 (D) T 14,000

In a survey it was found that in a consistency,

55% of voters are male and the rest are female.
1

40% of the male voters are literate and 33§ %

of the female voters are illiterate. What per-
centage of the voters are literate?

25.

26.

27.

Tk TS H =g 9 = v wnfa |, 55% Aaemn

A Wb s - = ]-
¥ o v wfeemd ¥ 1 40% 150 Tagmn TR E oiit 335%

Hizel qagmr FRaT 2 | frad wfaera aaemar wer € 7
(A) 52% (B) 48%
(C) 54% (D) 37%

35% of the students in a collage are girls and
the rest are the boys. The total number of stu-
dents in the collage is 2800, 753% of the boys
and 83% of the girls passed the final examina-
tion. The percentage of total students who
passed the final examination is:

TF Few B 35% Tornet orefifsi © ofn3m o= € | Fiem
H BE # FE W 2800 ¥ 1 75% T 3R 85% Tefra
fem wiien 4 sl g5 ¥ | s wdien swiivl # o g

Bl A & ?
(A) 80% (B) 82%
(C) 78% (D) 78.5%

In a class, 60% of the students are girls and
the rest are boys. 45% of the girls pass an ex-
amination and 40% of the boys failed. If the
number of girls who failed is 66, the number of
hoys who passed the examination is:

TF T2 | 60% Tt orefFi € o 3 oe® € 145%
e T e § S g ¥ siR 40% ere s
2 ¥ | gfe ST7a g1 Al agfE i §emn 66 B, 1w
T A A TEH F AT ?

(A) 36

(B) 48

(C) 54

(D) 60

If Ais 28% less than B and C is 25% less than
the sum of A and B, then by what percentage
will C be more than A (correct to one decimal
place)?

A A, BH28% A8 8 C, ASRB FAMH 25% A
7, T C, A% T wfaw s1iems 2m (T symos = 7%
NP

(A) 84.3%

(B) 75.5%

(C) 81.6%

(D) 79.2%
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28. The expenditure on food is 35% of the income | 30. The price of an article increases by 5% every
of a particular family. If the income is raised yvear. If the difference between its price at the
by 30%, then how much percentage ( to the end of the second and the third year is ¥ 52.50,
nearest whole number) of food expenditure is then what will be its price at the end of the
less than the initial percentage to keep the food first year?
expenditure unchanged? T o % Hod | wlaerd 5% &1 gig gidt g | afE g 3
IS T S O IO R A ST A 35% € 1A ST e T ¥ ofa # T W SR T 52.50 F, @ e
30% i i ! A E, 9 @ =g o fod 1wl (ke o % afa | SHAF K IEd I ?

IO S H) T = W STIRE A T ¥ o7 R g (A) T 1,000 (B)T 950

TR (C) T 840 (D) T 900

(A) 2 (B) 23 31. Savita spends 20% of her monthly income on
P Y

(€) 17 (D) 20 groceries, 15% of the remaining on rent and

29, If decreasing 180 by x% gives the same result then 60% of the left over on children’s educa-
as increasing 60 by x%, then x% of 410 will be tion and others. If she saves T 9,792 a month,
more than (x + 20%) of 210 (correct to two deci- then how much (in T) does she spend on rent?
mal places) by: e 2191 A1fEh 2119 =61 20%, fHy o 9EmE 9L, 39 =6
afE 180 =l x% A #1, 60 F x% 1 gig F qHH o 15% TR 2 iR i 91 g0 1 60% =i =1 9 o]
TWE, 410 H x%, 210 (3 ToFem T 7 1) 3 (x T R T w4 ¢ | FfS 9% 7L § T 9,792 F=dt g,
+ 20%) 9 Afere grm 7 = fFm = A (X H) o A § 2
(A) 37.57% (B) 36.57% (A) 3,960 (B) 4,320
(C) 39.46% (D)31.67% (C) 4,450 (D) 4,200

Solution
Male A B C
1. (D) 5501 . 9 2
]itelrate | i]litelerate 5 5 5
60% 40% 3 2 5
55xﬂ 55 x 40 A+B+C =20
100 100 3x+2x+5x = 20
¥ 10x = 20
22 x=2
A =6,
Female B =4
45% c=10
literate | illiterate OB+3C—-4A=2x4+3x10-4x6
| | =8+30-24=14
40% 60%
3. (B) 15%7T 10%7T 10%
45 x 15x 10
100 +10+ N
B 15+ 10 100 26.5
o 26.5-10- 22210 _ 15 850,
o= — % 100 = 22.79 o 100 oure
< 22 - <
120 6
oL 150 3 4, B) P=—"-Q=0Q=
2. [D]A—B100 2B 100 5
90 9
B-C = -2¢ P=R100 “R1o
100 5
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Q P R
5 6 6
9 9 10
45 54 60

45
Yo = 5 x 100 =75%

8. (A) 20% amount of sugar will increase 25%

25% =6 kg
initially sugar=6 x 4 = 24 kg
960
original price of suger = EYR 40
960
Reduced rate = —|— =32
30

S. (D) Let price be ¥ 100 per kg and consumptimbe | 9, (B) Let third number be 100
100 kg
expenditure = 100 x 100 = 10000 [ 1I I
New price = 100 x 128%=128 63 70 100
New expenditure = 10000 x 112%
=11200 100
Y%= — x100= —
N o 11200 9
ew consumption = — o~ = 87.
% decrease in comsumption 10. (D) Girls Boys
= 100-87.5=12.5% 82 23
0 ~
60 3 /83,7\
6. [C]A—Bm—Bg 0.7 1.3
7 13
A3
B 5 7
% of girls = —— = 100 =35%
Ao gy 125 15 0
*" 100 4~
B = 5x 140 -7k 11.(A) x+ v + 100 effective change
100
20x
EX+7X—3X—5x x-20- 100 =25
% increase = 4 x 100
8x %
x—— =45
43 S
Tx -8x 11
— — 4
gx 1007 g 10 Sx=45
=34.375%
7. (D) Let male population a x= 4525 = 56.25%,
Let female population b 4
+b=7640
@ 12.(D) Letincome = 100 — 20% T =120
a% +1h x 115 - 9214 saving = 25 — 25
100 100 expenditure =75 — 95
125a+ 115h = 921400 20
a+b = 7640 % increase in expenditure = % x 100
10a = 42800
a = 4280 =@=Q6g%
b = 3360 3 3
a-h = 920
HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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19.(D) Let Reena salary = a

140
13.(C) Mohan income = Shyam income x 100 Sunita salary = b
Mohan income 7 a% =h x 1‘:;;
= Shyam income 5
Mohan income = 7x a _19
Shyam income = 3x b 12
2 4
e}
70 7 62x
14.€) A= B15o 10 3
40 o x= 3000
—Cc— == Sunita sal =12 x 3000 = 36000
B 100 5 oy
A B c 20.(D) Income Exp. Saring
7 10 10 100 68 32
2 2 5 1 40% 7T 130%7T
7 10 25
140 68 X@ 51.6
7x+ 10x+ 25x = 336 100
42x =336 88.4
x=8
5 % i > 100=61.25
- - o4, = w = ; 2y
B+C=35x8x 100 42 increase 32
: \ i 85 17
15.(B) [ncome Exp Saving 21.(D) A=B15%)/=B—— = —B
100 80 20 100 20
L1291 L17.5%7T 0% 7
112 94 18 B=C30%L=Cx 15
2 A B C
%%decrease in saving = —~ x 100=10%
20 17 20 20
16. (A) 30%x + 50 = 45%x - 25 7 7 10
15%x=75 119 140 200
x =500
Vimal 64% marks= 320 1
17.(B) 25% 480 + 30% 500 + x%00 = 35% x 900 Yo increcase = 74 100 =68%
9
120+150+XE =315 75 60 25 x
. X X
o 22.(D) 180 955X 700 * 180 150 * 100
270 + EX=315 _ 180 x 52
9 100
0% 81+45x — = 111.6
x =50 100 :
18.(A) 9% of 3500+ 2.4% of 1100 - 40% of 1600 X
495+2.4 % 11-40x% 16 100 =0.68
495 + 26.4 - 640 <= 68Y%
=-118.6 ©
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23.(C) Let Rita total monthly income = 100

House Rent = 25
Remaining = 75

30
food =75 » —— =225

female
45

1
\Lssg(%
15

100
52.5 - 5250
1—100
monthly income = 10000
24, (A) male
55
140%
22
literate

illiterate
30 literate

% of literate = 22 + 30 = 52%

25. (D) ggg§
(]

1820

175%

1365

198

2
total% = -5+~ %X 100

2800
= 78.500

26. (B) Bovs
40

140%

Fail = 16

Pass =24

Girls
35%
980
185%
833

Girls

60

\|/450 (3]

Pass =27

Fail= 33 - 66
1—-2

Total pass boys=24 x 2=48

28. (B)

29, (C)

30. (A)

Let the income of family = 100
New income of family = 130

130 -100

130

Required % = % 100

=23.7% =23%

1gol00-x _ 100+x
100 100

180 100+ X
60 100-x

18+6 100
18-6 x

24 100
12 x
x=50

70
100 210 x m
205: 147

410 x

M cV—gXlOO
ore% = o=

=39.46%

Let the price at the and of the 1st year= 100
The price at the and of the 2nd year = 105
The price at the and of the 3rd year

105
A 72 = =
27.0) A=B 28%l = 5 = 155 105 % 1pp = 110-25
ATQ,
-9 110.25 - 105 — 52.5
B 25 5.25 - 52.5
75
C=(A+B)— 1> IQ
100 the price at the end of the 1st year
c _3 =10 % 100=3% 1000
A+B 4 31.(B) Let total income = 100
- o - —
C= S (18x + 25x) 20% spend on groceries = 20
4 15
_ E Y 43k = 129x 15% spend on rent = 80 x 100 =12
4 4
129 18 60% spend on education = 68 x 00 _ 40.80
4 5700 100 '
Yo=—"F5—x100= —(/-—
18 72 27.2 - 9792
=79.2% 1 — 360
12 - 360 x 12=3% 4320
E HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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SSC CHSL 2019

Sachin's income is 25% more than Dileep's
income. By how much percentage is Dileep's
income less than Sachin's income ?

e i a1 fael =1 a1 § 25%, siferk 31 faef 1
T, WP &1 3T & PR wie w e ?

(A) 15% (B) 20%

(C) 18% (D) 22%

Find one-fitth of three-eighth of one-third of
11760.

1.3 1

11760 % — % — &1 — @ |
378 5

(A) 598 (B) 294

(C) 645 (D) 467

The difference between a number and one-third
of that number is 228. What is 20% of that
number ?

Torelt T i S e ¥ U fred et 228 ¥
I HEAT T 20% A H |
(A) 68.4

C)61.8

(B) 58.9
(D) 72.5

If the length of a rectangle is increased by 12%
and the breadth is decreased by 8%, the net
effect on the area is :

A T T F A 12% Tgn < et o e 8%
FH HI WG E, G AR T IS AT 3G WA 741 g ?
(A) increase by 3.04%/ 3.04% Bk

(B) increase by 2.6% / 2.6% @i 95

(C) decrease by 3.04%/ 3.04% =t Tt

(D) decrease by 2.6%/ 2.6% =t

If a% of 240 is c and % of ais 117.6, then the
value ofa+ cis:

A% 240 F a%, ¢ B dRa® Y%, L17.6%, Tatc®

oM g ife |
(A) 238 (B) 144
(C) 260 (D) 196

The sum of the number of male and female stu-
dents in an institute is 100. If the number of
male students is x, then the number of female
students becomes x%6 of the number of students.
Find the number of male students.

ot TR BT S STl A HE AR 100 ¥ |
1 x% T T | BT I T T\ L

(A) 50 (B)65

(C) 45 (D) 60

10.

11.

12.

13.

Find x, if 30% of 400 + x% of 70 = 25% of 536.
JTE 400 F1 30% + 70 T x% = 536 T 25% F T x W

T A |
(A) 20 (B) 30
(C) 10 (D) 40

In an election, candidate X got 70% of the over-
all valid votes. If 20% of the overall votes were
declared invalid and the total numbers of vote
is 640000, then find the number of valid votes
polled in favour of the candidate.

T T H, SHIEAR X 1 ol 98 7l 6 70% 79 Ao
Tfe ot Al % 20% Tl ® 319 Hifoa = @ m=n g 3N
Fl = oot AT 640000 T, 1 38 IHICAR % T H 7L e
Tl ki TOFT Y |
{A) 358400
(C) 400000

(B) 450000
(D) 358000

25
The value of 18% of 15% of 5 of 3800 1s:

- 25 ‘_,
3800 =% Y % 15% % 18% =1 A1 I1d L |

(A) 285 (B) 582
(C) 583 (D) 385
Each side of a rectangular field is increased by

10%. Then the percentage increase in the area
of the field is :

foRelt SR HeM & T g | 10% 1 ghs &1 =l
F e % G H g3 dfawa g ae Hife |

(A) 10% (B) 15%

(C) 18% (D) 21%

1f22% of x=30% of y,then y : xisequal to:

A X F22% =y 0% T, My : x TORE
(A)15:11 (B)15:14

(O17:16 (D)11:15

Il cach edge of a cube is increased by 10%, then the
percenlage increase inils surface arca is

3R U & Tk ®R A 10% &1 gig +1 S, 91 5566
TS GERel | ToRd wiea &1 ghg grti ?

(AY21% (BY19%

(C)22% (D)20%

[£40% of a number is less than its 60% by 30, then the
20% ofthat number is:

fe Faret T =1 40 %, TF 60% T30 F1 €, 9 s9 wEem
= 20% fFamEm ?
(A) 60 (B)40  (O)50 (D)30

Study Center : Jaipur » Gopalpura » Lalkethi » Jhotwara » Ambabari » Udaipur « Alwar



Mother's Previous Year Questions Booklet - Percentage

14,

15.

16.

17,

18.

19.

The length and breadth of a cuboid are increased by
10% and 20% respectively and its height is decreased
by 20%. The percentage increase inthe volume of the
cuboid is :

Tt TR T F A ST e wE: 10% $720% 79
< ST & SR THE g 20% T FH H S A E, @l

T4 % SATEAA H Afae i 7
. 1
(A) bg% (B) ag%
(@) :32% (D) Sgiy
©°3 °s

Two numbers are respeclively 23% and 65% more
Lhan a third number. The ralio of the Lwo nuunboers is:
= G, e HeEn o wmHE 25% AN 65% Aftw ¥ 1=

T HeEETSAT S SO 941 g ?
(A)25:42 (B)16:17
()y16:19 {DY25:33

Sachin scored 120 runs, which included 6 bound-
aries and 4 sixes, What percentage of his total score
did he make by running between the wickets ?

TR A 6 ST 4 TR %A W 120 T 5 | SE
F T F TR wivm T e % W <ieet | 2

b 4(!{ l(lu"

(C) 60% (D) 45%

3 4
A student multiplied a number with 11‘11stead of 3

What is the error percentage ?

- - ‘4 = = 3
TF B ¥ TF §em | 3 F A H T = | e

wierer ki oM
(A)59.67% (B)43.75%
(CY67.45% (D)39.24%

Rila's income is 15% less than Richa's income. By
whal percent is Richa's income more than Rila's in-
come ?
Tt o fEm 9 153% %9 8\ foar %t s Javst s 9
T i stferr € 2

A 15119_. B 1?11?, c 'I('H‘V D 14119_.

— — Y— o G0

If the numeralor of a [raclion is increased by 15% and
denominalor is decreased by 20%, then Lhe faclion, so

20.

21.

22.

23.

24,

25.

;
oblained, is a5 Whal is the original fraclion ?
afg fardi fa=t % siw & 15% =1 gfg =i ol & iy &

. [ [ [ LA = l? %
20% kI FHHT Rl TG €, T 59 TRR 9w =1 s BT E |

T e ?
oy 2L o 278 267 oy 272
M5 ®iges Orgs O ggs

Whal percenlage of the numbers from 101 Lo 1000
have 9 in the unil's digril ?

101 3 TR 1000 75 i Fenati # et wiaem densi |
TS W EF 9?2

(A)10% (B)12% (C)20% (D) 13%

68 is 25% ol which of the [ollowing numbers ?
68 f7e # & fopm w1 25% & 7

(AY272  (BY285 ()24 (D) 136

Malli boughl a TV for 8,800 including GST al 10%.
Whal is Lhe original cosl ol the TV ?

A 7 10% GST /e T8,800 TV @lian 1 TV =i g4
T T |

(A)T 8,000 (B)T 8,800

({O)T7,920 (D)% 9,600

Ravinder invests ¥ 3,750 which is equal to 15% of his
monthly salary in a medical insurance policy. Later
he invests 25% and 8% of his monthly salary on a
child education policy and mutual funds, respec-
tively, The total amount left with him is:

e T Hiewer geanw et # T 3,750 = frew wwm
%, it i 59 Aws 997 15 % § 1 T AR 9 oI
HITEeh S 1 25% ST 8% FHo: W =rer fanaq wifes i
BgAd e § FEw #Ra ¥ IWE UM A= Fa afa
®:

(A)T 15,000 (B)T 12,000

(O)38,000 (D)3 13,000

Richa invests in mutual funds a sum of ¥ 5,539,968,

which is 19% of her annual income. What is her
monthly income ?

o Tgere e T5,59,968 Tt 90T AW wdt |, o
T AN S 1 19% & | S5 A1 o379 e g ?
(A)T 4,435,600 (BYT 1,45,600

(C) % 3,45,600 (D) T 2,45,600

Bala decided to donate 10% of his salary to PM Care
fund. On the day of donation, he changed his mind
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and donated T 1,800 which was 60% of what he had TS EU I Y | 95 9 oT= WAl § W §5% F1 9= A e ofR
decided earlier. How much s his salary ? 279t ot T T 405 T YR A R £ | YN ST T
ART A ST T W 10% WA, FR e H T e W™ s w62

Fofer ferm | form fet = < en v ww fe e ferm (A) 3500 (B) 3000

Ao o= AL ¥ 1,800 = T To, ﬁmmmﬂ%ﬁm (C) 2500 (D) 2000

e mw:ﬂ 60% =1 | eI o PR & 2 27. A reduction of 20% in the price of sugar en-
(A)T 36,000 (B) 32,000 ables a purchaser to obtain 4 kg more for T160.
()T 30,000 (D) 40,000 The original price of sugar per kg is :

26. A shopkeeper has cerlain number ol apples of which ==t =l Ea H 20% F FH B R IT160 H 4 Fwm =
10% are found Lo be rollen. He sells 85% of the re- SR WM Bl %, 1 = o wia Twm ereieen o4 T
maining good apples and slill has 405 good apples. Fr—

How many apples did he originally have ? (A) T 12 (B) T10
Qﬂ?gﬁhl"lql{a'?w Ir:1lri"={d H‘Mlﬁ@a%, ﬁﬂﬁ"@l’lﬂ%@a (C] T 14 [D]? 15
Solution
) . 95 ) 6. (A) ATQ
1. (B) % Required = 195 100 = 20% <
100 x —— =100 -x
1 3 1 100
(B) 11760 x EXng—QEM x=50
(A) Let number = x 30 4 % 5 25
o xo = s 7 A 800X 5 70X 1567930 " o0
A x=20
228x3 8. (A) 100% — Total votcs
H0% — Velid voles
20 T0% \30%
So, 20% of x=342 x—— =68.4
100 50% 24%
4. (&) 12%-= 23_5 . 8% = 22_5 Number of valid votes in favour of the X
640000
25 28 = ——— x 56 = 358400
25 23 100
625 644
25 15 18
. 3800 x —xX—x—— =
_ (644 -625) 9 A 9 “100 ‘100 _2%°
% Increase = 625 *x 100
AB
=3.04% . A+B+—
6 10. (D) 00
a
5 (A 240« =c
100 10+104 12219
100
a_>5 = ol
- T 12 L0+ 10+1=21%
Leta=5x,c=12x 22x 30y
ATQ 11.(0) 766 ~ 100
12
5xx o2 =117.6 x _15
100 =711
x=14 Y
atc=17x=17 x 14 =238
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20.(A) 9 as unit digit from 101 to 1000

10 x10
12. (A) % Change =10+ 10+ 100 =21% =10x9=90
13. (D) ATQ 60% —40% =30 o - 20 100
( ):\, SINOLON o= 5og X100=10%
14. (D) Initial Final 21.(A) ATQ,
Length 10 11 95
Breadth 5 6 XX——= 68
Height 5 4 100
Volume 250 264 x=272
8800 x 10
S0 % Increase = 550 x 100 22. &) 100
= 800
_ 530, Real value = 8800 — 800 = 8000
5 23. (D) 25% +8%=33%
15. (D) Let third number = 100 Remaining 100 - 33 = 67%
So first number = 125
Second number = 165 @ 67
Required Ratio = 125 ; 165
=25:33 = 16750
- 120 -6 x4 — 4%6 Remaining Amount = 16750 - 3750
16. (C) % Required = 190 »100 = 13000
60% 24. (D) 559968 x 100 1
17. (B) LCM of Denomiters of fractions (4, 3) = 12 19 12
Let the number is 12 = 245600

3 25. (C) Let Salary = 1000
Zth of the number =9

10
Want to pay in PM Fund = 1000x ——= 100
4 100
grd of the number = 16

! = 1000 x 100 - 60
Error percentage = 16 x100=43.75% = 60— 1800
1—30
.15 11, 1000 — 30,000
18. (B) %Required = g2 x100=17-2% 26. (B) Let, Apples are = 100
p:8 _ 90
19. (D) Let the fraction is v Good apples= 100 x 1= =90
AT
Q 90 x 15 13.5
115 100
) 80 g 1— 30
Y*1oo 100 — 3000
0
23x 17 27. (B) 160 «x 100=?32—4kg
loy 65 78 —1kg
x_ 272 1 4 -8
y 1495 20%=5=% 110
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SSC CHSL - 2018

A man spends 72% of his income. [f his income
increase by 28% and his expenditure increases
by 25%, then what is the percentage increase
or decrease in his savings (correct to one deci-

mal place) ?

T, ST STOHT 3T 1 72% T = & | Af% 56 o |
28% it Ff5 Tt ® o S @ H 25% w IS BT R, Av
& 999 | wiova g @ wH (T svees dE T
g ) TG ?

(A) 26.9% decrease /FHT

(B) 38.4% increase /ag7

(C) 35.7% increase /&M

(D) 26.3% increase /H1 g1

A is 20% more than B, B is 25% more than C, C

is 60% less than D and D is 20% more than E.
Based on the above information, which of the

following is true ?

A, BE20% AMF T @B, C ¥ 25% o1 ¥ | 35 wem
C,DT60% FAE D, E T 20% sTawE)

TR E T SRR % ATER, fefafad § 9+ agi g ?
(A) D is 60% less than B/D, BH 60% FA & |

(B) E is 28% more than A/E, AT 28% sfrm g
(C) Ais 40% less than D/ A, D ¥ 40% FA £

(D) Cis 24% lessthan A./ C, A¥ 24% ®A &

In a constituency, 40% of the voters are senior
citizens. 40% of the senior citizen voters are
illiterates and 25% of the non-senior citizen
voters are literates. By what percentage is the

number of literate senior citizens voters less
than that of illiterate non-senior citizen vot-

ers ?
ol fat=m €5 ° 40% Heagm, Jiiss Aries € | 9w
AR wAamEel # ¥ 40% PR € ot 25% gt
AICF AOeEl We © | feer f-afte T aagmedt
Sl T H e T A Aaerareii i S fea wfovd
FHE?

(A) 40

" 2
(B) 48 (C)50 (D) 463

Anu spends 90% of her income. If her expendi-
ture increase by 25% and savings increase by
30%, then by what percent does her salary in-
crease ?

T STIAY 3T 1 90% T4 Tl & | 7R S0 T4 25%
WE WA T S AT 30% 9g W § 91 SEeE gan o e

ufaed i Fhg g & ?
(A) 25.5% (B) 24%
(C) 22.5% (D) 20%

5.

Sudha spends 80% of her income. When her
income is increased by 30%, she increases her

expenditure by 25%. Her savings are :

[T ST 8T T 80% T FIE & | I AR & 30%
=g W & T AT ST @E 25% A1l & | TTk! I U
(A) Increased by 5% /5% &1 315 g3

(B) Decreased by 30% /30% = % €178 |

(C) Decreased by 5% /5% i 1 &1 75 |

(D) Increased by 50% /50% =1 {5 53

The price of a commodity is increased by 36%
and the quantity purchased is decreased by

30%. What is the percentage increase/ de-
crease in the amount spent on the commod-

ity?

Tt o = A | 36% i 915 52 TR FA FI T A A
30% i ¥ g2 | %, TR =9 i 5 U H foram fawm =t
g MFATgE R ?

(A) 6% increase /6% T3

(B) 4.8% increase/4.8% 35

(C) 6% decrease /6% FHi

(D) 4.8% decrease /4.8% Tt

Aman gets a discount of 30% and then 20% on
his food bill of ¥ 1,250. How much amount does
he has to pay ?

T =R ST HISH % T 1,250 % fad W 30% iR firm
20% Tt TS T FATE | TH A A F=1 TS 2
(A)T700 (B) ¥ 550

({C)¥ 350 (D) ¥ 500

Sudha decided to donate 12% of her monthly
income to an orphanage. On the day of dona-
tion, she changed her decision and donated a
sum of ¥ 4800 which was equal to 80% of what
she had decided earlier. What is 27% of her
monthly.

T A ST AT AT 1 12% TRl ST 1ere =l 31 %
=1 T T | 5 %6 Totw, S8 3o et =ee faan 3i
T 4800 =T T T =, N TTF 51 Tl a9 Tl T WA F
80% ok =IE o1 | SHET HITGok 3T 1 27% FTE ?

(A) T 13959

(B) ¥ 11934

(C) T 14040

(D) T 13500
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10.

11.

12.

13.

A number is increased by 30%, then decreased
by 25% and then further increased by 25%.
What is the net increase/ decrease percent in
the number {correct to the nearest integer) ?
T WE § 30% ¥ 95 5%, T 25% Tt FHt 218,
25% =t 15 53 | Tem § e wiivm %t s Ihey
(Trream o #) g3 ?

(A) 22% decrease/22%

(B) 22% increase/22% gf§

(C) 21% decrease/21% FH!

(D) 21% increase /2 1% 3fs

Aman gets a discount of 30% and then 20% on
his food bill of ¥ 1,500. How much discount, in
rupees, did he get ?

U St S e w6 T 1,500 % et 7 30% 3 firx
20% i T2 TI A1 & | 56 571 H ot T 11 52 Tl G5 7
(A) 700 (B) 360

(C) 660 (D) 500

A number is decreased by 30%, then increased

by 30%, then further decreased by 10%. What
is the net increase/ decrease percent in the

number (correct of the nearest integer) ?

W S H 30% & FH g3, TR 30% # 9fe 18 SR i
SR 9 10% 1 A 7 | e frad vi T
ofs et (Fraees qotw ) 75 7

(A) 18% increase/ 18% =i 3f5

(B) 19% decrease / 19% = =t

(C) 19% increase/ 19% =t ats

(D) 18% decrease/ 18% i &H1

A number is decreased by 30% then increased
by 30%, then further increased by 30%. What
is the net increase/ decrease percent in the
number (correct to the nearest integer) ?

T W H 30% W wA R, TR 30% W Al g, R
ST 30% #9572 | Hen § fr e s gty
¥y (Frapes urtes @ FEY) g 7

(A) 18% increase / 18% ! 95

(B) 18% decrease/ 18% = =t

(C) 19% decrease/ 19% =t Tt

(D) 19% increase/ 19% # af5

A number is increased by 30%, then decreased
by 30%, then further decreased by 30%. What
is the net increase/ decrease percent in the
number (correct to the nearest integer) ?

forelt Hem H 30% i 915 83, 'R 30% =i &1 g3, fRe

14.

15.

16.

17.

18,

19.

AR 30% i F gE | e H fran nievm w1 Ity wAt
(e o= o =t) g2 7

(A) 40% increase/40% %1 97§

(B) 36% decrease /36% &l &HI

(C) 36% increase/36% % 75

(D) 40% decrease/40% %t

Two students, A and B appeared for an exami-
nation. A secured 8 marks more than B and
the marks of the former was 55% of the sum of
their marks. The marks obtained by A and B,
respectively are :

%1 foreneft, A ot B Pt Wism R e gm I AT B ¥ 8
55% o1 A +1R B 570 W4 o7 A €

(A) 44, 36 (B) 36,28

(C) 38,30 (D) 40, 32

If x% of y is 150 and y¥% of z is 300, then the
relation between x and x is :

A v T x% 150§ SRz 7 y% 300 %, @z F o= =
TagE

(A) z=x B)z=
[C)z=% (D) z= 2x

If each side of arectangle is increased by 22%,
then its area will increase by:

afe gt st =t T o= A 22% e A, 91 THER

gl | Jfg gpt:
(A) 44% (B) 50%
(C) 46.65% (D) 48.84%

The sum of salaries of A and B is ¥ 43000. A
spends 95% of his salary and B spends 80% of
his salary. If their savings are the same, what
is A's salary (in 3)?

A 3R B % A1 =1 A@rmeEet T 43000 # 1A S A
95% &= A1 & 3 B 3T 347 w1 80% HH AT 7 |
7 S A= T R, 9 A g (T H) P 2

(A) 10600 (B) 8000

(C) 35000 (D) 34400

If each side of a rectangle is increased by 13%,
then its area will increase by:
AT TRt ST =l T o0 =1 13% g/ 91, a7 T9F

B H T T 2
(A) 21.69% (B) 13%
(C) 27.69% (D) 26%

The sum of the salaries of A and B togetheris?
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20.

21.

22,

23.

24.

25.

43000. A spends 95% of his salary and B. 80%
of his salary. If now their savings are the same,
what is B's salary (in 3)?

A #R B ¥ 3 = A T 43000 ¥ 1A ST daT #
95% &= T € A B T 47 1 80% WA FATE |
o791 Afs I A=A AR, q B = o (T H) PR E 2
(A) 8000 (B) 34400

(C) 10600 (D) 8600

If each side of arectangle is decreased by 13%,
then its area will decrease by :

A T i TAF 9 13% FH ¥ ST AW, Ao TER

ST TRaA W9 A B S 2
(A) 26% (B) 21.69%
(C) 13% (D) 24.31%

The sum of the salaries of A and B togetheris ¥
45000. A spends 85% of his salary and B, 70%
of his salary. If now their savings are the same,
what is B's salary (in3) ?

A 31 B % 4 F1 AT 45000 § | A 37 37 H 85%
AR B ST < =1 70% @ ol € | Tfe a19 SRt a=i
IFE, A1 B w S (X H) g ?

(A) 30,000 (B) 18,000

(C) 12,600 (D) 15,000

The sum of the salaries of A and B is ¥ 42000.
A spends 75% of his salary and B spends 90% of
his salary. Now their savings are the same.
What is B's salary (in 3)?

A SR B F Imw A T 42000 § 1 A 3T 30 = 75%
#iR B 417 307 1 90% @ F4 € | A% o790 3T T
T E, 9 B 1 30w (T H) w2

(A) T 18000 (B) ¥ 12600

(C) ¥ 15000 (D) T 30000

If each side of rectangle is decreased by 11%
then its are will decrease by:

e S B qed® g 119% +H9 &L < S, Tl SEH
&erre fapam wfrera 9 g1 sem 7

(A)21.69% (B) 20.79%

(C)13.13% (D) 26.78%

The sum of the salaries of A and B is ¥ 42000.
A spends 75% of his salary and B spends 90% of
his salary. Now their saving are the same. What
is A's salary (in )

A SR B F I H AT 42000 § 1 A 3T 3T 75%
ST B 3T 31 F1 90% W&+ FI@ S | 318 T 990 T
F o SR T W e | AT o (TH) TR ?

(A) 18000 (B) 12000

(C) 30000 (D) 15000

If the length of a rectangle is decreased by 11%

26.

27.

28.

and the breadth is increased by 11%, its area
will undergo.

Tfe 3TEd = T 1% 9 L < ST 991 5HHT SeE o
11% it gla i A T 5% %A H 371 ToE 787 7

(A) 13.13% increase /% 37§

(B) 1.21% increase /% 95

(C) 13.13% decrease /=t 7t

(D) 1.21% decrease /= FHT

For an examination of a practical based sub-
ject, the total marks is 100. The break-up for
theory. project and viva voice is 40%, 30%, 20%,
10%. A candidate scored 80% in theory, 70% in
practical, 60% in project and 50% viva voice.
What was her aggregate percentage?

SRR REET v i | quiE 100 2
Hifeer—iten, =AmwTeR-wda, TREAT - &R Hita-
T 2 ST 1 e e 40%, 30%, 20%, 10%
T | fordll SeieAR 3 Hgifasr—aien § 80%, TRk
H 70%, aiEsT-%E F 60% i difgs-adean § 50%
3T AT TR0 | SHHR Ta STl Weera = o7 2

(A) 70 (B) 72

{C) 68 (D) 67

Price of tea has increased by 20% but I have
decided to increase my expenditure towards tea
by 15% only. By what percentage should I re-
duce my consumption (correct to one place of

decimal] in order to be able to maintain the
same level of expenses towards tea?

=1 it A 20% # giE ge ¢ aifed #7 = % fog
31T T Rl el 15% 9™ 1 el Tar | = % fog
T % A T A WA H T e e qE et
TG (TSI ¥ UE T TF) H e wfrvm w= e owen

ey ?
(A) 5.4 (B) 4.2
(C) 5.6 (D) 4.8

The price of sugar got raised by 23%. To main-
tain the same level of expenses on sugar, a
person reduced the consumption of sugar by 4%
and also increased his expenditure on sugar
by x%. The value of x is:

=1 o Hod H 25% =i gl g2 | T4 T = 1 981 w1
T T % 70, Uk i3 =1 379 SUsT | 4% ki AT
T ST A T ST A H x% T A FL A | x FAE

FNE?
(A) 19.5 (B) 21
(C) 20 (D) 18.75
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29. Arectangular portion of an airport runway was (A) 57.8% (B) 66.7%
getting repaired for which an estimate was (C)64.5% (D) 62.5%
made on the .basm ofarate ¥R per square unit. | 3y por a number greater than one, the difference
But while d. thi k. the length of th -
ut while domg the wor o ¢ length ol the por between itself and its reciprocal is 20% of then
g?n (g)ot mcegasbed b{hio /:_)hand the brf}adth by sum of itself and its reciprocal. By how much
0. Over and above this, there was an increase . :
in the cost of the repair, work to the extent of percentage (nearest to an integes) is the square
15%. What was the overall percentage increase ng{he nnﬁun"ibeI: 16;:%1311 ltS. Fuz%
in the cost of repair over the estimate? . ast ; . . ?Rir R S O%WM, F
T 7O SR S T 5 U STEAERR T S A S L, SH HEA AN FHH FShH F FARTRA 1 20% T | HJ2Z
& oft, Forran for = 7 e T R Wi o S A an ER Tiw’ 59 el A fopad wiaed (gt % )
SR TR TR 7o o | g, e T e, S S w e W%’?O .
10% siit e 8% =1 €1 8 | v it W [lé) :flf-j, 7o [[B>] \};;
A E 15% A gE A e A E e | 00 OP
: : ~ P s SIS . e price of petrol is increased by 24%._ A per-
%Ad;zz‘éj PR TR F B QES R son wants to increase his eqpenditure by 14%
(C] 3,_;y ° (D] ;5'24; only. By what percentatge (correct to one deci-
() 33% (D) 35.24% mal place), should he decrease his consump-
30. With reference to a number greater than one, tion in order to maintain the same level of
the difference between itself and its reciprocal expendiute?
is 25% of the sum of itself and its reciprgcal. AP F AN 24% FH s TF & | T =AfR T =
By how much percentage (correct one decimal - 149 2| =R b =
place is the fourth power of the number greater ' \E & A z i = ‘. :
than its square)? @ T e sueim i P wfiee (geme ¥ T
1% gt fordt g % Heed o, 38 9o 3R 759 Sgohd TN TE Tel) FH FH AT 2
S, T9 WA ST THF T[ORT % ANTRC 1 25% ¥ | 39 (A) 8.3% (B) 7.9%
T =01 B Wi, 595 o7 § T gfaee st 2 ? (€) 8.1% (D) 7.8%
Solution
1. {(C) Let initial income of men = 100 12
% —_ = 0,
ATO, /’38__‘-\ = 39 x 100 = 40%
Income 100 128 3. O A i 40% = 2
EXW&V. Exp. Sav. - (D) Asweknow, 0= 5
72 28 90 38 = Let total number of voters = 5
- . = Senior citizen = 2
5/4 Ex’] 00 = Non senior citizen = 3
28 2 4
= 35.79%7T = Senior citizen illiterates = 2x 575
2. {C) Given n _ 6
A:B=6:5 B:C=5:4,C:D=4:10 = literates = 3 9
10 = Non senior citizen illiterates = —
D:E=10: —x2 Presenting this information in tree dia-
6 (=
. , gram
Merging all these ratios 5 Total
A B C D E
10 2 3
6 5 4 10 x5 VA NYAN
18 15 12 30 25 % 2 6 9 ax 1
Options (C) — Ais 40% less than D 5 5 4 4
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E
5 % 100

Percentage less = 9
4
2 : 2
- 2002220 180 g2y
9x5 3 3 3

Let income of Anu = 200
Presenting other information in the form
of tree diagram

200 > 225+26=251

Exp. Sav. Ex N\»
180 20 225 26
1 30%
il

= Income of Anu increases from 200 to 2351
200 — 251
= Percentage increase in income =

51
—x 100 =25 5%
500 25.5%

Let intial income of Sudha = 100
Presenting other information in tree dia-
gram

100 >130
EXNV. Exp. Sav.
80 20 100 30
5 10 .
n — x 100 = 50%
4 20 °
100 —2 570 2% 4952
= decrease from 100 to 95.2
= 4.8%
ATQ,
70 80
W —— =
1250 100 100 700
According to question
b £X2 = 48000
% 700 100
Here x is the monthly income
_ 48000000
~ X7 2x80
2748000000 27
5100 T T12x80 100 7

9. (B)

3
30% — —

1
5(]// —
0 %o

10 13

Ha e
s

Cad | 1

32 9

[

7
= Y x 100 = 22%

30x20
100
=50-6= 44%

10. (C) 30 +20-

100
30%7T
10 7
10 13
10 9

= 1500 % =660

11. (D) 30%7 10%7T

1
25% — I

1000 819

~__ 7
181

181
Vo= 2= %100 = 18.1%
¥ 1000

3
30% — ——

12. (A) n

10 7
10 13
10 13

1000 1183

x100 = 18.3¢
= 1000 18.3%

3

13. (B) 30% —
10 13
10 7
10 7
1000 637
= 363 00
1000
= 36.3%!
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14. (A)

16. (D)

A B

x+8 X

X+ 8= (2x+8)
100

20x + 160 =22x+ 88
2x=72

=x=36
A—44 B - 36

> _ 150
® —— =
Y7 o0

T

=
100

z =300

“T

=7
100

Zy = 2v X
z=2x

Xy X X
5 X
z Y7100

11

or =

22% 30
S0 &1
S0 &1

2500 721

. . 1221
% Increase in area = 5300
e

A — x (Income)

X3

100
B — (43000 - x) Income

— Saving

(43000 —-x)
5

Acc. to question

— Saving

X _43000—x
120 5
% = 43000 - x
—x = 172000 - 4x
= 5x = 172000
— x = 34400

13x13
100
26+ 1.69=27.69%

13+13 +

#7100 = 48.84%

19. (D)

20. (D)

21. (D)

22, (D)

A — x (Income)
Saving | 3%
5 (43000 —x)

X— =
100 >

X 43000-

20 ]
x= 172000 -4x
5x=172000
=x= 34400
= B =43000-34400
= 8600

13%4 1Y

100 87
2431%

A
45000 -x

15%4

72.69

Saving

(45000= %) x > = xx—0
100

45000 —x = 2x

x = 15000

A B

l25 %

(42000-x)

4 10
210000 - 5x = 2x
= 7x = 210000

x = 30000

llO %

11% —» -
77100

100
100
10000

89
89
7921

Required Percentage =

20.79%
A B
X 42000 -x

1 25% L10%
X (42000—x)

(Salary)

4 10
Sx = 84000 -2x
7x = 84000
x= 12000

B — 43000 -x
4 20%

X

B
x  (Salary)

3%

100

Savings

2079

———x100
10000

(Saving)

Acc. to question
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25. (D)

27. (B)

28. (C)

29. (A)

30. (B)

11{-11)
11-11+
100
A
100

= 1.21% decrease

100
T v

P
40 30 20

LSO % 170 % 160 %

Tolal= 32 + 21 + 12 +

10
lSO %
3

=70

=70%
100 - 120 -5 115
5

= —x100 = ~ 4,29
120X 4.16 ~4.2%

100 —— 125 —5L 5120
2%

1 2 3
9, — ) i G, i
10/6—)10 8/6—)25 15/0—)20

10 11

25 27
1831

20 23 .
™ = —X100 = 36.62%
5000 6831 2000
1331

5-3)

9 3

Req. Perc. = (5]
3

5)
)

x 100

X100 _

2
= ix 100 =66.7%

1 1
31. B} a-—=20% (a+_—J
a ]

. 3
a—zﬁ

252 iAE
- 55 & 10

16.62%~ 17%

100 — 124 — 114
10

. 10
Required Percentage = 1 100

=8.06% ~ 8.1%
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SSC CHSL - 2017

Exam Date : 7 March, 2018

Exam Date : 7 March, 2018

Exam Date : 8 March, 2018

Exam Date : 8 March, 2018

Exam Date : 8 March, 2018

* Shift : |

90% of X = 40% of Y and Y = a% of X. What is
the value of a?

XTFO0% =Y F40% aNMY = X Fa% &l a® A=

FNE?
(A) 225 (B) 125
(C) 2.25 (D) 1.25

* Shift: Il

[f price of oranges is increased by 30%, then
a person can buy 12 oranges less for Rs.208.
What is the original price (in Rs.) of an or-
ange?

7% WAl T T 30% W Ag I §, /1 TE = 208 T
# 12 " w0 Tl T ¥ | TR W A i e
(T ) T ?

(A) 2 (B) 4

(C) 8 (D)3

* Shift : |

[f the edge of a cube is increased by 10%, then
what will be the percentage increase in its
volume?

=fe TF 5 FT YO A 10% T qE@E o 2, 9 S

SR R wiem & Ats s 2
(A) 30 (B)31.3
(C) 136.1 (D) 33.1

* Shift : Il

Length and breadth of a rectangle are in-
creased by 40% and 70% respectively. What
will be the percentage increase in the area
of rectangle?

T ST Tl TFaTs a1 ATSE W FHE: 40% a0 70%
W A TN T | ST e W PR wiawE F JiE
TR 2

(A) 118
(C) 138

(B) 110
(D) 128
o Shift: 1l

If A =400 and B = 600, then A is how much
percentage less than B?

Tfe A= 400 79 B = 600 ¥, @ A, B | fra=n wfeom

FAE?
(A) 50 (B) 66.66
(C) 33.33 (D) 25

10.

11.

Exam Date : 10 March, 2018

Exam Date : 10 March, 2018

Exam Date : 10 March, 2018

Exam Date : 11 March, 2018

Exam Date : 11 March, 2018

Exam Date : 11 March, 2018

* Shift: |

If P =350 and Q = 600, then P is how much
percentage less than Q?

afg P = 350 w2 Q = 600 ¥, @ P, Q ¥ Fa wfagm
T ?

(A) 41.66
(C) 71.42

(B) 58.33
(D) 35.33

* Shift : 1l

If 35% of A is equal to 60% of B, then what is
the ratio of A and B?

Atz A 1 35%, B % 60% % 90 g, 91 A9 B #

S FNE ?
(A)8:13 (B)12:7
cj2:3 (D)13:7

* Shift : 11l

IfU = 450 and V = 5385, then V is how much
percentage more than U?
A% U =45070V = 585, @1 V, U ¥ e wfawma

e % ?
(A) 130 (B) 23.07
(C) 25 (D) 30

* Shift: |

The population of a twon is 350000. It in-
creases annually at the rate of 20%. What
will be the population after 2 years?

ek TR w1 SHEE 350000 & | 98 Wiaas 20% &1 &1
T TEAT § | 2 T I, SIS 4 S 2
(A) 490000 (B) 497000
(C) 504000 (D) 508000

e Shift : 1l
IfR=97 and S = 155.2, then S is how much

percentage more than R?
AR R =97 AW S = 155.2 %, @ 8, R ¥ FFa whrem

s % 27
(A) 60 (B) 37.5
(C) 58.2 (D) 48

* Shift : 11l

If 25% of X is equal to 40% of Y, then what is
the ratio of X and Y?

I X 1 25%, Y F 40% = a0at ®, @ X a0 Y =

S FNE ?
(A)8:5 (B)5:3
(€)9:5 (D)4:5
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12.

13.

14.

15.

16.

17.

18.

Exam Date : 12 March, 2018 e Shift : |

The population of a twon is 200000. It in-
creases annually at the rate of 10%. What
will be the population after 2 vears?

TF Tt I e 200000 T 17 ¥iEm 10% Fi ™
At | 2 o qIeE S e ?
(A) 240000 (B) 242000
(C) 221000 (D) 244000

Exam Date : 12 March, 2018 » Shift: 1l

Which number is 30% less than 80% of 8007
I T 800 % 80% T 30% FAE ?

(A) 524 (B) 192

(C) 448 (D) 368

If A% of Ais 196, then what is the value of A?
= AH A%, 196 %, AR AR FE ?

(A) 170 (B) 160

(C) 120 (D) 140

Exam Date : 13 March, 2018 * Shift : |

If v% of y is 289, then what is the value of y?
Gy Fy%, 280 F, Ay FAR FE ?

(A) 149 (B) 160

(C) 170 (D) 173

Exam Date : 13 March, 2018 e Shift: Il

[fP=5X and Q = X, then P is how much per-
centage more than Q?

ofg P=5X a1 Q = X %, °1 P, Q ¥ feher1r wfcrere atf¥rem

77

(A) 80 (B) 320

(C) 500 (D) 400
Exam Date : 13 March, 2018

* Shift: NI

What is the value of 53% of 74007
7400 % 53% = HH F1 T 7

(A) 4312 (B) 3478

(C) 3922 (D) 4124

Exam Date : 14 March, 2018 * Shift : |

What is the value of 30% of 125 + 45% of 3007
125 % 30% + 300 % 45% FIAH FE ?

(A) 165 (B) 172.5

(C) 155 (D) 163.5

19.

20.

21.

22.

23.

24,

Exam Date : 14 March, 2018 * Shift : Il

Two numbers are more than the third num-
ber by 16.25% and 35% respectively. First
number is what percentage of the second
number?

Tl HEE A He W wHE: 16.25% 791 55% e

¥ | Teet S g T R via € 2

(A) 85 (B)81.5

(C) 75 (D) 61.25
Exam Date : 14 March, 2018

* Shift : 11l

If 170% of a number added to 66, then the
result becomes equal to twice of the number.
What is the number?

A T W T 170% T 66 | SISt e €, 6 9o
TEA 3 ST A A B W | S

(A) 200 (B) 220

(C) 210 (D) 236

Exam Date : 15 March, 2018 ¢ Shift: |

If A is 40% more than B, then B is how much
percent less than A?

i A, B 9 409% 31 2, di B, A 9 o wiasm =4

27
(A) 28.57 (B) 40
(C) 33.33 (D) 66.66

Exam Date : 15 March, 2018 * Shift : Il

What is the value of 649% of 75% of 81007
8100 % 75% 5 6:4% 1 H 1 g ?

(A) 4212 (B) 3426

(C) 2916 (D) 3888

Exam Date : 15 March, 2018 * Shift : 11l

If the side of a square is increased hy20%,
then what will be the percentage increase in
its perimeter?

AT T AR GO 20% TGN AT, T TEF T

H fora=t witem =1 gfg 21 ?
(A) 20 (B) 40
(C) 100 (D) 50

Exam Date : 16 March, 2018 ¢ Shift : |

The income of a person is Rs.45000 and his
expenditure is Rs.33000. If his income is in-
creased by 22% and expenditure in increased

by 11% then what will be the percentage in-

Study Center : Jaipur » Gopalpura » Lalkethi » Jhotwara » Ambabari » Udaipur « Alwar
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25.

27.

28.

29,

Exam Date : 14 March, 2018

Exam Date : 14 March, 2018

Exam Date : 17 March, 2018

Exam Date : 17 March, 2018

W =T %1 3™ 45000 $9E & 107 S99 =99 33000
T E | 9SSR AA 22%, 9 S € aure=md 1%
T 9g @1 E, A AR T H R wiavm # Jha g 2
(A) 11 (B) 45.75
(C) 22.15 (D) 52.25

* Shift : 11

If A is 40% less than B, then B is how much
percentage more than A?

=fg A, B ¥ 40% %4 &, 1 B, A 9 e witem sifees

77
(A) 72.33 (B) 60
(C) 40 (D) 66.66

If the population of a town increases by 25%
in the first year and increases by 36% in the
second year, then what is the average rate
{in percentage) of increase in the population?
T T e T e TEa o § 25% T wEdt § a9
TN H 36% WG &, T oEen 7 gty i ofws |

(wftom &) FnE 2
(A) 26 (B) 30.5
(C)31.66 (D) 35

* Shift: 1Nl

If 60% of a number is added to 60, then the
result is equal to the number itself. What is
the number?

= T WA F 60% T 60 § W o 2, qt aform
e HOAl ok S T € | HeT 1 7

(A) 150 (B) 120

(C) 100 (D) 180

* Shift : |
[fprice of the table is increased by 25%, then

a person can buy 25 table less for Rs. 25000,
What is the original price {(in Rs.) of the table?

=i T 1 o1 25% A TGl 51 8§, 6 Uk =i 25000
*0 H 25 H9 9 @l T § | Hel H GRdtah god
(T H) g ?
(A) 225
(C) 200

(B)230

(D) 167

« Shift: Il
X and Y give an exam. Difference of their
marks is 45 and the difference of their marks

is 15% of the maximum marks. What is the
maximum marks for the exam?

30.

31.

32,

33.

Exam Date : 17 March, 2018

Exam Date : 19 March, 2018

Exam Date : 19 March, 2018

Exam Date : 19 March, 2018

X A91'Y ek I Sd € | S0 3Rl ol SR 45 § a1
I SRl h1 S AAfereRad 31k 1 15% € | e %

(A) 180 (B) 450
(C) 150 (D) 300

* Shift : 11l

Ifthe price of sugar is decreased by 18% then
a person can buy 16.2 kg sugar more for
Rs.4500. What will be the new price (in Rs.)
of sugar per kg?

7%+ = g 18% ¥ w0 e o €, @ =t
4500 T 7 16.2 fem. ==t siferw wlie wan € 1 =
I = e (F9E H ) wfa . @ g ?

(A) 40 (B) 60

(C) 45 (D) 50

« Shift: |
The income of X is 60% more than Y's in-
come and the income of Y is 40% more than

Z's income. X's income is how much percent-
age more than Z's income?

X T S Y T W 60% AR & asY =i 8% Z =
S H 40% ST T | X T o Z %t o1 | e viaee
iR T 2
(A) 134
(C) 100

(B) 224
(D) 124

* Shift : Il

The income of Rahul is Rs.60000 and his ex-
penditure is Rs.40000. If his income is in-
creased by 20% and expenditure in increased
by 15%, then what will be the percentage in-
crease in his savings?

TEE F & 60000 TR E 79 FHH =1 40000 T
¥ 199 S 9T 20% WA WE! § a0 ST = 15%
Y 9g W1 E, 1 SHb! o= | o wfawra wi ghs gt 7
(A) 30 (B) 5

(€) 15 (D) 25

* Shift : 11l

The value of a machine depreciates at the
rate of 20% per annum. Ifits present value
is Rs.96000, then what was the value {in Rs.)
of the machine 2 years ago?

ok HEl 1 Ged 20% i @it < 9 % g g | 9
TEH TEAM AeE 96000 T, q 2 o 7d Wi H
e (TRH ) T ?
(A) 138240
(C) 150000

(B) 134400
(D) 144000
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34.

35.

37.

38.

Exam Date : 20 March, 2018

Exam Date : 21 March, 2018

Exam Date : 21 March, 2018

Exam Date : 22 March, 2018

* Shift : |

Out of two numbers, 65% of the smaller num-
ber is equal to 45% of the larger number. If
the sum of the numbers is 2574, then what
is the value of larger number?

ﬁmﬁﬁﬁ@ﬁi‘m@laﬂ 65% ?wl?s""rlil@T‘;‘ﬁ 45% %F
A E | A Tl A 2475 €, 9 oS! W W e

FNE?
(A) 1521 (B) 1471
(C) 1641 (D) 1419

* Shift : 11

If a number is reduced by 35%, then it be-
comes 4 16. By how much percent should be
number be increased so that it become
876.8?

e W WA il 35% ¥ HEATSIAT 8, | 9% 416 B Sl
¥ | e = P wievm § wErn W, R ew 876.8 B

<y ?
(A) 33 (B) 37
(C) 34.2 (D) 38.4

* Shift: Il

Out of two numbers 30% of the smaller num-
ber is equal to 18% of the larger number. If
the sum of the two numbers is 840, then what
is the value of the larger number?

T TEmeT § B B wem wm 30% a9 e+ 18%
e T | af w1 =T 840 7, 1 S€ WAl % HH

FNE ?
(A) 545 (B) 507
(C) 515 (D) 525

* Shift : |

The difference between 44% of anumber and
339% of the same number is 286. What is the
54% of that number?

T EEH % 44% TR 4 H5 % 33% % F19 R AW
286 ¥ | 39 S 54% FNE ?

(A) 1564 (B) 1404

(C) 1456 (D) 1304

In an exam, 87% students passed and 2093
failed. What is the total number of students
appearing in the exam?

T T H, 87% 9 SHI0 g4 ¥ 9u1 2093 T S
g0 T | TN | sufterd B At S e Hem R 2
{A) 16100 (B) 14007

(C) 15200 (D) 18200

39.

41.

42,

43.

Exam Date : 22 March, 2018

Exam Date : 23 March, 2018

Exam Date : 23 March, 2018

Exam Date : 23 March, 2018

* Shift : 11l

In an election hetween two candidates, the
winning candidate got 70% ofthe valid votes
and won by a majority of 9000 votes. If out of
total votes polled 90% votes are valid, then
what is the total number of votes polled?

T SO F AT BT T A B, iew et SEfgan
I A AT 70% TG W U E 991 9% 9000 7 F
AT W A E | TG T T FA TG B W Q0% T A
2, T BT T WG T e WA T 7

(A) 30000 (B) 25000

(C) 22500 (D) 27000

« Shift : |

The income of P is 50% more than Q's in-
come and the income of Q is 50% more than
R'sincome. P's income is how much percent-
age more than R's income?

P i 311 Q i 3™ W 50% AT & 9201 Q =i 3™ R 1
A T 50% ATk & | Pt 31 R &1 a1/ I e wfawm
At T ?
(A) 225

(C) 125

(B) 150

(D) 100

e Shift : 1l
If P is 50% less than Q and Q is 70% more
than 640, then what is the value of P?

A% P, Q H 50% FAT T Q, 640 A 70% Tom g, 7
PFIARFNE?
(A) 768
[C)618

(B) 544
(D) 448
* Shift : 11l

The difference hetween 66 %% of a number and
44%, of the same number is 275. What is the
64% of that number?

ek T T 66%% 3T SHT HE ol 44% % <i= 6 3L
275 % 1 39 T A 64% F T ?
(4) 800 (B) 840
([C)760 (D) 600
The value of a car depreciates at the rate of
15% per annum. If its present value is Rs

433500, then what was the value (in Rs] of
the car 2 years ago?

T T W HeR 15% Fi AHE L H FA A T A
TEE TEAE eI 433500 T § 71 2 99 74 M W
ea (T H ) T A ?
(A) 594200
(C) 563550

(B) 620000
(D) 600000
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Exam Date : 24 March, 2018 e Shift : |

Puneet scored 10% marks in an exam and
failed by 50 marks. If he scored 40% marks,
then he gets 25 marks more than passing
marks. What is the passing marks for the
exam?

T A T T H 10% &% W R qen 50 o 9
ST B1 TP | A e 40% &7 W\ FLAE, T 59 S
311 ¥ 25 ek 31k W 2id € | wiien & foru s s

44,

FNE?
(A) 250 (B) 200
(C) 150 (D) 75

Exam Date : 24 March, 2018 » Shift: 1l

Rahul's salary is 40% of Mohit's salary, if
Rahul's salary is increased by 60% and
Mohit's salary is decreased by 20%, then
Rahul's salary will be how much percentage
of Mohit's salary?

g I A Hifgd % a1 w1 40% T | =fe Tge w1 AT
60% | I A a1 Hifgd = a7 20% | ++ foa
W, T Uge T S Hited 2 Fae T R giee g 2
{A) 80 (B) 100

(C) 105 (D) 64

Exam Date : 24 March, 2018

15.

* Shift : NI

A has thrice as much amount as that of B
and B has 40% more amount than C. If the
average of the amount of all three of them is
Rs 1320, then what amount (in Rs) A has?

AFTEB AT NN E 920 B * 79 C ¥ 40%
st Tl € 1 =t AT =it i = sifem 1320 TS,

@ A % e ot ufe (mRr H) £ 7
(A) 2410 (B) 2520
(C) 2250 (D) 3240

Exam Date ; 25 March, 2018 * Shift : |

Weight of A and B are in the ratio 11 : 8. A's
weight increases by 40% and the total weight
of A and B increases by 30%. Whatis the per-
centage increase in the B's weight?

ATTBF 1] : 8 F I WA E IATIN40% |
1 2 UA A 7 BE S & Fol YR 30% A agm g | B

47.

% W H for e 1 9fs g8 # 2
(A) 10.25 (B) 16.25
(C) 12.5 (D) 18.75

* Shift : 11

If side of a square is increased by 60%, then
what will be the percentage increase in its
area?

=fe TF T F G A 60% T TEE I T, 6 T
gree ¥ fiFae wfaem = 3iE Bt 2
(A) 156 (B) 120
(C) 126 (D) 132

Exam Date : 25 March, 2018
18,

19,

50.

51.

S52.

53.

54.

Exam Date : 25 March, 2018 * Shift : 11l
If X is 60% more than Y, then Y is what per-
cent of X?

Afg X, Y H 60% atfm &, 91'Y, X o1 o wiagm & 7
(A) 37.5 (B) 62.5
(C) 44.4 (D) 66.66

Exam Date : 26 March, 2018 ¢ Shift: |

I£5% of (P + Q) = 20% of (P-Q), then Pis what
percentage of Q7

afg (P + Q) #1 5% = (P - Q) ®120% &, @l P, Q
o witera & 7

(A) 133.33 (B) 166.66

(C) 150 (D) 171.33

Exam Date : 26 March, 2018 e Shift : 1l

If the side of square is increased by 6% then
what will be the percentage increase in its
area?

=M o it O T 6% T TEE I, A TEE e

oA wiaera =it I1G S 2
(A) 13.2 (B) 12.04
(€) 12.12 (D) 12.36

Exam Date : 26 March, 2018 * Shift : 11l

60% of P= 50% of Q and Q =x% of P. What is
the value of x?

P %1 60% = Q & 50% 991 Q = P &l x% ¥ | X 1 °H
FNE?

(A) 130 (B) 120

(C) 140 (D) 80

Exam Date : 28 March, 2018 + Shift: |

Weights of two friends A and B are in the ra-
tio of 7 : 8. A's weight increases by 10% and
the total weight of A and B increase hy 20%.
What is the percentage increase in the B's
weight?

WA ATNB® IR 7 : 8 % ST{IT H 1 A T 49X
10% & 9ga1 g T4 A 991 B S &1 et IR 20% gl
Z1B % R H fFa ufara wi gfg ge g 7

(A) 28.75 (B) 11.55

(C) 32.85 (D) 24.25

If two numbers are 40% and 70% less than
the third number respectively, then second
number is how much percent less than the
first number?
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= 51 S, el S 9 wEa: 40% 991 70% FH €,
A IR T TEe W | fat wiaw wHE ?

TgA 1 o, fed AT d 50% Au® ¥ | 3z vga
2250 T T E, W S 5 W} 8% ¥, q Afea W

(A) 100 (B) 50 AT (T H ) G ?
(C)42.85 (D) 75 (A) 22250 (B) 24450
C) 26350 Dj 18750
55. Rahul's salary is 50% more than Rohit's sal- () 263 )
ary. If Rahul saves Rs.2230 which is 8% of
his salary, then what is Rohit's salary (in Rs.)?
Solution
5. (C) A=400
90 40
. e - B =600
1. A XX 1567V Too
200
x_4 600 1%
y 9 = 33.33%
6. (A) P=350
2= 150 Q=600
a= 225 = 250 x100
2. (B) Original Price = 10x 600
Increased Price = 13x =41.66
208 208 35 60
lox  13x 12 7 B AXT5TB 100
208 3 _ AR
x 130 B 7
4 8. (D) U=450
<= — V=585
10
135 <100
4 = a:0
Original Cost= — x10= 4 450
10 =30%
3. (D) Edge of cube increased by 10% .
20
100 9, C) P=350000 1+—}
=10+ 10+ — =21% © [ 100
100
2
21x10 _ E} _ 144
=21+ 10+ 100 =33.1 350000 [10 350000x 100
5 = 504000
4. (C) 40%= g 10. (A) R=97,8=155.2
58.2 100
7 = — ¥
TO% = — 97
10 =60%
o T N 1
10 17 - A X750 7Y Too
50 119
x_8
- 100 y o
50 =
X:y=8:5
=138%
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12,

13.

14.

15.

16.

17.

18.

19.

20.

(B] Present = 200000
After = 2 years

= 200000 [1+ HT
< 100

= 20000 x 121
100

= 242000
(C) Let
Number=n

— 8000 x 22 0
n 100 100

=64x7
= 448

D) A i—196
(D) 100

A*=19600
A=140

Yy _
(€) y* 1og =289
y=170

(D) P=5x,Q=x

4x
= — =100
X

=400%

C) 7400 53
©) 100

= 3922
30 45
(B) 125x 100 + 300 100
37.53+ 135
=172.5
(C) Let
Ist Number = 100
IInd Number=116.25
Illrd Number = 155

_ 100
T 116.25
=81.5

(B) Let Number = N

x100

N x 170
100

17N +660=20N
3N =660
N=220

+ 66 = 2N

21.

22.

23.

24.

25.

26.

27.

28.

29.

(A)

(D)

(A)

Let
A=100
B=140
40 100
140

=28.57%

75 64
8100 160 *100
= 3426
Perimeter is directly
Proportional to side

Change in perimeter = 20

(D) [ = 45000 —2%— 54900

(€)

E = 33000 —2— 36630
S = 12000 S, = 18270

6270
12000
=52.25
A=60
B =100

100

8 x100
60

= 66.66%

Successive [ncrease = 25 + 36 +

=61+9=70

70

Average Increase = ) =35

Let Number = N

0 +60=N
100 -

6N + 600 = 10N
4N =600

N=150
[ncreased by 25%

N =

= 25000 x

100
= 6250
6250

New Price = ? = 250

Original Price = 250><100—200
riginal Price = 77~

25x 36
100

45
(D) Maximum Marks = 15 x100 = 300
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30.

31.

32.

33.

34.

35.

36.

(D) Price decreased by 18%

8
= 48500 x 7= 810
New Price = o = 50
ew ce 16 .2
(D) x =224
y =140
z=100
124
= Too X100
= 124%

(A) I=60000 —="— 72000

E=40000 =15% 46000
S =2000 5,= 26000

6000

20000
=30%
(A) Let
M = Smaller Number
N = Larger Number
a5 45

M x —— =N x
100 100

M_9

N 13
2574

= —— %
22

x100

N 13

= 1521

88 20
(C) 1125 = 100 + 425 x 100
=900 + 85
= 1075
(B) Let
Number = N
_ 416
N= 65 x 100
N =640
=876.8 -640
= 236.8 x100 = 37%
640
(D) Let
Smaller Number = p
Larger Number =g

30 _ 18
P*To0 " 1100

p_3
q 5

OX5

Larg Number =

=105 x5
=525

37. (B) Difference = 44% - 33% =11%

86
Number = 11 x 100 = 2600
54% of Number
_ 2600x 54
100
= 1404
38. (A) Fail student = 100% = 87% = 13%
20093
Total student = 13 x 100
W
= 16100
39. (C) Total Votes = 100
Palled Votes = 90
90
Winner Losser
63 27
= 3000
G000
Palled Votes = ——— = 100
36
= 2500
40. (C) P=225
Q=150
R=100
= —5 100 =125%
100 ?
41 B =640+ 640 = Q
. B Q 100
=640 + 448 = 1088
b 1088
2
=544
42, (A) Difference = 66% - 44%
N 275 100=1250
= = = A
22
64% of N
= 1250 x o4 _ 800
' 100
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43.

44,

43.

47.

48.

19,

(D) Value of Presen car = N

5 _ 1_£ ’
433500 =N 00
= 433500 400
- 289

= 600000
(D) 10% + 50 = 40% — 25
30% =75
1% = 75
°” 30
10% = = <10
°” 30
10% =25

Passing Marks =25+ 50= 75
{A) Rahul Mohit
40 100

l—Q 0%

64 80

l+60‘%>

_ o x 100 = 80%
80 4]

(B) A=42x
B=14x
C=10x
66x=1320=3
X =60
A's amount = 42 = 60 = 2520

40
(B) 11K x —— + 8K x =19K =

100 100
440+ 8P =570
8P =130
P=16.25
(A) Increase in square area

60x60
100

=60+ 60+

=120 + 36
= 156

(B) x=160
y =100
100
" 60
= 166.66

x 100

30

100

50.

51.

52.

53.

54.

B) (P+Q)— = (P-Q) —

20
100 100

(P+Q)=4(P-Q)

P+Q=4P-4Q

3P=5Q

P s

Q 3
- 24100
3

=166.66
(D) Increase in square area

6x6
=6+6+ =12.36

100

60 _ 50
0~ 9 %100

D) P

TK= £+8K— i—151{ 29
100 100 100

70 + 8P = 300
8P = 230
P=28.75%
(B) Ist =60
[Ind = 30
[Ird = 100

30 100
= — x
60

= 50%
(D) Rahul Rohit
150 100

2250

Rahul's salary = x150

=128125

28125
150

Rohit salary = x 100 = 18750
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Some students (only boys and girls) from differ-
ent schools appeared for an Olympiad exam.
20% of the hoys and 15% of the girls failed the
exam. The number of boys who passed the exam
was 70 more than that of the girls who passed
the exam. A total of 90 students failed. Find the
number of students that appeared for the exam.
fafir= wpeii o e farenedl (e oieh A wiehaal) SiicifErs
wien H wther g 20% o i 15% weiwA wian |
STTEIO Bl T | VT S0 B S TAGHT T WA, T
I R STl TSRl ki GeE ¥ 70 s1feek ot | et 90
Tomnedt ST GO | OtaN ® W B At i v

14 RITeTd |
(A) 420 (B) 350
(C) 500 (D) 400

A sold a mobile phone to B at a gain of 25% and
B sold it to C at a loss of 10%. If C paid ¥ 5,625
for it, how much did A pay (in ?) for the phone?
A ¥ T Hioee FiF B w1 25% % oy e S B 959
C =1 10% =hl BT " == T 1 =ife C A 59 T F 5,625 =l
AT TR, A A S A T (T ) R e e e ?
(A) 5,100 (B) 5,000

(C) 4,800 (D) 4,500

The length and the breadth of a rectangle are
made to increase and decrease, respectively,
by 8% and 10%. What is the percentage in-
crease or decrease in its area?

ek AATIT ki I AR TSE H FH: 8% i gig AT 10%
F FH! W TE B | THE AR H U@ IS A FA
AT |

(A) Decrease by 1.8%

(B) Decrease by 2.8%

(C) [ncrease by 1.8%

(D) Increase by 2.8%

In a manufacturing unit, it was noted that the
price of raw material has increased by 25% and
the labour cost has gone up from 30% of the
cost of raw material to 38% of the cost of the
raw material. What percentage of the consump-
tion of raw material be reduced to keep the cost
the same as that hefore the increase?

ok Fei 5T H, Tw s T e A i
25% F MG FE ¥ TR o7 T Fo T I AR T 30% T
AEFL Tl AT T AET T 38% B TE T | FA TR HL
T fara wiTem o9 =01 S, a1fs @[ =i gie 9 78 &l

T % AT TG 9 T 7
(A) 20.7% (B) 25.5%
(C) 30.2% (D) 24.6%

5.

The price of petrol shot up by 5%. Before the
hike, the price was T 82 per litre. A man trav-
els 3045 km every month and his car gives a
mileage of 15 km per litre. What is the increase
in the monthly expenditure (to the nearest <)
on the man's travel due to the hike in the petrol
prices?

VAT H oA H 5% H G 53 | TG W T WA BT I
82 U T o | U STEHT Wi Wer 3045 TR # amn
A § TR SEEHT A AR 15 Tt T AGES ot £
TZIA % Hod H JiE o R 349 SR i A R Ry s
1t H1faas == (3 o) | foait i g0t 2

(A) 944 (B) 859

(C) 758 (D) 832

1% of a number A is 229 of a number B. The

number B is equal to 2.5% of a third number C.
If the value of C is 5500, then the sum of 809%
of A and 40% of B is:

TF W& A 1%,H@TB%22%%W%|H@TB,

T F&A C 3 2.5% o s & | 4fe C =1 7H 5500 7, 9
AR 80% 31 B % 40% =1 FrT P g 2

(A) 48 (B) 75

(C) 66 (D) 88

A person's salary was decreased by 50% and
subsequently increased by 50% and then again
increased by 100%. How much percentage does
he lose or gain?

T =Af o 909§ 50% i FH] T M A TG H 50% Tl
g5 75 3N R 100% =1 9iE 53 | =4 fhaet wfawa e =
T e 7 2

(A) Loss of 40%

(C) Gain of 25%

(B) Loss of 10%
(D) Gain of 50%

In a factory with 400 employees , the ratio of
the number of male employees to that of fe-
male employeesis 3 : 3. There are 87.5% regu-
lar employees in the factory. If 92% of male
employees are regular employees, then what
is the percentage of regular female employees?
400 FHH=ET STel Tk TaAd! H T&9 He = ohi oA =
Higen HH=1El & ST ad 5 ¢ 3 § | el H 87.5% Fafaa
AT E | A 923 THY R et e €, o frata

e wH=niE = afaee fra € 2

(A) 87.5% (B) 78%
(] (]

(C) 85% (D) 80%
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10.

11.

12.

13.

A spends 65% of his income. His income is in-
creased by 20.1% and the expenditure is in-
creased by 20%. By what per cent (correct to
one decimal place) does his saving increase or
decrease?

A ST ST T 65% T AT & | IHAT S H 20.1% I
i Tl & 3 == 7 20% i gia gt & | SH® a=a |
fore ufae (SvFeE % U wIH o 981) Jig o &+
BT ?

(A) Decrease by 18.9%

(B) Increase by 20.3%

(C) Decrease by 17.7%

(D) Increase by 21.5%

The base of a triangle is increased by 40%. By
what percentage (correct to two decimal places)
should its height be increased so shat the area
increases by 60%7?

T Y 3 oTam | 40% i I F1 T | AN T TR
vl (S¥¥e™ & T WFi 9% §920) 9g Sl 918y,
TR &7Fe | 60% i Jfg g1 <My ?

(A) 15.54% (B) 20.01%

(C) 14.29% (D) 18.62%

If positive number 'k’ when multiplied by 30%
of itself gives a number which is 170% more
than the number k', then the number k' is
equal to :

SATETE T 'k A SEE 30% | 1o P W@ e, |
T EE, k' ® 170% S Tt €, e kA 91

i |
(A)7 (B) &
(C)6 (D)©

In an election between two candidates, 5% of
the registered voters did not cast their vote.
10% of the votes were found to be either invalid
or of NOTA. The winning candidate received
60% votes in his favour and won the election
by 17271 votes. Find the number of registered
voters.

T IHIGAN ¥ W 9 ¥, Yol Aeme § ¥ 5% 3
3791 &2 7ET ST | 10% &2 91 9 3= 91 NOTA 11
I | e T TEHEAR T ST 98 H 60% 12 W fE
ST 17271 Dral & = San | Wi gasmett i W

T Fhifang |
(A) 100000 (B) 90525
(C) 101000 (D) 102500

A man started off a business with a certain
capital amount. In the first yvear, he earned 60%
profit and donated 50% of the total capital (initial
amount + profit). He followed the same

14.

15.

16.

17.

procedure with the remaining capital after the
second and the third year. If at the end of the
three yvears, he is left with ¥ 15,360, what was
the initial amount (in ¥) with which the man
started his business?

T = ¥ UF W gSit 2 WY TF S99 1E G
e T H, T 60% o4 1 i oft gt gt (wRfw
T + 70 T 50% T R Tomn | =e gt sin A e %
e 319 YT S T of =g sk SvATS | At o 9 ok 37T
W, 35 T T15,360 W9 w94 €, T S A | ST
=rEeTE TR AR e (T ) e yE e ?

(A) 20,000 (B) 30,000

(C) 25,000 (D) 32,000

Ais 120% of B and B is 65% of C. If the sum of
A, Band Cis 121.5, then the value of C-2B + A
is :

A, B# 120% & 3R B, C %1 65% T 195 A, B 3it C
I 121.5 %, 91 C — 2B + A 1 9F sEy |

(A) 14 (B) 35

(C) 24 (D) 39

A fruit seller sells 45% of the oranges that he
has along with one more orange to a customer.
He then sells 20% of the remaining oranges
and 2 more oranges to a second customer. He
then sells 90% of the now remaining oranges
to a third customer and is still left with 5 or-
anges. How many oranges did the fruit sller
have initially?

T ol Tasha fohat TTgek w1 317 19 Hieg ol |adl § §
45%, 3 wek el o=a1 & | TR o8 919wl & 20% 3R 2
T FER TR U i s § | TR o o= 5 Tl % 90%
St F | et forsk % W SR H frad wat & 7

(A) 100 (B) 111

(C) 121 (D) 120

A person's salary was decreased by 50% and
subsequently increased by 50%. By what much
percent does his salary increase or decrease?
T = F oA H 50% F = w T STARH 50% F
Jrg F1 7T | IEF I H PR wiawa i T A g & ?
(A) Decrease/ &5 18% (B) Increase/ 3fg 15%
(C) Increase/ 97§ 20% (D) Decrease/ i 25%

A percons's salary was increased by 30% and
subsequently decreased by 50%. How much
percentage does he lose or gain?

T oA % S A 50% i 915 58 S AR H 50% H
TFHT TE | SH TR TV g1 A €0 g2 ?

(A) Loss of 25% (B) Gain of 50%

(C) Loss of 30% (D) Gain of 20%
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Solution

(C) LetBoys=100x
Girls= 100y
Then, 20x + 15y =90 (1)
80x-85y=70 .. (11)
From eq. (i) & (ii)
145y =290
y=2
Girls = 2x100 = 200
Put the value in eq. (i)
20x+30=90
x=3
Boys =100 x 3 =300
Total Students = 300 + 200 = 500
2. (B A B C

4 5
10 9
- A B C
8 10 ©
ATQ,9 — 5625
5625
= 8- x8 =625x 8 =5000
3. B 1= 100 108
b= 100 a0
10000 9720
10000 -9720 280
9= ———— = =" x 100 = ——
Area 10000 100
2.8% drease
4. (D) RM= 100 125
Wages = 30 475
130 172.5
Yo = . X100 = BH%
Reduse 1725 246
5. (D) Monthly Travels = 3045
Mileage = 15
Petrol = 203 1tr
82 x5
Monthly expendifure — 203x 100

203 x4.1=832.3

6. (0) La=;b

B=10A
B=2.5x55

o ><—+—>< o
- - [ . ]

7. (D) 100 —-50—-75—=150

50
—— %100 9 TE
100 = 50% Increase

400x87.5
8. (D) Total regular employee = IXT= 350

Regular male employee =
92% of Male Employee

400 x5
= Total male employee = 3 =250
250 x 92 -
W =46 x 5 =230

400x 3
Number of female employee = L 150
) 350 -230

Required percentage = ~1s0 x100

120
—— x 100 = 8Q©
= 150 0%

9. (B) initial — Income —Exp.  Saving

1009 65% = 100-65=35%

120.1% - 65 ¥ 120 gaving = 120.1 - 78 = 42.1%
100
= 78%

o A21-36 T
Increase in Saving = 5 100 = 35 100 =20.3%
10.(C) Let base = x and height = y
So,
1 160 1 140 ( P ]
—X.y><—= —. XX — X _—
2 100 2 100 100
80_70XP 8_ P P_800
~ 100 100 100 7 100 7
= 114.28 = 14.29%,
11. (D X sk _27k
- (D) 10 10
3k =27
k=9
12, (C) Total vote = 100x
Voted =95x
) o 95x x 10
Invalid (10%) = 100 = 9.5x
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9 1 15. (D) ATQ,
90x X —Xx— =17271 4 1
10 5
5500—1 ><——2 H— =
x=1010 {( )¥5 } 10 =°
Total vote = 101000
11x 4
160x = —-1|= = 50+2
13. (B) lyear=100x=—,— = 80x 20 5
11x
128x N 1265
2 year = 80x = 5 = 64x 20

= 11lx=66x20=>x=120

102x 16. (D) let salary = 100x
3year=64x= ——— = 51.2x D) )

2 50 150
then 100X X ——x—— =75x
15360 100 100
= x100x = 30,000
51.2x 100x—75xx100 8. .
14. (C) A= 120%B B = 65%C 100x B W
Let C=100x then B = 65x and A = 78x 17. (A) Let inetial salary = 100x
1 150 50
A+B+C=121.5=243x =>x = 100X X —— X —— =
2 100 100 ~ 7%
A=39,B=32.5C=50 N =
50-2(32.5)+39 = 50-65+39 = 39-15 = 24 So, Loss = # x 100 = 259
X
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By mistake, the reciprocal of a positive fraction
got typed in place of itself, and thereby its value
gotreduced by (175/4)%. What was the value of
the fraction?

Tt W, T ST F 1 YoRT T M W EEY e
T, I TH TR T WA (175/4%) FA g ) fire
1 =T =T 7 7
(A)1/4
(€)4/3

(B) 1/2
(D) 3/4

The income of A is 45% more than the income
of B and the income of C is 60% less than the
sum of the income of A and B. The income of D
is 20% more than that of C. If the difference
hetween the incomes of B and D is Rs. 13200,
then the income {in Rs.) of C is:

A 2T B Ft oA | 45% AT € ot C F1 o3 A ofn
B i 319 % =T & 60% F1 & | D % 39 C &l ga 1 #
20% TR 137 B iR D i e F o= & 97 13200
TEHETCF AT (FEH) B

(A) 72000 (B) 72500

(C) 73500 (D) 75000

In a class of 90 students, 60% are girls and the
remaining are boys. Average marks of the hoys
are 63 and that of girls are 70. What are the
average marks of the whole class?

90 BTl &1 U Hel H 60% Wi & 3N 349 wSh © |
TEFH T ofTEm oI 63 i TefEA ® 70 ¥ | g R0 F
sfm SR E ?
(A) 65.3
(C)67.2

(B) 66.7
(D) 58.9

Radha saves 25% of her income. If her
expenditure increases by 20% and her income
increases by 29%, then her savings increase
b

1 ST 31 B 25%, TR 7 | 9ie 399 99§ 20% i
TqfE Rt § i Swt S H 29% ! Ifg Bt €, O o

o= | fra 9 B T
(A) 65% (B) 56%
(C) 52% (D) 70%

A, B and C divide a certain sum of money
among themselves. The average of the
amounts with them is Rs.4520. Shares of A is

2 1
10 5% more than share of B and 335"0 less

than share of C. What is the share of B (in Rs.)
A, B 3R C w fafysm ufer =6t emad | =i od § 1=
e TR W e 4520 TR R IAF IR B ¥R W

10.

12,

15.

17.

2 — an n = 1 o)
1o§%anw%mmﬁmﬁ 33§%=m3|3=m

e ¥ (v )
(A) 3500 (B) 3600
(C) 3984 (D) 5976

The income of A is 309% less than the income
of B and the income of B is 137.5% more than
that of C. If the income of A is Rs.28500 less
than that of B, then the income (in Rs.) of C is:
AT e B il T 30% FAE IR B Fi o1 C = o=
q 137.5% afa® g | afs A =1 319 B &1 s 4 28500
TRFTE, TC A AR (TH) B

{A) 36000 (B) 48000

{C) 50000 {D) 40000

Chamanlal, Arshad and Jaggit Singh contested
an election. All the votes polled were valid.
Arshad got 35% of the total votes. For every 35
votes Chamanlal got 14 votes. The winner got
4950 more votes than the person who received
the least number of votes. Find the total number
of votes polled.

T, 9T 1 SHTee g W A oSl | e T et
FiZ A% 9 | SIS 1 HA Fdl 1 35 wiee 79 {56 | =mere
1 2 35 A2 R 14 A2 et | foeian # 999 9 9a 9ra
A I FARA © 4950 ST74 79 I g | ST T 7 A

el WA T/ o |
(A) 99000 (B) 33000
(C) 13378 (D) 38000

If a number is first increased by 15%, then
reduced by 15%, it results in 782. If the same
number is first reduced by 25% then increased
by 25% and again reduced by 20%, then what
will be the resulting number?
ﬂﬁfm’ﬁﬂ@lﬁ%ﬁ 15% ﬁﬁﬁaﬂﬁ%, ﬁﬁ 15%
I FH F WA E, A 9O 782 € € A
T i Tt 25% S I R, iR 25% s o
SR TR & 20%, =7 T < €, i 9o Seen = gint ?
(A) 712 (B) 150

(C) 750 (D) 600

A certain number of students from school X
appeared in an examination and 20% of
students failed. From school Y, 130% more
students than that from school X appeared in
the same examination. If 90% of the total
numbers of students appeared from both the
schools passed, then what is the percentage of
students from school Y who failed (correct to
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20.

23.

25.

e X F FT T T W § WA g S 20% B
ST g0 TR Y, TR X ¥ 130% w1fi s wae
e / sufkea g ) 9fs <91 formeri & sl gu fornfaEt
1 FA T A 90% I g3, 1l e Y 9 g
T o ferenfer=hi = witem fope @ (O Sveem M T

) ?
(A) 6.4% (B) 10%
(C) 5.7% (D) 8.3%

Rajan spends 10% of his salary on rent. He
spends 20% of the remaining parts of the salary
on transport. After which he spent 40% of the
balance of the salary on food. Further, he spent
80% of the balance on various bills. He deposits
Rs.5000 in the bank and kept the remaining
Rs.1480 for his own petty expenditure. Find his
monthly salary {(in Rs.).

T o774 5 1 10% FFn 2 T #3a © | o e R
I T w1 20% wfEs R @d w1 | e a9 =i
T T W T 40% o T W | T ST, SR
3 Tt 1 80% fafr foreil W= fom 1 =57 S ¥ 5000
TR T A E ST 1480 T ST 1§ W ¥ fom
T & | SR Wi S (3 ) 9 F e

{A) 75000 (B) 80000

(C) 64800 (D) 82500

A Sports goods shop has tennis balls of three
colors-red, green and white. The number of
white balls is 60% more than the number of
red balls and the number of green balls is 12.5%
less than the number of white balls. If the total
number of balls is 120, then how many green
balls are there?

T B o AT &l M A i 1w o Tie -, 70
3T W | T 75 = T T e % W ¥ 60%
stferes ¥ 3R o8 i< =t Hem gine el i den ¥ 12.5%
= & | =t e Wt e w120 7, df Fead w0 iR E?
(A) 48 (B) 40

(C) 42 (D) 30

In an examination, 45% of all the students who
appeared were boys and the rest were girls. If
60% of the boys and 70% of the girls passed,
then what is the percentage of students who
failed?

TF Tian #, Suftad B o wft wr § | 45% TEE 9
AR 3 eretwa «ff 1 9fs 60% TS 3 70% il 3
(A) 36 (B) 40

(C) 35.5 (D) 34.5

30.

32,

34.

35.

Weight of A is 20% more than the weight of B,
whose weight is 30% more than the weight of
C. By how much percent the weight of A is more
than the weight of C?

AT IR, B ¥ W H 20% o1 g, e v C % w1 ¥
30% TR 81 A IR C F R P vt efurr & 2
(A) 44 (B) 56

(Cy69 (D) 35.89

The present population of the village is 15280.
If the number of males increases by 25% and
the number of females increases by 15%, then
the population will hecome 18428. The
difference hetween present population of males
and females in the village is:

T i A S 15280 ¥ | Al gl wi e |
25%, ﬁ?mﬁaﬂ o = 15% Ehsfﬁﬁ_s; fﬂ—('ﬁ%, al
S 18428 g1 S| e | qedl i wfeens wr
AAH STHEEAT 5 == o 3 & 7

(A) 1840 (B) 920

(C) 2760 (D) 1380

Price of a 1 gram gold coin decreased by 10%
on its initial price on Monday and increased by
20% on Tuesday and again increased by 8% on
Wednesday and 5% increase on Thursday. If
the final price on Thursday is Rs5511.24, then
the initial price (in Rs) of 1 gram gold coin on
Monday was ?

T T W 5 Taa F F0a 5 WHeR F T TR
HIHA T 10% ki FHI g3 3T FTAIR A1 20% & 905 58
AR FEAR F R 8% iR TEAR I 5% 1 gig 58 | afe
TEAR 7l SAfH Hea T 5511.24 &, 9 EFEaR A L U™ EH
* Toaw =1 yRfam geg () o ?

(A) 4000 (B) 4250

(C) 4500 (D) 5000

Three persons A, B and C donate 10%, 7% and
9% respectively of their monthly salaries to
charitable trust. Monthly salaries of A and B
are equal and the difference between the
donations of A and B is Rs 900. If the total
donation by A and B is 600 rupees more than
that of C, then what is the monthly salary (in
Rs) of C?

T =i A, B oi C o7 mifte Jaw w3 wme 10%,
7% ST 9% AT T H T T § | A 67 B ¥ W=
7 T € ¢ A #iR B % 50 ¥ o = e 900 T
2179 A o B 30 P T F#@ Tm C 9 600 99 oTfvw
%, @ C = it 3 (3 H) fram g2

(A) 45000 (B) 55000

(C) 50000 (D) 60000
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37. Lucky spends 85% of her income. If her| 40. The total number of studentsin a schoolis 1400,
expenditure increases by x%, savings increases out of which 35% of the students are girls and
by 60% and income increases by 26 %, then the rest are boys. [f 80% of the boys and 90% of

hat is the val P ’ the girls passed in an annual examination, then
what 1s the vatue o X'r . . - the percentage of the students who failed is:
TS ST 2T 85% T FIATE | e 58F =1 A x% T § O %] e e 1400 3, fored 9 35% wr
i gis TR, o= § 60% i gig il & 3l smE § 26%, TERFA € TR 99 ogF © | AR OF oI wiam # 80%
Frafs et s, T xTMAAFNE? T 31 Q0% TSl ST g5 €, 61 ST 2 =) ol
(A) 34 1 FiTem & 7
(B) 30 (A) 16.5 (B)21.5
(C) 20 ({C)17.4 (D) 15.8
(D) 26
Solution
a 4, (C)Total student 90
(D) Let fraction is = b ) 60
60% Girls = 90 x 100
175 o, 7 = 54
16 Boys = 36
E—E[l—lJ at | 7 36 x63+70x54 2268+ 3780
b al 16) 7 12 16 90 - 90
a* 9 a 3 |
— == = —=— 6. (B) Radha let total income = 100
b* 16 b 4 Income = 100 — 29% — 129
145 A 29 Expenditure = 75 — 20% — 90
(<) _m :>§=_0 Saving = 25 — 39
14
_ 40 4 2 % increase in saving = —— <100
C—(A+B)100:>C [A+B]5 25
= 56%
D= C@ D=C 9 o) a3
100 5 8. (B)A=B10=%T5A=B—
5 3 75
C=(29x + 20x)x — 1 )
5 A=C33E"<1J,:>A=CE
C=doxx 22X
R8T s B A C
6 98x & 75 83 83
P55 "5 2 2 3
588 150 166 249
" 25 150 — 150 x 3
D-B=13200 1 -8x3
588x 166 — 166 < 8 x 3 = 3600
35 - 20x =13200 7
10. D)A=B30% |l=A=B—
88 10
=X =13200
25 _ o _ . 237.5
<= 3750 B=C137.5%T=B=C oo
98 475 1S
C=—x3750 =73500 =C— = =
5 B=cC 200 8
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12.

A B C
10 10
19 19 8
133I_|190 80
57 — 28500
1 — 500

80 — 500 = 80 = 40000

(B) Let total votes 100%

14
chaman lal votes = 25 100 = 40%

)

arshad votes= 35%

jagjit votes = 25%

as we lmow that = 40% - 25% = 15%

the value of 15% is equal to 4950 so values100%
is 33000

15. (D) Let number is x

17.

15 85 _an
%100 " 100

x =800
75 125 80

X X X
800 100 100 100
=600

(C) Let school x student is = 100x

x pass fail
80x 20x
No. of studentsiny= 100x + 130x = 230x
Total students = 230x + 100x = 330x
No. of pass student in both x and y = 330x
90

Xﬁ = 297x

No. of pass studentiny
=297x-80x=217x
No. of fail student in y= 230x - 217x = 13x
13x
230x
% = 5.65%

x 100

Y=

20. (A) Let total income = 100

Rent = 10%
Remaining = 90

90
20% spend on transport= 20X ——=18

100
Remaining = 90 - 18 = 72

0
40% spend on food =72 x 100~ 28.8

Remaining = 72 - 28.8 = 43.2

0 _ 34.56
100 ° "

80% spend on hills =43.2 x

Remaining = 43.2 - 34.56

=8.64
8.64 — 6480
1750
100% — 75000
23. (C)W = Rﬂ —R§
W= 100 5
_..87.5 175 7
-7 100 200 8
R W G
5 8 8
8 8 7
5 8 7
20 — 120
1—6
Green=7 » 6 =42
25. (D) Boys Girls
45%, 55%
cov 60 %45
¢ 100 '
= Failed boys =45-27=18
70% x 55 = L0X55 _ 77
N 100 2
77 33

= Failed girls = 55 - DT

Total fail students = 18 + 16.5 = 34.5

30. B A—B@—BE
- (B) 100 5
B_CISO_ 13
T Y100 10

A B C

6 5 5

13 13 10

78 65 50

28
% = — x 100= 569
Yo 50 S6%

32. (A) Let population of male = a
Let population of female=h
a+b=15280

N 125 1 x 115 _ 18408
2" 100 100
125a +115b =1842800
a+b=15280

10a = 85600
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8560
:I —> 1840
6720

90 120 108 105
P P

i x X = .

34. (O) X X100 " 100 100 “ 100~ >211-24
x = 4500

35. (C)A B

Let salary of A and B, 100x and C bhe 100y

10
Money donate by A= 100x 100 = 10x

7
Money donate by B = 100x x 100 =7x

Money donate by C = 100y x Sy

100
According to question

10x - 7x =900

3x =900

x =300

Total donation of Aand B= 10x + 7x

=17 x 300 = 5100

5100 -9y =600

4500 =0y

v =500

Monthly salary of C = 100y = 100 x 500 =
50000

37. (C) Let income of lucky = 100
Income = 100 — 26% — 126

) 100 + x

Expenditure = 85— x%— 85 x
100
Saving= 15 - 60% — ISXE =24
& ° 100

17

— {100 +
126 20( x) + 24
g2 L7x100 17

- 20 20 %
126 = 85 17X 24
= + —X+
=12 30
x =20
40, (A) Total students = 1400
35
i = 1400 x —— =
Girls 100 490
Boys =910
Fail students = 490 x 0 +910><£
students 800 100
=49 + 182
=231
231

Vo i = X100 = .5
Yo of fail students 1400 16.5

Study Center : Jaipur » Gopalpura » Lalkethi » Jhotwara » Ambabari » Udaipur « Alwar



Mother's Previous Year Questions Booklet - Percentage

SSC CGL PRE - 2019

If the length of a rectangle is increased by 40%,
and the breadth is decreased by 20%, then the
area of the rectangle increase by x%. Then the
value of xis :
=fe fohdi a1 i wielE 40% 9 g1 <f 91l & 37k S5
20% TF =1 T W § A 2T = ST x% qE A,
MxMATFAE ? (3 March Shift-I)
(A) 20 (B) 8
(C) 12 (D) 16
If the difference between 62% and 80% of a
number is 198, then the difference between
92% and 56% of the number will be :
It et Hem 3 62% 7R 80% F 9= # T 198 &,
TH EE T 92% R 56% F 9 T ST Ja A0

{3 March Shift-II)
(A) 3564 (B) 360
(C) 1100 (D) 396
Sonu saves 15% of her income, If her income increase
by 20% and she still saves the same amount as before,
Lhen whal is Lhe percenlage increase in her expendi-
Lure ? (Correcl Lo one decimal place)
I AT ST A6 15% o= ol © | afE s9et A H 20%
i g 1 T 8IR =g o1a off wered forat 21 == et g, it
=% T4 | TR ufaea w6t gfs 38 ¥ 2 (Svmes kU

T T T L) (4 March Shift1 )
(A)22.8 (B) 23.5
©)23.8 (D)24.2

The income of A is 60% less than thal of B, and the
expendilure of A is equal Lo 60% ol B's expendilure. I
Als Income s equal to 70% of B's expenditure, then
what is the ratio of the savingsof Aand B?

AT S B g H 60% F9 € 2T A o B o
F60% FIATALE 196 A F 214, BE = E 70% F TR
%, 1l A 31T B okl == ol ST A ?

{4 March Shift-1I}
(A)3:8 (BY>:9
Q4.7 (D)2:15

A. B and C donate 8%, 7% and 9% oftheir sala-
ries, respectively to a charitable trust The sala-
ries of A and B are same and the difference
between then donations is Rs. 259. the total.
donation of A and B is Rs. 1,185 more than that
of C. The total donation of A and C is what per-
centage ofthe total salaries of A, B and C ? (Cor-
rect to one decimal place)

A, B 8 C o777 377 = 7w 8%, 7% R 9% Tt
T 282 Rl & G § | A 3R B o S0 THE § ST SR
T % S T 259 T E | A o7 B 9 T, ¢
T H 1,185 T TR T 1A SR C FFATHA, B &R
C 7 Fe A 1 o wlaem & 7 (S3e™ % U T T
TET T ) (4 March Shift-II)

(A)6.2% (B) 5.8%

(C) 6.4% (D) 7.1%

In an examination in which the full marks
were 500, A scored 25% more marks than B, B
scored 60% more marks than C and C scored

20% less marks than D. If A scored 80% marks,
then the percentage of marks obtained by D is

T TteT, THeW 9o 500 o1, A = B = gem | 25%

At 3 WM g, B &l C & o 3 60% 31fask s

I g S C R D %1 ot ° 20% 9 3tk o gu | =g

A FT 80% 37 a1 71, @ D =1 fres witom of= faer 2
{5 March ShiftI)

(A) 65% (B) 60%

(C) 50% (D) 54%

If the radius of a right circular cylinder is de-

creased by 10% and the height is increased by

20%, then the percentage increase/decrease
in its volume is :

Afs, foredt oia o o i B 10% 9 2 =it § 3R
S 20% % S €, a1 55k 3= | iaem ofs /&=
FEAE 2 (5 March Shift-II}
(A) increase by 2.8%/2.8% %! 9§

(B) decrease by 1.8% /1.8% &l &5t

(C) increase by 1.8%/1.8% =t 3fs

(D) decrease by 2.8% / 2.8% &l #H!

A and B spend 60% and 75% of their incomes,
respectively. If the savings of A are 20% more
than that of B, then by what percentage is the
income of A less than the income of B ?

A &R B ST &7 1 FA: 60% R 75% T FAE |
A% A 1 o=a, B ®w=a #ge H 20% TaE ®, 4T A

&1 21 B i A 9 fohad wiasm w8 8 7

(5 March ShiftII)
(A) 15 (B) 20
(C) 10 (D) 25
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10.

11.

12,

13.

The price of sugar is increased by 20%. By what
percentage must one cut down on the consump-
tion of sugar, so that no extra amount has to he
incurred on sugar ?

= = FE W 20% = 9fE W TR ¥ | =AA R wm H
fopat wfara =i herdt =i <l w1fey, foaas =it wgu =@
g A JTE T8 7 (5 March ShifeIm

2
16 =%
(A) 16

1
(B) 20% (C) 83 % (D) 80%

The population of a city increased by 30% in
the first year and decreased by 15% in the next
yvear. If the present population is 11,050 then
the population 2 years ago was:

TF VBT Fl TEE U5 % 30% W@t $TR sver I
15% =7 81 T | A T seEe 11,050 €, &t 2 o
Teot Tt e et oft 2 (6 Marck Skift-1)
(A) 10,000 (B) 99,500

(C) 99,000 (D) 10,050

A manufacturer sells cooking gas stoves to
shopkeepers at 10% profit, and in turn they sell
the cooking gas stoves to customer to earn 15%
profit. If a customer gets a cooking gas stove
for Rs. 7,590, then what is its manufacturing
cost ?

e Forfamtar fe = gEEerl T 10% o T S E, St
WEE W 3 T R WEE # 15% e WA E | At e
TEE F 7,500 T A TF T =0 e €, sew
TEATA TG A E 2 (6 March ShiftIl)
{A) Rs. 5,000 (B) Rs. 6,000

(C) Rs. 5,090 (D) Rs. 6,500

25 litres of a mixture contains 30% of spirit
and rest water. If 5 litres of water be mixed in
it, the percentage of spirit in the new mixture
is :

25 wiet el ok fqgu o 30% Ay i e e u g 149t
T 5 TteR et e e, A1 e e | v = ataea

E kol (6 March Shift-II)
(A) 125% (B) 335 %
(C) 45% (D) 25%

In an examination, Anita scored 319% marks
and failed by 16 marks. Sunita scored 40%
marks and obtained 56 makrs more than those
required to pass. Find the minimum marks
required to pass.

ek e |, 31far i 31% 3k fae it eg 16 3 9
ST g1 | AT A 40% 3k W TR Sii S8 steweh
IR A 56 o et e st € % i =men

ST ST S0 FE | (7 March Shift1)
(A) 3116 (B) 264
(C) 3944 (D) 7100

14.

15.

16.

17.

18.

19.

In radius of a circle is decreased by 11%, then
the total decrease in the area of the circle is
given as !

ot Forett g9 =it e & 11% =it Fet ® et €, v
FARAH LT A R FA T (7 March Shiftdl)
(A) 20.79% (B) 19.50%

(C) 20.50% (D) 21%

Anu spends 68% of her monthly income. [fher
monthly income increase by 20% and her
é% , then the
percentage increase in her monthly expendi-
ture is :

3T ST HI e 311 &1 6 8% @ ol ¢ | afs 91 7ifask

monthly savings increase by 9

[

AT 20% 1 ghg T & 31 o At a1 9%% =5
(&) 20% (B) 32%
(C) 25% (D) 22%

By what number must the given number be
multipled to increase the number by 25%.

< T He i frd T § T e i A den 25% 95

SEL {7 March Shift-III)
3 5 2
@A) o (B) 3 3 Oz

Ravi scores 72% marks in examinations. If
these are 360 marks, then the maximum
marks are ;

Tfer aitematt § 7 2%, e W ol 8 | 3R 3 360 3% 8,
T atfirehas 3t i € 7 (9 March Shift.])
{A) 450 (B) 400

{C) 500 (D) 350

The single discount equivalent to two succes-
sive discount of 209 and 15% is:

20% TR 15% 31 RT% T 3 AT T 52 Rt
Tt ?

(A) 22%
(C) 32%

(B) 30%
(D) 28%

The price of cooking oil increased by 25%. Find
the how much percentage a family must re-
duce its consumption in order to maintain the
same budget ?

T T AT H 25% i IhE T T | TH o9 T A
A F T3 T afieR Fi ot 3T ¥ R wieee w

A AR 2
(A) 20% (B) 70%
(C) 30% (D) 80%
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Solution
7 1 7. (D) Let, R=10,h= 10, Volume = 1000 1t (nr*h)
1. {C) L= 30 B= 3 Now, R=9,h=12° Volume =972x
28
Arpa = 7.4 28— New %o decrease = 1000 > 100 =2.8%
TeA= 5737 25 »0ld
3 8 (D) ATQ gA _B .S
% Increase = —— x 100 =12% ’ ’ S 4 5
25 4A =3B
2, (D) 80% - 62% =198 fB=4,A=3
18% =198 = 1% =1 Required % = — x 100 =25%
92% - 56% = 36% 4 1
36% =36 x11 =739 9., (A) Price of sugar increase = 20% = 5
3 B Income  Exp. Savings Down on the consumption of sugar
Initial 100 85 15 2
New 120 105 15 = 541 = 165%
20 i =
Req. % = - x 100 =23.5% 10. (A) Let, the population two years ago was = X
85 130 85
4. (D) A B XX 705 % Tgg = 11050
Tncome 40x 100x x = 10,000
. . . 1123
Expenditure 60y 100y 11. () Production Cost x 1X - =750
Savings 40x — 60y 100x— 100y
avings ( * y7)0 ( * y) Produclion Cosl = 6000
ATQ, 40x = 100y x 100 12, (D) S W
x 7 7.5 17.5+5
I 15
¥ % of spirt = 30 100=25%
(40x—60y) 40 2 13. (B) ATQ,
Now T R B Let, total marks = x
, —100y) 3 _ ;
(100x=100y) 300 15 AT e 0% — 56
5. (B A B C x = 800 31
8% 7% P Passing marks = 800 x 7o~ + 16 = 264
1% = 259 14, (A A-11%
1 = 25900 (salary of A and B) 2
ATQ, % change =r+r— 100
15 x 259 = C x i+1185 =22-1.21=20.79%
100 15. (C) Expenditure = 68, Income = 100, S = 32
C =30,000 Total donation of C = 27,000 New Income = 120, S =35, Ex=85
17
1 = = = — = O,
Donation of A= 25,900 x 100 2072 68 x 100 =25%
Total salary = (25,900) x 2 + 30,000 16. (B) Let number = a
2700+ 2071 ax — = for increase of 25%
=Rs. 81800% = ——— %100 4 240
81800 17. ) Maximum marks = —— x 100 = 500
=5.8% 72
100 18. (C) Required discount% =20+ 15 - 21
. ired discount® = -
6. (B) A=80% B=80x— edured discot T
105 =35-3=232%
¢ = gox 100 100 5 4
105 160 19. (A) Ax Z=1; A= 3
1
100 100 100 i = —x =
D=80 « = 50.52 ~60% Required % 5 100 =20%

X x
105 160 80
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If decreasing 120 by x% gives the same result
as increasing 40 by x% then x% of 210 is what

percent less than (x+ 20)% of 1807

7 120 F¥ %% FA T 9 @ &t 7o wra g
40 3% FgH T ST E 199 210 H x%, 1807 (x
+ 20)% ¥ forat wfirer =7 grm ?

1
A) 33-% B) 18%
() 33 (B

2
C) 16 =19 D) 20%
(©) 16 D)

A person sold an article at a loss of 15%. Had
he sold it for ¥ 30.60 more, he would have
gained 9%. To gain 10%, he should have sold it

for.

Tt =i A U I W 15% F B WA | SFR 9% 39
T 30.60 fers WA= dl 39 9%, T e FT 1 10% 79
A T F Ty, 39 =9 g i | s=m ey e ?
(A) T 140.25 (B)T 132

(C) T 130 (D)T 128.40

The income of Raju is 20% more than his ex-
penditure. [f his income increases by 60% and
his expenditure increases by 70%, then by what

perecent does his saving increase/decrease?
T = T T =3 | 20% ST € 1 A 5wt o Ao
60% TR TTF =AM H 70% =t Ig et €, & S o9
ot wferer Sy A i 7

(A) It decreases by 10% /10% %¥ g0l

(B) It decreases by 2% /2% FAENT

(C) [t increases by 10%/10% EEn)

(D) It increases by 2% /2% st

The income of A is 25% more than that of B
and the income of C is 65% less than the sum

of the incomes of A and B. [ncome of C is what
percent less than the income of A?

AR 39 B i 3™ 9 25% 3174 g 3] C i 319, A 3R
B =i & A H 65% F9 €, 9 7@ Y, CF AT AT
& B o wiawa & 2
(A) 28%
(C) 35%

(B) 32%
(D) 37%

5.

The income of A is 50% more than that of B. If
the income of A is increased by 40% and the
income of B is increased by 90%, then the per-
centage increase in their combined income
will be:

AT 3T B Wi 3T ¥ 50% Aok 7 | afz AT 3T H 40%
=t (5 53 © ot B oA H 90% F M5 T2 &, T SR

g I H Hfeed gfg it
(A) 64% (B) 55%
(C) 60% (D) 70%

Sudha saves 15% of her income. If her expen-
diture increases by 20% and savings increase
by 60%, then by what percent has her income

increased?
T STIT ST 1 15% T 2 | AfE 501 298 20% gl §

st # 60% F AL Tt &, A IwFT A H PR wfaom

(A) 26% (B) 35%
(C) 24% (D) 30%

A is 20% less than B and C is 30% more than
D. If D is 25% less than A, then which of the

following is true?

A, BE20%%H T IRC, DA 30% stfow 2 19fe D, A
5% FHE, WA T RA IR E ?

(A)B=0.39C (BYC=0.78B
({C)B=0.78C (D)C=0.39B

A is 20% less than B while C is 20% more than
D. If D is 25% less than A, then which of the
following is true?

A BR20%TAE TWEC, DR 20% S I D, A
W 25% %H &, 91 (=feliEa § 4 e wei g 7
(A)B=0.675C (B)C=0.72B
(C)B=0.72C (D)C=0.675B
Surbhi spends 73% of her income. If her in-
come increases by 20% and savings decrease
by 1%, then the percentage increase in her ex-
penditure is:

[ STIHT 3T 1 75% W HAT ¢ | A% S9H A™ 20% 95
ST & &R o 1% e e €, A SEE A H e vien

(A) 27 (B) 2.2
(C) 22 (D) 2.2
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10.

11.

12,

13.

14.

15.

The income of A is 40% more than that of B. If
A got a 25% rise in his income and B got a 40%
rise in his income, then the percentage in-
crease in the combined income of A and B is :
AT T B ¥ 40% ST T | 976 A Fl ST H 25% Ihp
Fl & AR B & T H 40% gl T ¥, AR BH

H'ﬂ EQ mﬁqﬁ; Qiz‘lﬁlﬁ% :
{A) 31.25 (B)34.5
(C) 28.25 (D) 24.5

The radius of a sphere is reduced by 40%. By
what percent will its volume decrease ?

TF e 3 o 1 40% F7 %2 T 70 ¥ | 9 s

ke wiqera =7 =1 ST ?
(A) 60% (B) 64%
(C) 72.5% (D) 78.4%

The price of sugar is increased by 20%. A per-
son wants to increase his expenditure by 8%
only. By what percent should he decrease his

consumption ?

=fe =i % qe9 A 20% i g 3 ST & sk Fi ==t
T T et 8% € i W § 4 et
Tva H e Wi s T e 2R 7

(4) 10% (B) 11%

(C) 9% (D) 12%

The price of sugar is increased by 18%. A per-

son wants to increase the expenditure by 12%
only. By what percent, correct to one decimal

plce, should he decrease his consumption ?
=fe = o Hed | 18% ol Ji &1 Sl & a1 g ==l T
T H FIE 12% T S I T Ted & a1 39 ST T
¥ ford wiqem &t FHH1 T T 7 (S¥Eed % Tk T
T WET)

(A) 6% (B) 5.1%

(C) 5.3% (D) 5.6%

The radius of a sphere is increased by 140%.

By what percent will its volume increase ?

W Tt Wi 5 T 140%, e g faen T 8 | S9en
ST TeRae At <1fer 51 = ?

(A) 174.4% (B) 1382.4%

(C) 274.4% (D) 1282.4%

The price of sugar is increased by 22%. A per-
son wants to increase his expenditure by 12%
only. By what percent should he decrease his
consumption, nearest to one decimal place?

16.

17.

18.

19.

afe < % gou § 22% 1 95 €1 S & iR wE =i
&9 | 7 A 12% S A w1 A g, @S g
T WHeE A L B 2 (SO O S

BED)
(A) 10% (B) 7.8%
(C) 8.2% (D) 8.6%

The price of sugar is increased by 17%. A per-
son wants to increase his expenditure by 8%
only. By what percent should he decrease his
consumption, nearest to one decimal place?
afz < 5 e F 17% %) 95 8 < ¥ st AE =
AT T H HAT 8% Tl BT FG 1 I@aT 8, T T AT
T i BT e A A R T 2 e
T Wel)

(A) 7.9% (B)8.3% (C)8.1% (D)7.7%

The price of sugar is increased by 21%. A per-
son wants to increase his expenditure by 12%
only. By what percent, correct to one decimal
place, should he reduce his consumption?

=t =it % qew 7 21% it Iis B o € i wR =t
ST T e 129% F s e = &, 9 st wm

foraa i &t =T AT B0 7
(A) 7.4% (B) 7.2%
(C) 7.6% (D) 7.8%

The price of sugar is increased by 17%. A per-
son wants to increase his expenditure by 7%
only. By what percentage correct to one deci-

mal place should he reduce his consumption?
A = E TR 17% T s T I § &R AR Al
ST G ¥ FRE 7% I A e € 6 %Y i

foraa wfem &t =T AT B0 7
(A) 8.1% (B) 8.3%
(C) 8.5% (D) 8.7%

The price of sugar is increased by 24%. A per-
son wants to increase his expenditure by 15%
only. By what percentage correct to one deci-
mal place, should he reduce his consumption?
=t = F TE H 24% = I7E Tt € ofR wiE =t
T @ H FoE 15% i 8t g T Ted E a9 39 T

o Tonad wiaera &f A1 A g7 ?
(A) 7.3 (B) 7.1
(C) 6.9 (D)7.5
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20. The price of sugar is increased by 24%. A per- | 22, The price of sugar is increased by 17%. A per-
son wants to increase his expenditure by 18% son wants to increase his expenditure by 5%
only. By approximately what percent should he only. By approximately what percent should he
decrease his consumption ? decrease his consumption?

At = F e H 24% i qts o W § ok wE =tw < = = H 17% R 3o g ¥ T = o T A
T T H e 18% F1 € 9 F Twa ¥, 91 =4 @ 5% i i LT =1Ed 8 | T fofa wloem o 38 oA
* P Wl R = ST H A FTA A ?

(A) 4.6% (B) 5.1% (4) 10.3 (B) 10.7

(C) 4.8% (D) 5.3% (C)10.9 (D)9.9

21. The price of petrol is increased by 28%. A per- | 23 If 85(}/‘" of a number its added to 75, theljl the
son wants to increase his expenditure by 22% risljlt 1s‘the\ number 1tse1‘f. The number is:
only. By approximately what percent should he e Pt w3 85% 1 75 H e W ¢ At o et
decrease his consumption ? HEAT S | o HEATT ¢
e I G 28% WE TS | HE A ST T FI o (A) 500 (B) 200
2029%, TR FEA1 & | 9 AT @9d I e fha wfaer (C) 300 A
A FLA B 2
(A) 5.3% (B) 4.7%

(C) 4.9% (D) 5.1% Solution
Lo (19 [’IUO—X] o [100+x] + B A B =
» Q) (120 (T ) T 100 125 100 (125+100) % - oo
300-3x =100 +x C=225x 29 -z7875
4x =200 = x =50 10
Required tage = 222 X 100 = 37%
X% of 210 = 210 * — = 105 CARTEC Pertentagt = 105 S
100 5 (C A B
+ 20)% of 180 E x 180 = 126 150 100
(x+20)% o = 100 - 140% 190%
A 5 60 90
(Uire age = —— = 16=% 3
Required Percentage 126 o 3 Net Increase = _ILOX'IOO = 60%
2. (A) CP SPp 230
' 6. (A) Let Income of Sudha = 100
85
100 109 |2 =30.60 . /IOU\S ‘ 102+24 =126
Xp. aving
110 85 15 102 24
30.60
= 222110 = 140.25 h— T 7
3. (C) Let, income of Raju is 120 20%1 60%M
60%T Income = 100 — 126
T T =26%
Income 120 Ex 192 7. B A B C D
ExpANGav. PG 4 50 39 30
Exp. 100 20 170 22 B=0.78C
\.,_______/’
o 8. (C) A B C D
, ” 100 125 90 75
20 - 22 :)2—U><100 = 10% B=0.72C
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9. (A] Letincome of Surbhi = 100
ATQ,

100 0% 120

Ex P‘/&“" meisase Fx ]va‘

75 25 12002475 2475

‘ =0325 T

Decrease by 1%

Expenditure initially = 75
Expenditure finally = 95.25
20.75

75

= Percentage Increase =
10.(A) Let Income of B = 100

ATQ
A B
140 100
125% T la0%T
35 40

Net total Income = 140 + 100 = 240
Net [ncrement = 35 +40 =75

75
= Net Percentage increment = 5940 x 100
=31.25%
11.(D) As we know,
2
40% = 5
5 3
5 3
5 3
125 27
S~
98
= 125 x 100 =78.4%
12.(A) 100 >1U08
12
= Q,
120 x 100 =10%
13.B) 100 -118 > 112
=11 x 100=5.1%
14.D) T > s T
5 12
5 12
5 12
125 1728

=100 = 27%

15.

16.

17.

18,

19,

20.

21.

22,

23.

(€)

(D)

(€)

(A)

(€)

B)

(A)

o _ 1603 _ 0
Ya increase = 125 x 100 = 1282.4%
1002122 —>112
10

10
. = —x100 = 8.29
Req. Per 122 8.2%

100 = 117 — 108
\—v—)
9
9 1
= 7 x100=—x100 = 7.7
117 13 77%
100 — 121 — 112
9

9
= E><100 =7.4%
100 — 117 =107
10
= 9 % 100 =8.5%
117
100—=124 - 115
9

9
Required Percentage = 123 100 =7.3%

100 — 124 — 118§
6

6
= ——x100 = 4.8°
o 4.8%

100 — 128 — 122
\—\\4—4
6 6
= @X 100 =4.7%
100—=117 — 105
12

12
Required Percentage = Exmo

4 400
= = X100 >— = 10.3%
5 ==y = 10.3%

85% + 75 = 100%%

= 7o = 15%
= 1% =5
= 100% = 500
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SSC CGL PRE - 2017

32% of a number exceeds 17% of the same
number by 120. What is the value of the num-
ber?

Tarelt W = 32% I Wen F 17% H 120 Afrw €
T A AN 7

(A) 900 (B) 860

(C)940 (D) 800

The present population of a town is 26010. It
increases annually at the rate of 29%. What was
the population of town 2 years ago?

T TEL ] AAHA G 26010 T | 399 Tk o 2% i
TE FTE TN T | 2 A Vet T H G o o 7

(A) 25000 (B) 25100

(C) 25200 (D) 25500

Two lahorers A and B are paid a total of Rs 650
per day. If Ais paid 160 percent of what is paid
to B, how much (in Rs) is B paid?

< 7Y A 3 B w1 wfa fa 650 ywmam fRen s #1
% A FI A OET YA, B F BH R A F
160 Wi €, 91 B 1 fFaT e (% #) fen s

77

(A) 250 (B) 400

(C)350 (D) 450

50% of a = b, then b% of 40 is the same as

of a.

a T 50% = h T, T 40 T b%, a F HEA BT
(A) 0.25 (B)0.16

C) 2 (D) 0.2

After deducting 60% from a certain number and
then deducting 15% from the remainder, 1428
is left. What was the initial number?

foredt " | 60% H FRT HH F IRG a9 T3
T § R & 15% Tt Fd F W 1428 9 39
ST 2 | AR w7

(A) 4200 (B) 3962

(C) 4150 (D) 4300

A person scores 45% of the total mark in the
exam and still fails by 40 marks. The passing
percentage of the exam is 55% What is the
maximum marks of the exam ?

U At Teh T H F STl o 45% Teh WTH Fdl §
T 40 ST W ST BY ST B | em | St 29 R
fotu 55% afer =1few | wien o sifeenad ofw foan € 2
(A) 300 (B) 330

(C)400 (D) 500

7.

10.

11.

12,

The number of trees in a town is 17640. If the
numbers of trees increases annually at the
rate of 5% then how many trees were there 2
years agor

T T B U] T HEAT 17640 ¥ 1A U2 g o
5% 7RI S o W JE T 3, A 2 =9 I5et IS H
T 47 off ?

{A) 14000 (B) 15000

{C) 16000 (D) 194350

If A has got 20% more marks than B, then by

what percent marks of B are less than the
marks of A?

=Ife A. B 9 20% 31(eeh 37k W9 *hdl €, a1 B o 3% A 6

ot 9 T wiaee w2
(A) 16.66 (B) 20
(C) 33.33 (D) 14.28

A, B and C are three students. A got 18% more
marks than B and 129 less than C. If B got 220
marks, then how much marks C has got?

A BINC TASHE I AT BH 18% AR SIHan C R
12% =hH T8 214 2 | =% B =6l 220 37 9 gid 2, a1 C =l

s STFOmER © 2
(A) 230 (B) 205
(C) 240 (D) 290

Amit donated 20% of his income to a school and
deposited 20% of the remainder in his bank. If
he is having Rs 12800 now, then what is the
income (in Rs) of Amit?

ST ST 3T 1 20% TRET &1 G | % 0 F T2 9 A
20% ST = H ST X IATE | AR ITHER TR &7 12800 F.
THE, T AT F o (T W) TR T ?

(A) 18000 (B) 20000

{C) 24000 (D) 32000

If the price of onion increases from Rs 24 per/
kg to Rs 36 per/kg, then by what percentage a
household should decrease the consumption of
onion so that expenditure remains same?

=ifg T w1 ge 24%. Wfa R, 9 36 &, wfafwm. g =sm
2, @ T TRl W e % wa feed wiave e o &t

=&Y qTeh! =99 THH & ?
(A) 25 (B) 33.33
(C) 50 (D) 20

a% ofb+b% ofa=
b a% + a = b%
(A) 2a% of/=Th

(C) 2a% of /=1 2a

(B) 2a% of /%1 2b
(D) 2b% of/F1 2b
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13.

14.

15.

16.

17.

18.

80 litre mixture of milk and water contains 10%
milk. How much milk (in litres) must be added
to make water percentage in the mixture as
80%a?

T T I R 80 ot frgm # 10% gur ¥ | frgmn o witem
i §0% FAM F ToT0 e 3w (e | ) Thern mem ?
(A) 8 (B)9

(C) 10 (D) 12

How much water (in litres) must be added to 80
litres solution of milk and water containing 10%
millk, so that it hecomes a 5% milk solution?

80 TR 31 T T F T, foe 5o =it A 0% §, |
TRa O (Fte ) Trern S Wi =% 5% T3 o fEm

Eolsl
(A) 10 (B) 20
(C) 40 (D) 80

30% of a number exceeds 25% of the same
number by 27. What is the value of the num-
ber?

Topft T = 30% SO T AR 25% © 27 SAfUm T 1 Hem

o= fraT & 2
(A) 540 (B) 270
(C) 108 (D) 90

In an election between two candidates, the win-
ning candidate has got 70% of the votes polled
and has won by 15400 votes. What is the num-
ber of votes polled for loosing candidate?

T IR F A g TR A H, o SrHReR
T 1 70% WTH T 41 9% 15400 Tl 9 a1 | TR =

SHIEAR i TR Ha o ?
(A) 38500 (B) 11550
(C) 26950 (D) 13550

Due to increase of k% in the side, the areaofa
square increases by 69%. What is the value of
k?

=t % gt H k% F 95 P 7 GAE F 60%
=i 35 gl &1 k =1 °H = E ?

(A) 30 (B) 33

(C) 34.4 (D) 35

A, B and C are three students. A got 36% less
marks than B and 16% more marks than C. If
B got 145 marks, then what are the marks got
by C?

A BaaCd=e=Z 1 A B A 36% w9 a1 C § 16%
s1ferp 31 W T 1 9fs B Y 145 3 WH N T, 9 C

(A) 120 (B) 110
(C) 80 (D) 75

19,

20.

21.

22.

23.

In an examination 65% students pass in his-
tory and 53%0 students pass in hindi. If 5% stu-
dent failed in both the subject, then what is
the percentage of students who have passed in
hoth the subjects?

T e H 65% Tomnet g™ | S g a9 55%
e o 3 fioh g | =1f 5% ferenefl < forei & sreid
BUE, MAAT fawt H <ot g A fwnfi = nfrom ==

%7
(A) 15 (B) 20
(C) 25 (D) 30

If Ais 6 times more than B, then by what per-
centage is B is less than A?

ofz A, B9 6 TN =R 2, @ B, A ¥ s wfavm =1

27
(A) 64.82 (B) 83.33
(C) 28.56 (D) 85.71

After deducting 12% from a certain sum and
then deducting 25% from the remainder, 2508
is left, then what is the initial sum?

TRl S W 12% 1 Fidl F & ST a91 a9 g5
TETH 25% il Fedl 0 W 2508 I &= =61 8, a9

TR T R ?
(A) 3500 (B) 3450
(C) 3970 (D) 3800

Raman spends 80% of his income. If his in-
come is increased by 25% and expenditure in-
crease by 10%, then what will be the percent-
age increase in his savings.

THA ST ST 1 80% =49 i 3 ¢ | AfE SEeht o1 A
25% i Iig B § 991 TEF AT H 10% ! Ifg
S ¥, o s o fa st o gt w2
(A) 17 (B) 70

(C)77 (D) 85

Pranita got 30 marks more in Math than what
she got in Science. Her Math marks are 60%

of the sum of her Math and Science marks.
What are her Science marks?

ot = i B faEE 9 30 oA afaer e ==
nf ® et o, o &R foam % <imi o 9 o
60% ¥ | S5 fam | foraq s 8 2

(A) 90 (B) 150

(C) 120 (D) 60
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24.

25.

27.

28.

29,

30.

A student has to secure 35% marks to pass in
a subject. If he gets 82 and fails by 23 marks.
What is the maximum mark of the subject?

Tk BT &1 U {9 T a9 27 & fou 359% &i sifsd
= BN | AfE ST 82 37w e ¥ oiv 9w 23 o= 9

el €] W6 €, § o9 fawd o sfuekay si%h (e ©

B 7
(A) 300 (B) 250
(C) 350 (D) 400

What is the value of 10% of 150% of 4007
400 % 150% &% 10% o1 5H &1 & ?

(A) 600 {B) 50

(C) 500 (D) 60

If40% of x =y, then yv%6 of 40 is same as of
X.

e x T 40% = y ¥, T 40 H y%.,x T B
Gl

(A) 16% (B) 4%

(C) 8% (D) 160%

If 40 is 0.05% of %X, then what is the value of x?
4 40, x 1 0.05% & o1 x §I 1 AF 1§ ?

(A) 80000 (B) 8000

(C) 800 (D) 80

Two lahourers A and B are paid a total of Rs.
1120 per day. If Ais paid 180 percent of what is
paid to B, how much (in Rs) is B paid?

T ot A #iR B 1 affiA 1120 % =i Fe U = §mam
T W # ) Ak A, B B qTam wt T Ui = 180
Wi TEE H TR, @ B A e (B )

T 2
(A) 400 (B) 720
(C) 500 (D) 620

A man wills 25% of his wealth to charity and
rest to his family. What percent of the wealth
willed to charity does the family get?

Uk <A 19T Hld w1 25% S 311 319 3799 TRER &l 3
1 T ST 8 | & | 311 9t 6l TR g afiEn

o Taem @ ?
(A) 200 (B) 33.3
(C) 300 (D) 25

When anumber is increased by 105, it becomes
135% of itself. What is the number?

TF T H 105 1 AN FA 9 TF ST FEA A 135% B
W ¥ | 9 W g ?
(A) 450

(C) 600

(B) 300
(D) 400

31.

32.

33.

34.

35.

36.

37.

38.

A number is increased by 84, it becomes 107%
of itself. What is the number?

TF T H 84 T G T A E, T AT T 107% T
T\ HEAr g ?

{A) 600 (B) @00

(C) 1500 (D) 1200

What is the value of 20% of 500% of 50?7

50 3 500% T 20% T HH FAE ?

(A) 0.5 (B) 5000

{C) 500 (D) 50

Two numbers are 10% and 209% lesser than a
third number respectively. By how much per-
cent is the second number should be enhanced
to make it equal to the first number?

% TEAG T e W EE 10% ST 20% F0 ¥ | Teelt
T & AR T F forw 5t it forat witem & agren =

THAI T ?
(A) 10 (B) 15
(C) 12.5 (D) 8

A student has to secure 40% marks to pass. He
gets 67 and fails by 13 marks. What is the maxi-
mum marks?

W B9 I S0 B F 0 40% 315 U B F |98 67
ST T ST 13 oI W e B W g | ST o

TNE ?
(A) 300 (B) 200
(C) 150 (D) 240

What is the value of 125% of 25% of 807

80 T 25% T 125% FHH FANE ?

{A) 50 (B) 25

{C) 20 (D) 40

When anumber is increased by 120, it becomes
130% ofitself. What is the number?

A W T 120 T AETA A ¥, A T8 TG F L 130% T

{A) 400 (B) 520

(C) 460 (D) 580

20% of a = b, then b% of 20 is the same as
of a.

a = 20% = b, AT 20 T bt TAM BN, a T

{A) 8% (B) 40%

(C) 4% (D) 80%

20 is 0.25% of?

TRt 0.25%, 20 TTaT & 2

{A) 10000 (B) 8000

(C) 3000 (D) 2500
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39. When anumber is increased by 24, it becomes Torn =67 SfaeTe et § 9 ST o7fi et | 39F 3foe e
104% of itself. What is the number? 7% THE TR ST S 3 AW ST W 56% ¥ | BE
9 W HeA § 24 ki gig i w6l g, 9 9% gE H 104% s 3 SR E ?
TR | TE W g ? (A) 42 (B) 65
(A) 300 (B) 100 (€) 53 (D) 33
({C) 600 (D) 1200 42, Two labourers A and B are paid a total of T 750
40. A man wills 40% of his wealth to his wife and per day. If Ais paid 150 percent of what is paid
. . to B, how much (in Rs) is B paid?
rest to his children. What percent of the wealth - - S ufa fea 7 - ofr
willed to the wife do the children get? 2%"&1 g A\ B Eh‘T_ﬁ = n750\6h‘f E!:T*[ . ﬁ_ﬁ 1
s A ST E w9 40% ST welt A s d A ' G‘Tmf"”“ﬁf“; B\'\“WW“@ Lowm
TS FIEATE | TS TS Tt = BT o o e v ‘_\;? SIUE, 91 B $l AT (. 5 ) Toeft et
oy j L
LX (A) 450 (B) 250
(A) 150 (B)66.6 (C) 300 (D) 500
(C) 50 (D) 20 43. When anumber is increased by 69, it becomes
41. Priyva got 9 marks more in History then what 103% of ijr.se]f‘ What is the numl)er? )
she got in Geography. Her history marks are & et T 69 =i gig I Sl €, 9 4 =E
56% of the sum of her History and Geography 103% B1 ST ¢ | 98 S i 9 & 7
marks. What are her Geography marks? (A) 1300 (B) 3300
(C) 2300 (D) 4300
Solution
120 7. (C) AT.Q.
1. (D) Value of the Number = 7550, 17053 100 100 100
- = 17640 x —— X ——
120 105 105
=—_ %100 =800 = 16000
2. (A) Population of town after 2 year 8. [A) Let B=100
6010 x 100 100 A=120
= K —— X ——
102 102 20
= x 100
= 25000 120
3. (A) 1.6B+B=650 50
2.6B =650 = —%=16.66%
B =250 N
9. (B) B— 220 Marks
4 @50 220x118
. = X
100 A— T marks
a=2,andb=1
40><i=a C—QQOXEX@=295 k
oS’ <Y 7 loo ~ g ~ TV mArEs
a=0.2 r. o
5. (A) Let No. isx. 10. (B) =1 e1tFa =t &4 = T 100
T 20 — School
40 85
XX ——xX ——=1428 X 80 G
100 100 20% =T 16 % H
x =3 4200 =764
40
6. (C) 7ox100 12800 00
64
mm = 400 = 720000
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11.

12,

13.

14.

15.

16.

17.

18.

B)

(A)

(€)

(€)

TS W HEd TEel = 24
aEH = 36

- -~ 12
. =HE A W 7Y @ H FHT = %xmo
=33.33%
a% ofb+b% ofa

a axb

bx — 4272
—P* 100" 100

= % = 2a%of b
80
M W
10%% 0%
+ x (milk)

200%% 30%

80
80+ x
90=80+x
x=10L
80
Milk—8&

x90 =380

Water—72

8
EXIOO = 160

i.e. + 80 liter of water has to be added.

AT.Q.
5% =27

27
The number = = x 100 = 540

W L

70 30
d=40%

. 15400
1Le. = 40

)

100
200 K+ K2=6900
K2+ 200K-6900=0
k=30%
B's marks = 145
A got 36% less0 marks than B

x30 =11550

K+K+ =69

36 '
' = — | —x145 | =
A's marks = 145 [100 ] 92.8
A got 16% more marks than C

100

C's marks = 92.8 xm = 80D

19,

20.

21.

22,

23.

24.

25.

26.

27.

(€)

(A)

(A)

(A) X x

History — 65%
Hindi — 55%
Failed — 5%

ie. 65+ 55

120

-+ 5% total failed
ie. 25%

A : B

7 1

6
= ?X 100 =85.71%

-12-25+ 300
100

=-37+3
=34
Remaining = 66

2508

66
= 3800
| Fx Saving

100 80 = 20
125 88 37

% 100 [nitial sum

ie.

17
% Increase = 20 x 100 = 85%

Maths Science
x+ 30 X
ATQ.

(X +x + 30) x = (x + 30)

100
= (2x+30)6 =10 (x+ 30
= 12x+ 180 =10x+ 300

= 2x =120

=x=60

35% marks = 82 + 23 = 105

5
35 100 = 300

150 10
100 100

Max. marks =

400 x

=60

40% of x=y
Let x= 100
y=40

40% of 40 =16
= 16% ofx

(105__40
100
4000

= = 80000
X~ D.os
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28.

29,

30.

31.

32.

33.

34.

35.

(A) A B
180 : 100
9 : b5
= B's part = @XS
14
=80 x5=%400
(C) For Charity — 25%

For family — 75%

75
s = 25 X100 = 300%
100% of x + 105 = 135% ofx

105 "
135-100

(B)

Sox= 100

105
= 224100 = 300
35 N

Let numberis 100%

If we increase the number by 84 then it
hecame 107%

So 7% =84

84
. Number = - x100 = 1200

20

500
X
100

(D) [50 X Too

A B C
80 100

10
or — = ) 50
B% 80><100 12.5%
Pass mlerk‘; (40%)
67 !
13
40% — 67+ 13

(€)

80
100% — 0 =100 =200

1 5
o5 — . )50/ =
(B) 25% = - ;125%=

AT.Q.

1 5
80X —x—
=T e

= 25

x =130
100

10x +1200=13x

3x= 1200

x =400

20% ofa="h

36. (A) x+ 1200 =

37. (Q)

ax 20
100 =b

20 X ——=—+x
100 100

b_x =&

from (1) 5~ 100

x=4%

0.25 _

38. 100 =20

B)

o

20 x 100 x 100
x= 25

Let that number is X

= 8000

39.

104

X0 ~ X + 24

= 26x=25x+ 600
= x=600
Wife

40%

Children
60%

% = @X 100 =150%
Lt 40 Lt

Equation Pending
41.
in history =x+9
(XxX+9)=(x+x+9)x ——---- 25(x+9)
=14({2x+9)
----- 25x+225=28x+ 126
42, [C) A B
150 100
3 : 2
B=-—- =3 300
Let assume the no. it x
X+69=x% ...
100x + 6900 = 103x

3x=6900
x=2300

43. (C)

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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(D) Let the obtained number in geography = x



Mother's Previous Year Questions Booklet = Percentage

CDS : 2021-II to 2022-I

Direction : Consider the following data for the two
(02) items that follow:

The expenditure (in lakhs of rupees) of a
company for the years 2011 to 2017 is as under :

fim: s ot a el <1 (02) g % oy, fafeten tiewe
2 =R i

ot Bt =1 o | % forg = (ot == | ) e gy e
STTIRE:

4.

How much amount will be increased on A if the
total budget is increased by three times?

Tfg et st W1 T4 AT I <, a1 A R et uf =t
Tl = A ?

(A) T360.48 Lakhs
(C) T 240.32 Lakhs

(B) ¥ 300.36 Lakhs
(D) T 180.40 Lakhs

Direction : Consider the following for the four {04)
items that follow:

Year/T¥ |Expenditure/®Rrl
2011 13.3
2012 15.4
2013 10.4
2014 13.1
2015 15.3
2016 17.2
2017 19.4

How many times the increase in expenditure
in a year exceeded by more than 15% as com-
pared to previous yvear?

Tt = H = A gy PRt A e ad = g d 15%
T STfer et ?

(A) 2 (B) 3

(C) 4 (D) 5

In which year, the percentage increase in ex-
penditure is maximum as compared to its pre-
vious year?

e =i H =@ # widem gfs 39% Tod a9 =t gan A

S.

500 candidates appeared in an examination com-
prising tests in English, Hindi and Mathematics.
30 candidates failed in English only; 75 failed in
Hindi only; 50 failed in Mathematics only; 15 failed
in both English and Hindi; 17 failed in both Math-
ematics and English; 5 failed in all three tests.
T : 31T 3779 =6 A (04) W19l < foau, Fmfaftaa «
[EEREIIELE
ot wien o, fores stast, Tt 3R it =1 e wfie 2,
500 sreeft e g1 30 7ol Swaet TS § 7 gy,
75 &<t § et g 50 FEe Iivm H SR g; 15 St
e fiet 21 ergeid g 17 fimet s S # st
T 17 7o ST stiisht 9 § s gu; 5 g diq wiepa §
T B |
What is the percentage of candidates who failed
in at least two subjects?
FH-U-FH T faual # STt g9 A st o=
wfcreraer & ?
(A)5.4%  (B)6.4% (C)6.8% (D)7.8%
What is the percentage of candidates who failed
in only one subject?

HAlFIH T3 7
(A) 2012 (B) 2014
(C) 2015 (D) 2017

Direction : Consider the following for the two (02)
items that follow:

The budget allocations represented in a pie dia-
gram under five different heads A, B, C, D and E
are respectively 40%, 18%, 9%, 25% and 8%. The
total budget allocation is ¥ 300.4 lakhs.

e &1t s = (02) v % faw, Fefafas = ffEm
Al \

FarE | e fafiE sl A, B, €, D 3R E ° ffm ss:
fafem s 40%, 18%, 9%, 25% 3R 8% & | 5 a5
fafrem ¥ 300.4 e # 1

3.

together as compared to B, D and E together?

A 3 B =i Themax fafeme =t w8 ufy, B, D iRE =

ToremerT fafsar =it 7% wr i gern H et w2
(A) T 3.004 Lakhs (B) T 4.005 Lakhs
(€) T 6.008 Lakhs (D) T8.010 Lakhs

How much less amount is allocated to A and C

“heel Ueh Torwe H STRiml 2 et sttt =nf s afaeaa
g2

(A) 28% (B)31%  (C)35.8% (D)7.8%
What is the percentage of candidates who failed
in at least one subject?

TA-H-F0 TF TG0 § o1 20 o STt % #=
o € 2

(A) 31% (B)35.4% (C)38.8% (D)41.5%
How many candidates passed in two or more
subjects?

T o=t < o stferr Tt # =il gu ?

(A) 461 (B) 405 (C)345 (D)306

If Pvaries directly as g and inversely as square
of r, what is the percentage increase in p due
to an increase in ¢ by 20% and a decrease in r
by 20%: 7 (CDS-2021-11)
AT p, ¢ 2 STIFATIRT & &R 1 % =71 3 SRt §,
qﬁ 20% Taﬂ?@‘eﬁel 3ﬁ1rﬁ20"<1 mzﬁ%Wpﬁﬁﬂﬁ

(A)87.5%  (B)85%  (C)82.5% (D)80%
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Solﬁtion

15 % as compared to previous
2011-2012 = 13.8

1.6
) x100 =11.69
154:>138 11.6 %

2012-2013 = 154

) x 100 =-32.46%
104 = 154 32.46%
2013-2014 = 104
2.7
13.1 = 0.4 x 100 = 25,96%
2014-2015 = 13.1
2.
100= 0(]
158 = 13 1>< 20.61
2015-2016 = 15.8
1.4

—_x100 =g8.86°
17.2 > =2 8.86%

2016 -2017 = 17.2

2.2

7 w100 = o,
194 = 17 2 12.79%

2 time increase more than 15% as compared
to perivious year.

The percentage increase in expenditure is
maximum as compared to its previous year.

13.8

20125154 - 13.8= x 100 =11.6%

2.7
2014 - 13.1 - 104= EXIOO = 25.96%

2
2015 —-13.1 > 158> 13

1 %100 =20.61%

2.2
2017 =172 - 194 = 170 X100 =12.79%

In 2014 percentage increase in expenditure
is maximum as compared to its previous vear.

The budget allocation represented in a pie
diagram under five different heads.

A B C D E
40% 18% Po  25% 8%
Total budget allocation is = 300.4 lakh
Amount is allocated to A and C

A, 200440 120.16 lakh
300.4 %9

— T = 27.036 lakh

g, 200-4x18 54.072lakh

300.4 <25

D— 100 = 75.10 lakh
300.4x8

E— T = 24.032 lakh

(B+D+E)-(A+e¢)
(54.072+75.10+ 24.032) - (120.16 + 27.036)
(153.204) -(147.196) = 6.008 lakh
Total budget is increase by three time.
3% 300.4 = 901.2 lakh

_ 901.2x 40

100
The percentate od can-
didates failed in at least

=360.48 lakh
two subject = 10+ 12+
12+5

p@ -

39x100 <P

I S 8% Q
500

The percentage of can- M

didates failed in only
one subject.

155
+75 + = =22 %100 =319
30 +75+500 = o 31%

The percentage of candidates failed in at least
one subject
30+75+50+10+12+12+5

194

—x100 = B°
500 38.8%

Candidates passed in two or more subjects
=30+75+50+10+12+12+5=194

= 500- 194 = 306
roag p=kyg
1 k,
0 — = —
P 2 1Y 2
Case -1
Pag

If g increases 20%
then p increase 20%
Case - 11

If rdecrease 20%
25— 16

1 1
P25 16
. 225
pincreases — —,— = 56.25
resulted increment in P = 20 + 56.25 +
20 x 56.25

= <
100 87.50%
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CDS - 2010 to 2021-I

X sells his goods 25% cheaper than Y and 25%
dearer than Z. How much percentage is Z's
goods cheaperthanY ?

X S GHA Y ki Gor ° 25% FE1 9= § 3T Z &k
e H 25% WET | Z W EWME, Y Fger § R e

TS ? {CDS-2021)
100
(&) 5% (B) 40%
200
(C) 50% (D) 5%

The number of items in a booklet is N. In the
first vear there is an increase of x% in this
number and in the subsequent year there is a
decrease of x%. At the end of the two years,
what will be the number of items in the book-
let?
T it H awgetl i wen N € | Tt o # 5w wen o
X% i 915 g8 & AR A % 79 H X% FI HHI AE £ | <A
F &0 W, g ° oegell F T F e 2
(CDS 2020(II))
(A) Less than N
(B) Equalto N
(C) More then N
(D) [t depends on the value of N
The length of a rectangle is increased by 10%
and breadth is decreased by 10%. Then the
area of the new rectangle is.
T T8 i omg 10% 98 et § o =g 10% 7%
% g1 STt # | R T2 ST o @sE o g
(CDS 2020(I1))
(A) neither increased nor decreased
= TG ST 7w
(B) increased by 1%/ 1% #i gfg
(C) decreased by 1 %/ 1% =t &t
(D) decreased by 10%/ 10% %! &+
The price of an article X increases hy 20% ev-
ery year and price of article Y increases by 10%
every vear. In the year 2010, the price of ar-
ticle X was Rs.5000 and price of article ¥ was

Rs.2000. In which yvear the difference in their
prices exceeded Rs.5000 for the first time?

T 5 X ¥ A e W 20% 9 9 S TR o Y H
TG WA 10% 98 9T &1 94 2010 #, 35g X =Hi
HHT 5000 T ot 3R % Y H FHa 2000 TR o)
fore = <01 AiHal | STt vgell 91 Rs. 5000 ¥ S 7

T ? (CDS 2020)
(A) 2012 (B) 2013
(C) 2014 (D) 2015

If the annual income of X is 20% more than
that of Y, then the income ofY is less than that
of X by p%. What is the value of p?

T X T oIE ST Y A gerT H 20% STUE S, WY =i
&Ta X FHge A p% FHE | p FAR FME 7
(CDS 2020)

(A) 10 (B) 16% (9] 17% (D) 20

In an examination, 52% candidates failed in
English and 42% failed in Mathematics. If 17%
failed in both the subjects, then what percent
passed in both the subjects?

T T H, 52% itenst s # e gu o 42% T
ﬁﬁﬂ@|qﬁf 17"0@"17‘?[%1'@13%@ ?ﬁa:ﬁﬁw'ﬁ
forat witem et T gu-  (CDS 2019)

(A) 77 (B) 58

(C) 48 (D) 23

In a rectangle, length is three times its
breadth. If the length and the breadth of the
rectangle are increased by 30% and 10% re-
spectively, then its perimeter increases by?
U 3T H, TS Sk STgs i diF 71 8 | 9fs 377 i
o 3 wieR hEE: 30% 3R 10% Sgl <f 9,
TEER ORETT TR O S (CDS 2019)

40

3

(A) —%  (B)20% (C)25%  (D)27%

What is the percentage decrease in the area of
a triangle if its each side is halved?

ity Tl 51991 =1 Wi SJotl =1 SA7en = T sy, i 59

dre A P v R @ ol (CDS 2019)
{A) 75% (B) 30%
(C) 25% (D) No change
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10.

11.

12.

13.

The volume of a spherical balloon is increased
by 700%. What is the percentage increase in
its surface area?

T TR 1= 1 399 700% =g famn < § | 599

Tt de | Hiave gis fear €2 (CDS 2019)
(A) 300% (B) 400%
(C) 450% (D) 500%

%, ¥y and z are three numbers such that x is
30% of z and v is 40% of z. If x is p% of v, then
what is the value of p? (CDS 2019)

T x, v iRz T TR E PR x, z W 30% & &Ry,
ZFA0% T 19E X, y R pY% ¥, T pHIAF FNE ?

(A) 45 (B) 55

{C) 65 (D) 75

The train fare and bus fare between two sta-
tions is in the ratio 3 : 4. If the train fare in-
creases by 20% and bus fare increases by 30%,
then what is the ratio between revised train
fare and revised bus fare?

T Y A e T e s mm e e 3 4 %
STTE H § | #fe Yot = e 20% ug W € s Ay
1 T 30% w5 Wt €, o et i o ¥ weihm

forrat =1 st # % 27 (CDS 2019)
a2 B 17 32 19
A 13 ) 12 43 ) 21

In an examination, 50% of the candidates failed
in English, 40% failed in Hindi and 15% failed
in both the subjects. The percentage of candi-
dates who passed in both English and Hindi is
T I H, 50%, SEEEN SiUsT § S/ EeT 7, 40%, fEl
# 31X 15% S famel + srere @ | Sl 3R fawdi o

I SHiCAR M URTE 1 (CDS 2018)
(A) 20% (B) 25%
(C) 60% (D) 75%

If a% of a + h% of b = 2% of ab, then what per-
cent of ais b?

=fg a %l a% + b & b% = ab 1 2%, %, a1 b, a & a1
witrom € ? (CDS 2017)
(A) 50%

(B) 75%
(C) 100%
(D) Cannot he determined

14.

15.

16.

17.

gth part of the population in a village are

males. If 30% of the males are married, the
percentage of unmarried females in the total

population is (CDS 2017)
_— 5 . 5 P
e H SR 5 T IR § 19 30% e fHetea €,

T Tt WeEE § et wieeneti = e © 2

2 7
(a) 207 (B) 275
7 2
(© 255 (D) 29

If each of the dimensions of a rectangle is in-
creased by 200%, the area is increased by

IfE a1 % T® HH § 200% ® 915 35 &, a1 4%

qgfgge 1 (CDS 2017)
(A) 300% (B) 400%
(C) 600% (D) 800%

The radius of a circle in increased so that its
circumference increases by 15%. The area of
the circle will increase by

T T 1t e 915 STt &, 10 T TRy 15% W S |

TTF gAFAH S EO-  (CDS 2017)
(A) 31.25% (B) 32.25%
(C) 33.25% (D) 34%

A candidate scoring x% marks in an examina-
tion and fails by a mark, while another candi-
date who scores v%6 marks gets b marks more
than the minimum required pass marks. What
was the maximum marks for the examination?
ek SHHIGER Wb TE § X% 3ok W &dl & 3 a 3fh 9
FHFA gl A ¥, ek gHU SHHITER S y% %

RIA1 &, I g STETEk ST 31h1 A b 31feek 3k 7
2 ¥ | ulveq = foru arfeeray afm @ 9 7

(CDS 2016(II))
100(a + b) 100(a - b)
By B iy
100(a + b) 100(a - b)
© Y x D) =5
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18.

19.

20.

21.

The expenditure of a household for a certain
month is T 20000, out of which T 8000 is spent
one education, ¥ 5900 on food, T 2800 on shop-
ping and the rest on personal care. What per-
centage of expenditure is spent on personal

care ?

Tk R TRt o 5= =61 =92 € 20000 ¥, foad 9 faan
7 8000 T T T 5900 TG T T 2800 3 I =afaa
TS W= gU E | Hel =99 T wfaer o st

TG TGS E ? (CDS 2016(I))
(A) 12% (B) 16.5%
(C) 18% (D) 21.8%

The salary of a person is increased by 10% of
his original salary. But he received the same
amount even after increment. What is the per-

centage of his salary he did not receive ?
T SATe 2 S | e 309 A 10% Ihg T D, T

ST 3 PR Wit i v et 5E 2
(CDS 2016(1))
(A) 11% (B) 10%
o) 2o D) 2> o
© 7 % (D) 77 %

A milman claims to sell milk at its cost price
only. Still he is making a profit of 20%, since
he has mixed some amount of water in the
milk. What is the percentage of milk in the
mixture ?

T T TR = I TG Hed W AEA S A E |
Sl aa ot 3/ 20% 1 A1 W ga1 € i I gy o
T T A e € ) faem | gu %t vl frae

g7 (CDS 2015(11))
200
& 5% (B) 75%
250
(C) 80% (D) =%

20% of a number when added to 20 becomes
the number itself then the number is.

A% Tt T % 20% i 20 H Wied W @E 99t wel a1

S, T o Hem = E 2 (CDS 2015(I1))
(A) 20 (B) 25
(C) 50 (D) 80

22,

23.

24,

25.

26.

A' salary was increased by 40% and then de-
creased by 20%. On the whole, A's salary is in-
creased by.

A R AT 40% G T SR R 20% e T | el FHereRR

A 1 37 fapa g 2 (CDS 2015(II))
(A) 60% (B) 40%
(C) 20% (D) 12%

A person could save 10% of his income. But 2
yr later, when his income increased by 20%,
he could save the same amount only as hefore.
By how much percentage has his expenditure

(CDS 2015(I))
TF = ST 3T F 10% it 999 FIa &, g 2 99 91g
6 TET 317 20% 9g T8, 4 At A8 ved ot € atw
TFA T | T = R Wi 5% T 8 2

increased?

)22 29 B) 23~
(A) 225 % (B)23 ;%

2 2
] 0
(€245 % (D) 255 %

[ m% of m + n% of n = 2% of (m x n] then what
percentage of misn ?

e mF m% +n Fn% = (m x n) F2%F, 1 n,
m w1 e e € 7 (CDS 2014(11))
(A) 50% (B) 75%

(C) 100%

(D) Cannot be determined /3@ =&l = <1 W=
On a 20% discount sale an article costs T 5396,
What was the original price of the article ?
=(fe 20% i W § foreka W forelt or%g &1 oI T 596 §, A1 =9
=% i 9@ i e ot 7 (CDS 2014I))

(A)T 720 (B)T 735

(C)T745 (DY 775

A water pipe is cut into two pieces. The longer

piece is 70% of the length of the pipe . By how
much percentage is the longer piece longer

than the shorter piece ?
U= 5@ AT S S H I A | oG ST, Aot
I T A 70% T | 5 ZRS B THRS § fope e

qE 7 (CDS 2014(1))
400
(A) 140% (B) — %
]
(C) 40% (D) None
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27.

28.

29.

30.

31.

A person sold an article from ¥ 3600 and got a
profit of 20%. Had he sold the article for ¥ 3150.
how much profit would he have got ?

T A ¥ U g T 3600 H 9= 27 2096 =6 0 00 | 41
T T o T 3150 H o g A1 39 e Wi e

gra? (CDS 2013(IT)
(A) 4% (B) 5%
(C) 6% (D) 10%

A person's salary has increased from ¥ 7200 to
T 8100. What is the percentage increase in his

salary 7

Tt TF A F a9 T 7200 T TEAL T $100 B TN A9
IS oA H FRAR wfawa %1 3fs 5% 7 (CDS 2013(11))
(A) 25% (B) 18%

2 1
(C] 16:00 (D) 12 —%
3 2

X, Y and Z had taken a dinner together. The

cost of the meal of Z was 209 more than that of
5

Y and the cost of the meal of X was 6 as much

as the cost of the meal of Z. [fY paid T 100, then
what was the total amount that all the three of

them had paid ?
X, Y 3R Z A 19 % U Gie R Z % iee = ava
Y F e = orE 9 20% T e X F em A=

Y n 5 . -
AN Z 3 ST Bl AT 7l A 219 Y 7T 100 JRA

ToFm, i A % g0 TR T oA Fe WA A E 2
(CDS 2013(1))

(A) % 285 (B) 2320

(C) T355 (D) % 330

Whatis 5% of 500 ?

500 7 50% % 5% FTE ? (CDS 2012(11))
(A)12.5 (B) 25
(C) 1.25 (D) 6.25

The price of an article is T 25. After two suc-
cessive cuts by the same percentage the price
becomes T 20.25. If each time the cut was x%

them.

32.

33.

34.

35.

36.

T 9% F FTG T 25 § | WA Aiawwar i 9 S
kTl % =T hiFd T 20.25 1 Sl § | 97E Teioh aR Fid!

X% off T X T AH TG HISTL | (CDS 2012(I1))
(Ayx=9 (Byx=10
C)x=11 (D)x=11.5

A man losses 20% of his money. After spend-
ing 25% of the remainder, he T 480 left. What
is the amount of money he originally had ?

TE TR SO TET W 20% W RATE | 9T gET W 25% TH
HET F A SHF TE T 480 99 W & | Hord: SHHR TE

ot gz wfw off 2 (CDS 2012(1))
(A) 2600 (B) T 720
(C) T 800 (D) T 840

An employee is required to contribute 10% of
his pay to General Provident Fund. If he gets T
13500 as net pay in a month, then what is the
monthly General Provident Fund contribution

(assuming no other deductions) ?

Tk A= 71 3T < =R 10% T Jfesaf iy § sizmm
I BT E | Jie W A H =99 Fae 9dd T 13500 &, a7
Y (Fe AR g T F oi wde et ¥) v witreataty
H oy mifee AveH FFi g ¥ 7 (CDS 2011(1))
(A)T 1215 (B) T 1350

(C) % 1500 (D)% 1650

What is the number whose 20% is 30% of 40 ?
qE T TN E, TR 20%, 40 7 30% ¥ 2 (CDS 201 1(1)
(A) 90 (B) 80

(C)60 (D) 50

The income of ‘A’ is 20% higher than the of ‘B'.
The income of 'B'is 25% less than of 'C'. What
per cent less is A's income from C's income ?

A T STEEAT B W STHEAT § 20% o7fhm € | B W ST,

C =1 SAHEAT | 25% 9 € | A %l SA=EAl, C i SAm=e d

T whvm 2 (CDS 2011(1)
(A) 7% (B) 8%
(©) 10% (D) 12.5%

To pass examination a candidate needs 40%
marks. All questions carry equal marks. A can-
didate just passed by getting 10 answers cor-
rect by attempting 15 of the total questions. How

many questions are there in the examination?
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et sremeff &1 W wET T W W AT 40% s @ | 39 Ifsalary of Xis 20% more than salary of Y, then
S | T T 3 s #1908 1ol E}: hf;w')much percentage is salary of Y less
an X :
15 T A R 10 FEl I A i X AT Y A 20% orfer # A1 Y e X
(A) 25 (B) 30 (A) 25% (B) 20%
(C) 4D (D) 45 50 65
9 Q) ?% (D) T%
37. What contains 14 = % of hydrogen and the rest

i . 7 i 40. A person spends 30% of monthly salary on rent
is oxygen. In 350 g of water oxygen will be. 25% onfood, 20% on children's education and

2 . oL 12% on electricity and the balance of T 1040
THH 14 ?% SISO S W9 SATFefom et € | 350 T on the remaining items. What is the monthly
PR - R salary of the person ?

# Fat rfertor € (CDS 2011(1) T SATE W AT 6 30% RET TR 25% e T 20%
(A) 300 gm (B) 250 gm Tl i e R 129 fasTelt o ao1 9 2 1040 9T w6l W
(€) 200 gm (D) None of these &= o ¥ | AR o HIfEs A = E 7 (CDS 2010(11)

38. 38 L of milk was poured into a tub and the tub {A) T 8000 (B) 9000
was found to be 5% empty. To completely fill (C) T9600 (D) T 10600
the tub, What amount of additional milk must | 41, [f50% of (x - y) = 40% of (x + y) then what per
he poured ? (CDS 2011(1I)) centofxisy ?
38 T G Wk 2ol | SIell AT SR 2o 5% Wi @1 | Zel 5 T (x - y) T 50%. (x +y) F40% FARE, Ty, x
U A 3 foa e aii gy e =ifey 2 1 fefl e ¥ 2 (CDS 2010(1))
(A) 1 liter (B) 2 liter AlOlcy BIII‘V C131°/D211‘V
(C) 3 liter (D) 4 liter . W 10g% (B 11g% (O 135%([D)215%
Solution
1. (B) LetS.P.ofx= 100 3. (©1->10 : 11
th —IOOxi——4OO B%%O: 39
“B 3 3
4 decreased by = *x100= 1%
and z= 100 x = = 80 100
4. (B) ATQ,
400 80 160 120 110
y —Z= — 7 - = 3 { 1 = _ _
3 3 Diff. in 2011 = 5000 x T ~ 2000 x T
=3 3800 < 5000
%o = _160_, 100 =40%
3X400 Diff. in 2012 = 6000 x 129 2200 x 119
3 o 100 ~ <77 100
2. (A Let =¥ 4780 < 5000
}Ij—=210?3/? Diff. in 2013 = 7200 x 129 2420 x 119
° A EEES 100 ~ <777 100
100 —=— 120 —=— 96 =3 5978 > 5000
Less than N. So, option (B) is right anwer.
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5. (B) LetIncome ofy =% 100

So, Income of x =T 120

So. %P = —2 « 100 = 16 2%
0, 7= 990 -3

6. (D) Total Yo faill =52 +42 - 17 = 77%

So, total % pass = 100% - 77% = 23%

Lenght Breadth Perimeter
Initial 30 10 80
Final 39 11 100

7. (C)

20
% Increase = 80 % 100 = 25%

8. (A) Yd - 50+50- 20X20 _ gy
. (A) %decrease = - TToo o
o, (A] Initial Final
Volume 1 8
Radius {/I 3/5
= 1 : 2
Area (2 : 20
= 1: 4
%Increase = 1_ x 100 = 300%
10. (D) ATQ,
Let z = 100
S0, x = 30
and y = 40
30
so, PY% Pl = _O' x 100 =75%
11. (A) ATEQ,
Rail Bus
Initial 3 4
Final 36 : 5.2
So, required ratio
= 36 : 52
= 9 : 13
12. (B] Total %% fail = 50+ 40 - 15 = 75%
SO, total pass"o = 100% — 75% = 25%
13.(C) ATQ,
a’ b* 2ab b a
+ = = —+==2
100 100 100 a b

so,a=b=1

14,

15.

16.

17.

18.

19,

B)

(D)

(B)

(€)

(B)

(€)

1
=%ofaish= 1" 100 =100%

ATQ,
men =25
women = 4
married men = married woemen

5 30 1.5
= ¥ — =
100 ’

Unmarrie women=4-1.5=2.5

2.5 7
% Required = 5 X 100 = 275%

200+ 200
Y%lncrease =200+ 200+ ————— = 800%
100
Y%lncrease in perimetre = % increase in
radius = 15%
So, Ylncrease in Area
15x15
=15+ 15+ = 32.25%

100
Pass marks=x% +a=y%—-h
=>¥-x%={a+h)

o a+b

SO, 1% = (Y_X)
100(a+b)
= Total marks (100%) = ﬁ

Total expenditure =¥ 20000
Now, expenditure spent on personal care
= 20000 - [5900 + 8000 + 2800] =% 3300
Total percentage of expenditure

3300

= 20000

* 100% = 16.5%

Let the original salary be x.

‘ @] 11x
Then increased salary = 100 %~ ?E
- Amount of salary in percentage

( y )

10

- x100% X o o
—(117{} = {1 (100% = =%

10

ﬁ
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20. (D) Letthe costof ]l L milk be¥x. N dit — Initial dit
Since he get profit of 20% on 1 L of milk CW expen 1 1_.1re m 1_ expenrnre 100%,
- Selling price of 1 L milk = x +20% of x = Initial expenditure
120x 11x 9x
100 T
o ‘ =10 10 1009 = 2900, 0020,
Percenatage of milk in the mixture 9x 9 9
10
X 100 250
~120x 100% = 120 x100% = % 24. (C) - m% ofm+ n% ofn =2% of (m x nj
100 m n 2
21. (B) Letnumber be x. ~ 100 g m+100 "7 00 (rmn)
20 2 2
Then 20 + — x=x m- n° _2mn 2 42 =
100 = 100" 100 100 M TmT2mn
[1 20] 80 > m*+n*-2mn=0=>(m-n)*=0 =>m-
=X|*"Too =20:>X'ﬁ=20::>x=25 n=0
. Since hoth are equal so 100% of m is n.
22. (D) Let A's salary be T x. 25. (C) Let the original price be x.
40 20 Since at discount of 20% article costs ¥ 596.
We have x 1+ﬁ “loo)= X
Th 596 80 596 x 100
en = — xx= x= —————=
14 xé— 119x 100 80
1010 100 745
Original price = T 745
. 112x 12x | |
Increase in A' salary = 100 ~ X = 100 26. (B) | i
j¢—703—pla—709—»]
* Percentage increases in A's salary =
70-3
19x ~. Required percentage = S x100% =
100 0/ = )
T *x100% =12% 40 100 400 y
% ) = o
30 3
23. (A) Let the original income be  x 27. (B) Let the cost price of the article be T x.
- Saving income (s,) = x x 100 =% — 20x 20x
£ 5. 10 Now x + ———= 3600 = ——=3600
. ) x ox 100 100
Initial expenditure =x — 10 = ?B . x=3000
2 yr later, when has income increased by Now profit percentage when the article is
0% sold for T 3150
19x _ 3150 - 3000 _ 150 e
Then new income = x x 120% = H - 3000 x100= 3000 <100 = 5%
28. (D) Percentage increase in salary =
and saving income (s,) =3 _—
‘ 10 8100 — 7200
.~ New expenditure = New income — Sav- — %100
7200
. . 12x x - 11x
ing income = ———=F— 900 1
10 1o 19 = o0 ¥100=12.5% =12 %
Required percentage 200 2
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29.

30.
31.

32.

33.

34.

(D) Given that the cost of meal of Y =% 100
Now by condition cost of meal of Z = 20%
more than of Y

20
- |100+=2x100 |2 -
[ *700 % J (100 +20) = T 120

5
and the cost of the meal X = 6 as much as

the cost of the meal of

5
zZ= gx 120=% 100

. Total amount that all the three of them
has paid
= T{100+ 120+ 100)= T320

5 5
5% of 50% of 500 = ——x——x 500=12.5

@) 100 100
{B] According to the question
100-x [100—){)
25 x < T 20.25
202500
= (100 -x)2= Tz}»(l()()—x]2= 8100
= 100-x= 90
~ x=10
(C) Let man has originally  x.
After 20% loss =~ - 2%
er 20% loss = — -0 10
Aft dine 25% 8x ¥5 8x 3
o O = — X——=—X—
PG 10 100 10 4
8x 3
According to the question = % o =480
= 8xx3=480x4x 10
) —480X4X10—?800
C 8x3
(C) Let the net pay of an employee be T x.
Aft tributing 10% = ><90—9—X
er contributing °=X* 755 10
9x 13500 x10
Now —=13500>x = ——— = 15000
10 9
'+ General provident fund = 10% of basic pay
_ 10 x15000 _ % 1500
100
(C) Let the number be x
By given condition 20% of x = 30% of 40
~ XxXxX20 _ 40x30 _40><30_6O
"T100 100 20

35.

36.

37.

38.

39.

41.

(C) According to the question

A [ 20%) B
1200 1
B [—25% C
TS 1008
B
S

6
B C
3
B

oy

4
v ratio equalisation A:B:C=6x3:5x 3
4 x5=18: 15:20

2018 100 = 2 %100 = 10%
= b4 = — % =
20 20 ©

(A) Let the number of questions in examina-
tion be x.

x X 40 1000 _
100 40
(A) Percentage of oxygen in water
2 5
=100 - 14?= 85 ?%
Percentage of water in 350 g of water

600 350

5
=85?(V(>0f350 = 7X100 =300¢g

By Amount of milkin tub=38L
95% of total milk=38L 3g
Percentage of total milk = — L

38x100° "5 _
95 100

= =10=>x=

5% of total milk = 2L

[ C] X [ETeC ] Y

1210 L

Y less than X = 120 - 100 = 20

50

O
%Less = 120 x100 = 3

(A) Let the monthly salary of the person be Tx.
By given condition

(100-30-25-20-12)x x

= 1040
100
1040 x 100
=xX= 13 8000
W2
Hence monthly of the person is ¥ 8000,
(B) Given

S0% of (x-y)=40% of (x + ¥)
0 =20 ks
= bx-5y=4x+4y
= X TV o, (i)
Letr?% ofx =y

T
=4 mXx—y
r —
= Too V=Y
p= 19041
9 9

[from Eq. (1)]

ﬁ
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